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(4) Am{W©H$ Am{U gm‘m{OH$ {dH$mg
9) bmoH$g§»`m - g§»¶mË‘H$ Am{U JwUmË‘H$ d¡{eîQ>ço
10) bmoH$g§»`m MH«$, bmoH$g§»`m YmoaU
11) Am{W©H$ Am{U {dÎmr` YmoaU - gmd©O{ZH$ {dÎm, ‘hgyb, F$U,$ IM©, AW©g§H$ën, boIm

d boImnarjU
12) ^maVmMm {dXoer ì`mnma - AmH$ma‘mZ, {Xem Am{U aMZm, Am§Vaamḯ>r` ^m§S>db
13) ~±qH$J- MbZ nwadR>m, H«o${S>Q> Am{U ‘m°{ZQ>ar nm°{bgr
14) ^maVr` CÚmoJ, nm`m ŷV gw{dYm Am{U godm joÌ
15) H¥$fr Am{U J«m‘rU {dH$mg - ghH$ma joÌ
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‘hmamîQ́> bmoH$godm Am¶moJmÀ¶m narjogmR>r Cn¶wº$ àíZg§J«h

(4) Am{W©H$ Am{U gm‘m{OH$ {dH$mg (15)
1) emídV {dH$mg (2)
2) J[a~r (2)
3) gd©g‘mdoeH$Vm (2)
4) bmoH$g§»`memó (2)
5) gm‘m{OH$ joÌmVrb CnH«$‘ (2)
6) ^maVr` AW©ì`dñWm - gmd©O{ZH$ {dÎm (1)
7) {dXoer ì`mnma (1)
8) ~±qH$J, ‘hmJmB© (1)
9) CÚmoJ (1)
10) eoVr (1)

1) dmT> Am{U {dH$mg - joÌr` dmT>, EgS>rOr, n§Mdm{f©H$ ¶moOZm d {dH$mg H$m¶©H«$‘
2) ^maVr¶ AW©ì¶dñWoMr AmìhmZo d Am{W©H$ gwYmaUm - amï´>r` CËnÞ - OrìhrE, OrS>rnr
3) J[a~rMr g§H$ënZm, ‘moO‘mn Am{U A§XmO, J[a~r {Z‘y©bZ H$m ©̀H«$‘
4) ~oH$mar - H$maUo, ñdén, àH$ma, amoOJma {Z{‘©Vr H$m ©̀H«$‘
5) {d{dY d§{MV JQ>m§À`m g§X^m©V gd©g‘mdoeH$Vm d gm‘m{OH$ gwajm
6) {dH$mg H$m ©̀H«$‘ - ‘{hbm, ‘wbo, ¶wdH , àH$ën~m{YV, `m§À`m g§X^m©V
7) {ejU, Amamo½`, H¥$fr, J¥h{Z‘m©U joÌmMm {dH$mg
8) ‘hmJmB© - H$maUo, n[aUm‘, {Z §̀ÌU, Cnm`. ‘°H«$mo BH$m°Zm°{‘Šg / g‘J«bjr AW©emó
9) bmoH$g§»`m - g§»¶mË‘H$ Am{U JwUmË‘H$ d¡{eîQ>ço
10) bmoH$g§»`m MH«$, bmoH$g§»`m YmoaU
11) Am{W©H$ Am{U {dÎmr` YmoaU - H$a, {~Ja H$a, ^m§S>dbr ‘hgyb, gmd©O{ZH$ {dÎm Am{U {dÎmr` g§ñWm,AW©g§H$ën,

gmd©O{ZH$ IM©, boIm Am{U boImnarjU
12) ^maVmMm {dXoer ì`mnma - AmH$ma‘mZ, {Xem Am{U aMZm , Am§Vaamï´>r` AW©emó Am{U Am§Vaamï´>r` ^m§S>db Midi
13) ~±qH$J - MbZ nwadR>m, H«o${S>Q> Am{U ‘m°{ZQ>ar nm°{bgr
14) ^maVr` CÚmoJ, nm`m ŷV gw{dYm Am{U godm joÌ
15) H¥$fr Am{U J«m‘rU {dH$mg - ghH$ma joÌ

1) emídV {dH$mg (2)

46) dmT> Am{U {dH$mg - joÌr` dmT>, EgS>rOr, n§Mdm{f©H$ ¶moOZm d {dH$mg H$m¶©H«$‘
47) ^maVr¶ AW©ì¶dñWoMr AmìhmZo d Am{W©H$ gwYmaUm - amï´>r` CËnÞ - OrìhrE, OrS>rnr

2) J[a~r (2)

48) J[a~rMr g§H$ënZm, ‘moO‘mn Am{U A§XmO, J[a~r {Z‘y©bZ H$m ©̀H«$‘
49) ~oH$mar - H$maUo, ñdén, àH$ma, amoOJma {Z{‘©Vr H$m ©̀H«$‘
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3) gd©g‘mdoeH$Vm (2)

50) {d{dY d§{MV JQ>m§À`m g§X^m©V gd©g‘mdoeH$Vm d gm‘m{OH$ gwajm
51) {dH$mg H$m ©̀H«$‘ - ‘{hbm, ‘wbo, ¶wdH , àH$ën~m{YV, `m§À`m g§X^m©V

4) gm‘m{OH$ joÌmVrb CnH«$‘ (2)

52) {ejU, Amamo½`, H¥$fr, J¥h{Z‘m©U joÌmMm {dH$mg
53) ‘hmJmB© - H$maUo, n[aUm‘, {Z §̀ÌU, Cnm`. ‘°H«$mo BH$m°Zm°{‘Šg / g‘J«bjr AW©emó

5) bmoH$g§»`memó (2)

54) bmoH$g§»`m - g§»¶mË‘H$ Am{U JwUmË‘H$ d¡{eîQ>ço
55) bmoH$g§»`m MH«$, bmoH$g§»`m YmoaU

6) ^maVr` AW©ì`dñWm - gmd©O{ZH$ {dÎm (1)

56) Am{W©H$ Am{U {dÎmr` YmoaU - H$a, {~Ja H$a, ^m§S>dbr ‘hgyb
gmd©O{ZH$ {dÎm Am{U {dÎmr` g§ñWm
amï´>r` CËnÞ - OrìhrE, OrS>rnr
AW©g§H$ën
gmd©O{ZH$ IM©
boIm Am{U boImnarjU

7) {dXoer ì`mnma (1)

57) Am§Vaamï´>r` AW©emó Am{U Am§Vaamï´>r` ^m§S>db Midi
^maVmMm {dXoer ì`mnma - AmH$ma‘mZ, {Xem Am{U aMZm

8) ~±qH$J, ‘hmJmB© (1)

58) ~±qH$J- MbZ nwadR>m, H«o${S>Q> Am{U ‘m°{ZQ>ar nm°{bgr

9) CÚmoJ (1)

59) ^maVr` CÚmoJ, nm`m ŷV gw{dYm Am{U godm joÌ

10) eoVr (1)

60) H¥$fr Am{U J«m‘rU {dH$mg - ghH$ma joÌ
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Am{W©H$ Am{U gm‘m{OH$ {dH$mgda àíZ AgUmè¶m ‘hmamḯ> bmoH$godm
Am¶moJmÀ¶m narjm

1) amÁ¶godm nyd©narjm nona -1, OmZodmar 2022
2) amÁ¶godm nyd©narjm nona -1, OmZodmar 2022
3) JQ> -~ g§¶wº$ nyd©narjm, ’o$~«wdmar 2022
4) {d^mJr¶ EEgAmo narjm nona -1, ‘mM© 2022
5) {d^mJr¶ EEgAmo narjm nona -1, ‘mM© 2022
6) Oo‘E’$gr d {XdmUr Ý¶m¶mYre H${Zð> ñVa nyd© narjm, ‘mM© 2022
7) JQ> -H$ g§¶wº$ nyd©narjm, E{àb 2022
8) ImË¶m§VJ©V nmocrg Cn{ZarjH$ nyd©narjm, E{àb 2022
9) ‘hmamï´> amÁ¶ Vm§{ÌH$ nyd© narjm, E{àb 2022
10) amÁ¶godm gm_mÝ` AÜ``Z nona -1, ‘o 2022
11) amÁ¶godm gm_mÝ` AÜ``Z nona -2, ‘o 2022
12) amÁ¶godm gm_mÝ` AÜ``Z nona -3, ‘o 2022
13) amÁ¶godm gm_mÝ` AÜ``Z nona -4, ‘o 2022
14) amÁ¶ H$a {ZarjH$ ‘w»¶ narjm, Owb¡ 2022
15) ghm¶H$ H$j A{YH$mar ‘w»¶ narjm, Owb¡ 2022
16) JQ>-H$, ‘w»¶ narjm nona -1, Am°JñQ> 2022
17) {b{nH$ Q>§H$boIH ‘w»¶ narjm, Am°JñQ> 2022
18) Xþæ¶‘ {ZarjH$ ‘w»¶ narjm, Am°JñQ> 2022
19) amÁ¶godm nyd©narjm nona -1, Am°JñQ> 2022
20) amÁ¶godm nyd©narjm nona -2, Am°JñQ> 2022
21) H$a ghm¶H$ ‘w»¶ narjm, Am°JñQ> 2022
22) Vm§{ÌH$ ghm¶H$ ‘w»¶ narjm, gßQ>|~a 2022
23) CÚmoJ {ZarjH$ ‘w»¶ narjm, gßQ>|~a 2022
24) H¥$fr godm ‘w»¶ narjm nona -1, Am°³Q>mo~a 2022
25) H¥$fr godm ‘w»¶ narjm nona -2, Am°³Q>mo~a 2022
26) dZgodm ‘w»¶ narjm nona -1, Am°³Q>mo~a 2022
27) dZgodm ‘w»¶ narjm nona -2, Am°³Q>mo~a 2022
28) JQ> -~ g§¶wº$ nyd©narjm, Am°³Q>mo~a 2022
29) amÁ¶ H$a {ZarjH$ ‘w»¶ narjm, Am°³Q>mo~a 2022
30) ghm¶H$ H$j A{YH$mar ‘w»¶ narjm, Am°³Q>mo~a 2022
31) JQ>-H$ godm g§¶wº$ nyd©narjm, Zmoìho§~a 2022
32) A{gñQ>§Q> Q>mD$Z ßb°Za narjm, Zmoìh|~a 2022
33) d[að> g§emoYZ A{YH$mar narjm, {S>g|~a, 2022
34) àemgH$s¶ A{YH$mar narjm, {S>g|~a 2022
35) {d^mJr¶ EEgAmo narjm nona -1, {S>g|~a 2022
36) {d^mJr¶ EEgAmo narjm nona -2, {S>g|~a 2022
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37) ‘hmamï´> amÁ¶ Vm§{ÌH$ nyd©narjm, {S>g|~a 2022
38) newd¡ÚH$s¶ A{YH$mar narjm, {S>g|~a 2022

‘hmamḯ> bmoH$godm Am¶moJmÀ¶m narjm
1) amÁ¶godm nyd©narjm nona -1, OmZodmar 2022
2) amÁ¶godm nyd©narjm nona -1, OmZodmar 2022
3) JQ> -~ g§¶wº$ nyd©narjm, ’o$~«wdmar 2022
4) {d^mJr¶ EEgAmo narjm nona -1, ‘mM© 2022
5) {d^mJr¶ EEgAmo narjm nona -1, ‘mM© 2022
6) Oo‘E’$gr d {XdmUr Ý¶m¶mYre H${Zð> ñVa nyd© narjm, ‘mM© 2022
7) JQ> -H$ g§¶wº$ nyd©narjm, E{àb 2022
8) ImË¶m§VJ©V nmocrg Cn{ZarjH$ nyd©narjm, E{àb 2022
9) ‘hmamï´> amÁ¶ Vm§{ÌH$ nyd© narjm, E{àb 2022
10) amÁ¶godm gm_mÝ` AÜ``Z nona -1, ‘o 2022
11) amÁ¶godm gm_mÝ` AÜ``Z nona -2, ‘o 2022
12) amÁ¶godm gm_mÝ` AÜ``Z nona -3, ‘o 2022
13) amÁ¶godm gm_mÝ` AÜ``Z nona -4, ‘o 2022
14) JQ>-~, ‘w»¶ narjm nona -1, Owb¡ 2022
15) Oo‘E’$gr ‘w»¶ narjm nona-1, Owb¡ 2022
16) Oo‘E’$gr ‘w»¶ narjm nona-2, Owb¡ 2022
17) nmobrg Cn{ZarjH$ ‘w»¶ narjm, Owb¡ 2022
18) amÁ¶ H$a {ZarjH$ ‘w»¶ narjm, Owb¡ 2022
19) ImË¶m§VJ©V nmocrg Cn{ZarjH$ ‘w»¶ narjm, Owb¡ 2022
20) ghm¶H$ H$j A{YH$mar ‘w»¶ narjm, Owb¡ 2022
21) JQ>-H$, ‘w»¶ narjm nona -1, Am°JñQ> 2022
22) ghm¶H$ gaH$mar A{^¶moº$m narjm nona -1, gßQ>|~a 2022
23) ghm¶H$ gaH$mar A{^¶moº$m narjm nona -2, gßQ>|~a 2022
24) {b{nH$ Q>§H$boIH ‘w»¶ narjm, Am°JñQ> 2022
25) Xþæ¶‘ {ZarjH$ ‘w»¶ narjm, Am°JñQ> 2022
26) amÁ¶godm nyd©narjm nona -1, Am°JñQ> 2022
27) amÁ¶godm nyd©narjm nona -2, Am°JñQ> 2022
28) H$a ghm¶H$ ‘w»¶ narjm, Am°JñQ> 2022
29) Vm§{ÌH$ ghm¶H$ ‘w»¶ narjm, gßQ>|~a 2022
30) JQ>-~ ‘w»¶ narjm nona-1 , gßQ>|~a 2022
31) CÚmoJ {ZarjH$ ‘w»¶ narjm, gßQ>|~a 2022
32) nmobrg Cn{ZarjH$ (‘w»¶) narjm, gßQ>|~a 2022
33) H¥$fr godm ‘w»¶ narjm nona -1, Am°³Q>mo~a 2022
34) H¥$fr godm ‘w»¶ narjm nona -2, Am°³Q>mo~a 2022
35) ¶m§{ÌH$s A{^¶m§{ÌH$s ‘w»¶ narjm nona -1, Am°³Q>mo~a 2022
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36) ¶m§{ÌH$s A{^¶m§{ÌH$s ‘w»¶ narjm nona -2, Am°³Q>mo~a 2022
37) dZgodm ‘w»¶ narjm nona -1, Am°³Q>mo~a 2022
38) dZgodm ‘w»¶ narjm nona -2, Am°³Q>mo~a 2022
39) JQ> -~ g§¶wº$ nyd©narjm, Am°³Q>mo~a 2022
40) amÁ¶ H$a {ZarjH$ ‘w»¶ narjm, Am°³Q>mo~a 2022
41) ghm¶H$ H$j A{YH$mar ‘w»¶ narjm, Am°³Q>mo~a 2022
42) {dÚwV A{^¶m§{ÌH$s ‘w»¶ narjm nona -1, Am°³Q>mo~a 2022
43) {dÚwV A{^¶m§{ÌH$s ‘w»¶ narjm nona -2, Am°³Q>mo~a 2022
44) ñWmnË¶ A{^¶m§{ÌH$s ‘w»¶ narjm nona -1, Am°³Q>mo~a 2022
45) ñWmnË¶ A{^¶m§{ÌH$s ‘w»¶ narjm nona -2, Am°³Q>mo~a 2022
46) JQ>-H$ godm g§¶wº$ nyd©narjm, Zmoìho§~a 2022
47) A{gñQ>§Q> Q>mD$Z ßb°Za narjm, Zmoìh|~a 2022
48) AZwdmXH$ (‘amR>r) MmiUr narjm, [S>g|~a, 2022
49) d[að> g§emoYZ A{YH$mar narjm, {S>g|~a, 2022
50) àemgH$s¶ A{YH$mar narjm, {S>g|~a 2022
51) {d^mJr¶ EEgAmo narjm nona -1, {S>g|~a 2022
52) {d^mJr¶ EEgAmo narjm nona -2, {S>g|~a 2022
53) ‘hmamï´> amÁ¶ Vm§{ÌH$ nyd©narjm, {S>g|~a 2022
54) ñQ>oZmo ‘amR>r narjm, {S>g|~a 2022
55) ñQ>oZmo B§J«Or narjm, {S>g|~a 2022
56) newd¡ÚH$s¶ A{YH$mar narjm, {S>g|~a 2022
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‘hmamîQ́> bmoH$godm Am¶moJ narjm 2023
1) ^maVmMm B{Vhmg Am{U ̂ maVr` amï´>r` Midi (15)
2) ‘hmamï´>, ̂ maV Am{U OmJ{VH$ ̂ yJmob (15)
3) ^maVr` amÁ¶ì¶dñWm Am{U emgZ (15)
4) Am{W©H$ Am{U gm‘m{OH$ {dH$mg (15)
5) n[apñW{VH$s, O¡d-{d{dYVm Am{U hdm‘mZ ~Xb (10)
6) gm‘mÝ` {dkmZ (15)
7) Mmby KS>m‘moS>r - amï´>r` Am{U Am§Vaamï´>r` ‘hÎd (15)
8) Vm{H©$H$ Am{U {díbofUmË‘H$ j‘Vm (10)
9) gm‘mÝ` ‘mZ{gH$ j‘Vm (7)
10) ‘yb ŷV g§»`mË‘H$ j‘Vm (8)
11) {ZU©¶j‘Vm Am{U g‘ñ`m gmoS>dUyH$, g§dmX H$m¡eë` d Am§Vaì¶º$s H$m¡eë` (5)
12) AmH$bZ, ‘amR>r Am{U B§J«Or ̂ mfm AmH$bZ H$m¡eë ò (50)
13) ‘m{hVr A{YH$ma A{Y{Z¶‘ (5)
14) ‘hmamîQ́> bmoH$godm h¸$ (5)
15) ‘m{hVr d g§àofU V§ÌkmZ (10)

(1) ^maVmMm B{Vhmg Am{U ^maVr` amḯ>r` Midi (15)
1) àmMrZ ^maVmMm B{Vhmg (4)
2) ‘Ü¶¶wJrZ ^maVmMm B{Vhmg (3)
3) AmYw{ZH$ ^maVmMm B{Vhmg (4)
4) ^maVr` amï´>r` Midi (4)

(2) ‘hmamḯ>, ^maV Am{U OmJ{VH$ ŷJmob (15)
1) OJmMm ^m¡{VH$ ŷJmob (3)
2) OJmMm gm‘m{OH$ ŷJmob (1)
3) OJmMm Am{W©H$ ŷJmob (1)
4) ^maVmMm ^m¡{VH$ ŷJmob (2)
5) ^maVmMm gm‘m{OH$ ŷJmob (1)
6) ^maVmMm Am{W©H$ ŷJmob (2)
7) ‘hmamï´>mMm ^m¡{VH$ ŷJmob (2)
8) ‘hmamï´>mMm gm‘m{OH$ ŷJmob (1)
9) ‘hmamï´>mMm Am{W©H$ ŷJmob (2)

(3) ‘hmamḯ> Am{U ^maV - ^maVr` amOH$maU Am{U emgZ (15)
1) g§{dYmZ - ^maVmÀ¶m amÁ¶KQ>ZoMm àmW{‘H$ Aä¶mg (3)
2) amOH$s` ì`dñWm (3)
3) n§Mm`Vr amO Am{U ehar emgZ (3)
4) gmd©O{ZH$ YmoaU (3)
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5) ‘mZdr h¸$ g‘ñ`m (3)
* ‘m{hVr A{YH$ma A{Y{Z¶‘, 2005
* ‘hmamîQ´> bmoH$godm h¸$, 2015

(4) Am{W©H$ Am{U gm‘m{OH$ {dH$mg (15)
1) emídV {dH$mg (2)
2) J[a~r (2)
3) g‘mdoe (2)
4) bmoH$g§»`memó (2)
5) gm‘m{OH$ joÌmVrb CnH«$‘ (2)
6) ^maVr` AW©ì`dñWm - gmd©O{ZH$ {dÎm (1)
7) {dXoer ì`mnma (1)
8) ~±qH$J, ‘hmJmB© (1)
9) CÚmoJ (1)
10) eoVr (1)

(5) n[apñW{VH$s, O¡d-{d{dYVm Am{U hdm‘mZ ~Xb (10)
1) n[apñW{VH$s (2)
2) O¡d{d{dYVm (2)
3) hdm‘mZ ~Xb (2)

(6) gm‘mÝ` {dkmZ (15)
1) ^m¡{VH$emó (3)
2) agm¶Zemó (3)
3) àm{Uemó (2)
4) dZñn{Vemó (2)
5) H¥$fr / eoVrg§b¾ {dkmZ (2)
6) Amamo½¶emó (5)
7) {dkmZ Am{U V§ÌkmZ (2)
* ‘m{hVr d g§àofU V§ÌkmZ

(7) Mmby KS>m‘moS>r, amḯ>r` Am{U Am§Vaamḯ>r` ‘hÎd (15)
1) amOH$s¶ KQ>Zm (2)
2) Am{W©H$ d {dÎmr¶ KQ>Zm (2)
3) d¡km{ZH$ KQ>Zm (2)
4) gm‘m{OH$ d e¡j{UH$ KQ>Zm (2)
5) ^m¡Jmo{bH$, gm§ñH¥${VH$ d gm{hpË¶H$ KQ>Zm (3)
6) Zo‘UwH$m d nwañH$ma$ KQ>Zm (2)
7) gm‘mÝ¶kmZ d H«$sS>m{df¶H$ KQ>Zm (2)
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(8) Vm{H©$H$ VH©$ Am{U {dl²bofUmË‘H$ j‘Vm (10)
1) {Xboë¶m dmŠ`aMZodéZ {ZU©̀ , {ZîH$f© H$mT>Uo
2) {dYmZo Am{U ẁ{º$dmX, {dYmZo Am{U J¥{hVHo$, {dYmZo Am{U {ZîH$f©
3) n[apñWVr Am{U à{VgmX, n[aÀN>oXm§déZ {ZîH$f© H$mT>Uo
4) {dYmZ Am{U H¥$VrMm ‘mJ©, à{VnmXZ Am{U H$maU, {dYmZmÀ`m gË`VoMr nS>VmiUr
5) ~¡R>H$, H«$‘ d ‘m§S>Ur ì`dñWm, ‘mZm§H$Z MmMUr, VwbZm
6) ZmVog§~§Y
7) ‘erZ BZnwQ> Am{U {MÝho, J{UVr` VH©$
8) ñWmZ {ZpíMVr MmMUr, {Xem{ZX}e
9) {dl²bofU, {ZU©̀  KoUo, g‘ñ`m gmoS>dUo
10) Hy$Q> ‘m{hVrdarb àíZ

(9) gm‘mÝ` ‘mZ{gH$ j‘Vm (7)
1) H«$‘ Am{U ‘m{bH$m 1
2) H«$‘ Am{U ‘m{bH$m 2
3) gm§Ho${VH$ ^mfm/ H$moqS>J-{S>H$moqS>J
4) gmå¶, VwbZm, dJuH$aU
5) J{UVr` / A§H$J{UVr` {H«$`m
6) AmH¥$Ë`m§da àl²Z 1
7) AmH¥$Ë`m§da àl²Z 2

(10) ‘yb ŷV g§»`mË‘H$ j‘Vm (8)
1) A§H$J{UVr¶ H$m¡eë¶ - Xem§e AnyUmªH$, ~oarO, dOm~mH$s, JwUmH$ma, ^mJmH$ma Am{U gabrH$aU

g§»`màUmbr - bgm{d, ‘gm{d, KmVm§H$, dJ©‘yi Am{U KZ‘yi
2) Q> o̧$dmar, ^mJrXmar Am{U Jw§VdUyH$, JwUmoÎma Am{U à‘mU, gmIir {Z`‘
3) doi Am{U A§Va, aoëdoJmS>çm, ~moQ> Am{U Obàdmh
4) {dH«$s Am{U IaoXr, gdbV, Z’$m Am{U VmoQ>m, gai ì`mO Am{U MH«$dmT> ì`mO
5) doi Am{U H$m‘, nmB©n>, KS>çmi, H°$b|S>a, d¶mdarb àíZ
6) g§̂ mì`Vm, H«$‘M¶, gamgar
7) ŷ{‘Vr - joÌ’$i, KZ’$i> Am{U n[a{‘Vr
8) AmboI, Vºo$, S>oQ>m g{’${gEÝgr

(11) {ZU©¶j‘Vm Am{U g‘ñ`m gmoS>dUyH$, g§dmX H$m¡eë`- Am§Vaì¶º$s H$m¡eë` (5)
1) n[apñWVr hmVmiUo
2) àemgH$s` j‘Vm
3) gm‘m{OH$ Ym{‘©H$ g‘ñ`m
4) «̂ï>mMma, gMmoQ>r, Z¡{VH$Vm
5) ì`dñWmnH$s` H$m¡eë ò
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(12) CVmao, ‘amR>r Am{U B§J«Or ^mfm AmH$bZ H$m¡eë`(40)
1) Eo{Vhm{gH$ KQ>Zm
2) gmYZg§nÎmr d n¶m©daUr¶ ~m~r
3) amOH$s¶ joÌ
4) Am{W©H$ d gm‘m{OH$ {dH$mg
5) {dkmZ d V§ÌkmZ joÌ
6) H$bm, g{hË¶ d gm§ñH¥${VH$ joÌ
7) ‘amR>r ^mfm AmH$bZ H$m¡eë`
8) B§J«Or ^mfm AmH$bZ H$m¡eë`

(13) ‘m{hVr A{YH$ma A{Y{Z¶‘, 2005 (5)
1) H$m¶ÚmMr CËH«$m§Vr, gwYmaUm d BVa ~m~r
2) H$m¶ÚmVrb ‘hÎdmMr H$b‘o
3) H$m¶Úmer g§~§{YV ¶§ÌUm d A{YH$mar
4) H$m¶ÚmZwgmaMr H$madmB© d {ejoMr VaVyX
5) H$m¶ÚmVrb ÌwQ>r d XþéñË¶m, Anrb

(14) ‘hmamîQ́> bmoH$godm h¸$, 2015 (5)
1) H$m¶ÚmMr CËH«$m§Vr, gwYmaUm d BVa ~m~r
2) H$m¶ÚmVrb ‘hÎdmMr H$b‘o
3) H$m¶Úmer g§~§{YV ¶§ÌUm d A{YH$mar
4) H$m¶ÚmZwgmaMr H$madmB© d {ejoMr VaVyX
5) H$m¶ÚmVrb ÌwQ>r d XþéñË¶m, Anrb

(15) ‘m{hVr d g§àofU V§ÌkmZ (10)
1) g§JUH$ V§ÌkmZ - AmYw{ZH$ g‘mOmVrc g§JUH$mMr ŷ{‘H$m, doJdoJù¶m joÌmVrc OrdZmV g§JUH$mMm dmna
2) H$å¶w{ZHo$eZ V§ÌkmZ - S>mQ>m H$å¶w{ZHo$eZ, ZoQ>d{Hª$J Am{U do~ Q>o³Zm°cm°Or
3) gm¶~a JwÝho d Ë¶mg à{V~§Y
4) emgZmMo Am¶Q>r H$m¶©H«$‘ - {‘S>r¶m c°~ E{e¶m, {dÚm dm{hZr, kmZ dm{hZr, gm‘y{hH$ ‘m{hVr H|$Ð BË¶mXr
5) ‘m{hVr V§ÌkmZ CÚmoJ - ‘m{hVr V§ÌkmZ CÚmoJmVrc ‘yc ŷV àíZ d Ë¶mMo ^{dVì¶, ZdrZ CÚmoJ åhUyZ ‘m{hVr

V§ÌkmZmMm {Za{Zamù¶m godm gw{dYm§Mr ‘m{hVr {‘iÊ¶mgmR>r hmoUmam Cn¶moJ, ̂ maVmVrc ‘m{hVr V§ÌkmZ CÚmoJmMr dmT>
d Ë¶mMm XOm©.
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‘hmamḯ> ZmJar godm amOn{ÌV nyd© narjm 2023

 ‘hmamḯ> AamOn{ÌV godm (JQ> ~ d JQ> H$) nyd© narjm 2023

‘hmamḯ> AamOn{ÌV godm ‘w»¶ narjm (JQ> ~)/(JQ> H$)2023
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‘hmamḯ> AamOn{ÌV godm ‘w»¶ narjm (JQ> ~)/(JQ> H$) 2023

nona H«$‘m§H$ - 1 : ‘amR>r d B§J«Or

1) ‘amR>r ^mfm (50)

(1) gd©gm_mÝ` eãXg§J«h /15
(2) dmŠ`aMZm/13
(3) ì`mH$aU/12
(4) åhUr d dmH²$àMma (AW© d Cn`moJ)/5
(5) CVmè`mdarc àíZmoÎmao/5

(2) B§J«Or ^mfm /50

(6) CommonVocabualry / 10

(7) SentenceStructure / 20

(8) Grammar /10

(9) Use of Idioms and Phrases / 5

(10) Comprehension / 5

nona H«$‘m§H$ - 2 : gm‘mÝ¶ AÜ¶¶Z d ~wpÜX‘mnZ MmMUr
1) _hmamï´>mMm ̂ yJmoc /10
2) n¶m©daU /5
3) ^maVr¶ amÁ¶KQ>Zm/10
4) ‘m{hVr A{YH$ma A{Y{Z¶‘, 2005 /5
5) ‘hmamîQ´> bmoH$godm h¸$, 2015 /5
6) g‘J«bú¶r AW©emó /5
7) ^maVr¶ AW©ì¶dñWm/10
8) gm‘mÝ¶ {dkmZ d V§ÌkmZ /10
9)$ ‘m{hVr d g§àofU V§ÌkmZ /5
10) Mmcy KS>m‘moS>r - OmJ{VH$ VgoM ‘hmamï´>mgh ̂ maVmVrc /15
11) gm‘mÝ¶ ~w{Õ‘mnZ d AmH$bZ /10
12) A§H$J{UV Am{U gm§p»¶H$s /10
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{XdmUr Ý¶m¶mYre H${Zð> ñVa d Ý¶m¶X§S>m{YH$mar àW‘ dJ© narjm -2023

Civil judge (Junior Div) & Judicial Magistrate (1st Class)

Preliminary Examination

* Standard : Suitable to the post

* Maximum Marks : 100

* Medium : English

* Duration : Two Hours

* Nature of the paper : Objective type ( multiple choice question)

nyd©narjoMm Aä¶mgH«$‘
1) H$moS> Am°’$ {H«${‘Zc àmo{gOa
2) {gpìhc àmo{gOa H$moS>
3) EpìhS>Ýg A°³Q>
4) Q´>mÝg’$a Am°’$ àm°nQ>u A°³Q>
5) ñno{g{’$H$ [a{c’$ A°³Q>
6) ‘hmamï´> a|Q> H§$Q´>moc A°³Q>
7) {c{‘Q>oeZ A°³Q>
8) H$m°pÝñQ>Q>çweZ Am°’$ B§{S>¶m
9) B§{S>¶Z {nZc H$moS>
10) cm° Am°’$ H$m°ÝQ´>°³Q>, goc Am°’$ JwS²>g A°³Q> A°ÝS> nmQ>©Za{en A°³Q>

* Syllabus for Competitive Examination to the post of recruitment for Civil judge ( junior

Division ) & Judicial Magistrate ( First Class) ( Preliminary) Examination under judi-

cial Service of the Government of Maharashtra .

1) Code of Criminal Procedure

2) Civil Procedure Code

3) Evidence Act

4) Transfer of property Act

5) Specific Relief Act

6) Maharashtra Rent Control Act

7) Limitation Act

8) Constitution of India

9) Indian penal Code

10) Law of Contracts, Sale of Goods Act & Partnership



‘hmamîQ´> bmoH$godm Am¶moJmÀ¶m narjogmR>r Cn¶wº$ àíZg§J«h … AW©emó / 23

For Private Circulation Only



‘hmamîQ´> bmoH$godm Am¶moJmÀ¶m narjogmR>r Cn¶wº$ àíZg§J«h … AW©emó / 24

For Private Circulation Only

‘hmamîQ́> bmoH$godm Am¶moJmÀ¶m narjogmR>r Cn¶wº$ àíZg§J«h

Am{W©H$ Am{U gm‘m{OH$ {dH$mg

Am{W©H$ Am{U gm‘m{OH$ {dH$mg {df¶mMo KQ>H$, CnKQ>H$ Am{U ‘hÎdmMo ‘wÔo
(1) emídV {dH$mg

1) dmT> Am{U {dH$mg - joÌr` dmT>, EgS>rOr, n§Mdm{f©H$ ¶moOZm d {dH$mg H$m¶©H«$‘
2) ^maVr¶ AW©ì¶dñWoMr AmìhmZo d Am{W©H$ gwYmaUm - amï´>r` CËnÞ - OrìhrE, OrS>rnr

(2) J[a~r
3) J[a~rMr g§H$ënZm, ‘moO‘mn Am{U A§XmO, J[a~r {Z‘y©bZ H$m ©̀H«$‘
4) ~oH$mar - H$maUo, ñdén, àH$ma, amoOJma {Z{‘©Vr H$m ©̀H«$‘

(3) gd©g‘mdoeH$Vm
5) {d{dY d§{MV JQ>m§À`m g§X^m©V gd©g‘mdoeH$Vm d gm‘m{OH$ gwajm
6) {dH$mg H$m ©̀H«$‘ - ‘{hbm, ‘wbo, ¶wdH , àH$ën~m{YV, ̀ m§À`m g§X^m©V

(4) gm‘m{OH$ joÌmVrb CnH«$‘
7) {ejU, Amamo½`, H¥$fr, J¥h{Z‘m©U joÌmMm {dH$mg
8) ‘hmJmB© - H$maUo, n[aUm‘, {Z §̀ÌU, Cnm`. ‘°H«$mo BH$m°Zm°{‘Šg / g‘J«bjr AW©emó

(5) bmoH$g§»`memó
9) bmoH$g§»`m - g§»¶mË‘H$ Am{U JwUmË‘H$ d¡{eîQ>ço
10) bmoH$g§»`m MH«$, bmoH$g§»`m YmoaU

(6) ̂ maVr` AW©ì`dñWm
11) Am{W©H$ Am{U {dÎmr` YmoaU - H$a, {~Ja H$a, ^m§S>dbr ‘hgyb, gmd©O{ZH$ {dÎm Am{U {dÎmr` g§ñWm,AW©g§H$ën,

gmd©O{ZH$ IM©, boIm Am{U boImnarjU
12) ^maVmMm {dXoer ì`mnma - AmH$ma‘mZ, {Xem Am{U aMZm , Am§Vaamï´>r` AW©emó Am{U Am§Vaamï´>r` ̂ m§S>db Midi
13) ~±qH$J- MbZ nwadR>m, H«o${S>Q> Am{U ‘m°{ZQ>ar nm°{bgr
14) ^maVr` CÚmoJ, nm`m ŷV gw{dYm Am{U godm joÌ
15) H¥$fr Am{U J«m‘rU {dH$mg - ghH$ma joÌ
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(9) bmoH$g§»`m - g§»¶mË‘H$ Am{U JwUmË‘H$ d¡{eîQ>ço
1) cmoH$g§»`m OZJUZm
2) bmoH$g§»¶oMr g§»¶mË‘H$$d¡{eîQ>ço - AmH$S>odmar, d¥ÕrXa, KZVm
3) bmoH$g§»¶oMr JwUmË‘H$ d¡{eîQ>ço - ór-nwéf qcJJwUmoÎma, gmjaVm, OÝ‘Xa d ‘¥Ë¶yXa
4) ñWbm§Va - ZmJar cmoH$g§»`m d eharH$aU

1) cmoH$g§»`m OZJUZm
1) Imcrcn¡H$s H$moUVo {dYmZ/{dYmZo ~amo~a Amho/AmhoV ?

a) XoemV n{hcr OZJUZm gZ 1871 ‘Ü¶o KoÊ¶mV Amcr.
b) OZJUZm 2011 hr ñdmV§Í¶mZ§VaMr gmVdr OZJUZm AgyZ AI§{S>V e¥§IcoVrc n§Yamdr OZJUZm Amho.
n¶m©¶r CÎmao :
1) {dYmZ (a) ~amo~a 2) {dYmZ (b) ~amo~a
3) {dYmZo (a) Am{U (b) ~amo~a 4) {dYmZo (a) Am{U (b) MyH$

1) Which of the following statement/statements is/are true ?

a) The first census in the country was conducted in 1871.

b) Census 2011 is the seventh census since independence and the fifteenth in a continuous series.

Answer options :

1) Statement (a) correct 2) Statement (b) correct

3) Statement (a) and (b) correct 4) Statement (a) and (b) incorrect

2) bmoH$g§»¶oMr g§»¶mË‘H$$d¡{eîQ>ço - AmH$S>odmar, d¥ÕrXa, KZVm
1) ‘hmamï´> amÁ¶mVrb bmoH$g§»¶oMr Xedm{f©H$ dmT> (2001-2011) ................ hmo¶.

1) 15.99% 2) 11.50% 3) 21.37% 4) 36.01%
1) The population decadal growth rate in Maharashtra (2001-2011) is .........

1) 15. 99% 2) 11.50% 3) 21.37% 4) 36.01%

2) 2011 À¶m OZJUZoZwgma XoemVrb bmoH$g§»¶oMr KZVm ...... Amho.
1) 117 à{V Mm¡. {H$.‘r. 2) 157 à{V Mm¡. {H$.‘r.
3) 282 à{V Mm¡. {H$.‘r. 4) 382 à{V Mm¡. {H$.‘r.

2) According to the 2011 Census , the density of population in the country is

1) 117 per sq. km. 2) 157 per sq. km.

3) 282 per sq. km. 4) 382 per sq. km.

3) ‘hmamï´>mÀ¶m bmoH$g§»¶oMr KZVm 1951 ‘Ü¶o .............. Am{U 2011 ‘Ü¶o .......... hmoVr.
1) 110, 465 2) 75, 361 3) 104, 365 4) 60, 265

3) The density of population in Maharashtra was ................ in 1951 and ............ 2011.

1) 110, 465 2) 75, 361 3) 104, 365 4) 60, 265
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4) OZJUZm 2001 à‘mUo Imbrbn¡H$s H$moUË¶m {OëømMr bmoH$g§»¶m KZVm 200 nojm H$‘r hmoVr ?
1) Zm§XoS> 2) OmbZm 3) Ah‘XZJa 4) ¶dV‘mi

4) As per the Census 2001 which of the following districts has less than 200 population density ?

1) Nanded 2) Jalna 3) Ahmednagar 4) Yavatmal

5) 2001 À¶m OZJUZoZwgma ‘hmamï´>mVrb bmoH$g§»¶oÀ¶m CÎmaË¶m H«$‘mZwgma {Oëøm§Mm JQ> {Xbobm Amho, Imbrbn¡H$s
AMyH$ JQ> AmoiIm …
1) R>mUo, Zm{eH$, nwUo, OiJmd, Ah‘XZJa 2) R>mUo, nwUo, Zm{eH$, OiJmd, Ah‘XZJa
3) R>mUo, nwUo, Zm{eH$, Ah‘XZJa, OiJmd 4) R>mUo, Zm{eH$, Ah‘XZJa, nwUo, OiJmd

5) According to the Census 2001, the district groups are given in descending order of population.

Identify the correct group.

1) Thane, Nashik, Pune, Jalgaon, Ahmednagar

2) Thane, Pune, Nashik, Jalgaon, Ahmednagar

3) Thane, Pune, Nashik, Ahmednagar, Jalgaon

4) Thane, Nashik, Ahmednagar, Pune, Jalgaon

6) ^maVr¶ bmoH$g§»¶oÀ¶m ~m~VrV Imbrbn¡H$s H$m¶ Iao Amho?
a) dm{f©H$ bmoH$g§»¶m d¥ÕrXa KQ>V Amho.
b) bmoH$g§»¶oVrb VéU bmoH$g§»¶oMm {hñgm H$‘r hmoÊ¶mg gwédmV Pmbr Amho.
n¶m©¶r CÎmao …
1) (a) ’$º$ ~amo~a Amho. 2) (b) ’$º$ ~amo~a Amho.
3) (a) d (b) XmoÝhr ~amo~a AmhoV. 4) (a) d (b) XmoÝhr MyH$ AmhoV.

6) Which of the following is true regarding Indian population?

a) Annual population growth rate has been declining.

b) Share of India's young population has started declining.

Answer Options :

1) (a) only is correct 2) (b) only is correct

3) (a) and (b) both are correct 4) (a) and (b) both are incorrect.

7) Imbrb {dYmZo {dMmamV ¿¶m
a) 2011 ‘Ü¶o ^maVmVrb bmoH$g§»¶oMr KZVm 382 Xa Mm¡ag {H$bmo‘rQ>a hmoVr.
b) 2011 À¶m OZJUZoZwgma XoemVrb gmjaVm Xa 73.0% hmoVm.
c) XoemVrb qbJ JwUmoÎma à‘mU ‘{hbm§À¶mgmR>r Zoh‘r AZwHy$b am{hbo.
darbn¡H$s H$moUVo / Vr {dYmZ / Zo AgË¶ Amho / AmhoV ?
1) (a) Am{U (b) 2) ’$º$ (c) 3) (b) Am{U (c) 4) ’$º$ (a)

7) Consider the following statements :

a) The population density of India in 2011 was 382 per sq. km.

b) As per the census 2011, the literacy rate in the country is 73.0 percent.

c) The sex ratio in the country has always remained favourable to females.

Which of the statement/s given above is/are incorrect ?

1) (a) and (b) 2) only (c) 3) (b) and (c) 4) only (a)
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3) bmoH$g§»¶oMr JwUmË‘H$ d¡{eîQ>ço - ór-nwéf qcJJwUmoÎma, gmjaVm, OÝ‘Xa d ‘¥Ë¶yXa
1) OZJUZm 2011 à‘mUo Z§Xwa~ma {OëømMm ór-nwéf à‘mU Xa {H$Vr hmoVm ?

1) 700 Vo 800 Xaå¶mZ 2) 800 Vo 900 Xaå¶mZ
3) 900 Vo 1000 Xaå¶mZ 4) darbn¡H$s Zmhr

1) What was the sex ratio of Nandurbar district as per the Census 2011 ?

1) Between 700 to 800 2) Between 800 to 900

3) Between 900 to 1000 4) None of the above

2) 2011 À¶m OZJUZoZwgma ‘hmamï´>mVrb H$moUË¶m {OëømV gdm©{YH$ qbJJwUmoÎma AmT>iVo ?
1) Jm|{X¶m 2) aËZm{Jar 3) qgYwXþJ© 4) JS>{Mamobr

2) According to the Census 2011, which district has the highest sex ratio in Maharashtra ?

l) Gondia 2) Ratnagiri 3) Sindhudurg 4) Gadchiroli

3) 2011 ‘Ü¶o Imbrbn¡H$s H$moUË¶m amÁ¶mV ~mb qbJ JwUmoÎma gdm©V H$‘r hmoVo ?
1) H$Zm©Q>H$ 2) ‘hmamï´> 3) Ho$ai 4) ‘Ü¶ àXoe

3) Which of the following States had the lowest child sex ratio in 2011 ?

1) Karnataka 2) Maharashtra 3) Kerala 4) Madhya Pradesh

4) Imbrbn¡H$s H$moUVo {dYmZ/Zo qbJ^md Ag‘mZVm {ZX}em§H$mbm (GII) bmJy hmoVo ?
a) Amamo½¶, gj‘rH$aU d l‘ ~mOma noR> ¶mVrb qbJ^md ’$aH$mMr H$ënZm GII ‘wio ¶oVo.
b) GII Mo Cƒ ‘yë¶ àË¶jmV qbJ^md Ag‘mZVoMr Vrd«Vm Xe©{dVo.
c) àË¶oH$ qbJJQ>mbm {‘imboë¶m g§gXr¶ OmJm§Mm dmQ>m hm gj‘rH$aUmMo Am§{eH$ ‘mnZ H$aVmo.
n¶m©¶r CÎmao …
1) ’$º$ (a) Am{U (b) 2) ’$º$ (b)

3) darbn¡H$s H$moUVohr Zmhr 4) darbn¡H$s gd©
4) Which of the following is/are applicable to Gender Inequality Index (GII) ?

a) It provides insights into gender disparities in health, empowerment and the labour market.

b) Higher values in the GII indicate worse achievements.

c) The empowerment dimension is partly measured by the share of parliamentary seats held by

each gender.

Answer Options:

1) Only (a) and (b) 2) Only (b)

3) None of the above 4) All of the above

5) ~mb‘¥Ë¶yXa hm {Xboë¶m ̂ m¡Jmo{bH$ joÌmVrb EH$ dfm©À¶m H$mbmdYrV 1000 {Od§V OÝ‘m‘mJo ...... d¶mImbrb ‘wbm§À¶m
‘¥Ë¶y§Mr g§»¶m Amho.
1) EH$ df© 2) EH$ ‘{hZm 3) EH$ AmR>dS>m 4) EH$ {Xdg

5) The infant mortality rate is the number of deaths of children under ........ of age in a given

geographical area during a given year, per 1000 live births.

1) One year 2) One month 3) One week 4) One day
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6) bmoH$g§»¶oÀ¶m d¶moJQ> aMZoZwgma .............. d¶moJQ> hm AZwËnmXH$ g‘Obm OmVmo.
1) 6 dfm© darb 2) 14 dfm©Imbrb 3) 15 Vo 30 dfm©Mm 4) 30 Vo 59 dfm©Mm

6) According to the age group structure of population, age group is considered as unproductive.

1) Above 6 years 2) Under 14 years 3) 15 to 30 years old 4) 30 to 59 years old

4) ñWbm§Va - ZmJar cmoH$g§»`m d eharH$aU
1) ‘m¶J«oeZ Q´>°qH$J {gñQ>‘ (MTS) E°pßbHo$eZ {dH${gV H$aUmao n{hbo amÁ¶ H$moUVo Amho?

1) {~hma 2) JwOamV 3) ‘hmamï´> 4) CÎma àXoe
1) Which is the first state to develop Migration Tracking System (MTS) application ?

1) Bihar 2) Gujarat 3) Maharashtra 4) Uttar Pradesh

2) ^maVmVrb bmoH$g§»¶oMr JwUmË‘H$ d¡{eîQ>ço d eharH$aUmg§X^m©V H$moUVo {dYmZ ~amo~a Zmhr?

1) XaS>moB© CËnÞmVrb dmT> d eharH$aU ¶m§Mm gH$mamË‘H$ g§~§Y Amho.
2) eharH$aU d amoOJmadmT> ¶m§À¶mV ghg§~§Y Zmhr.
3) eharH$aUmgmo~V bmoH$m§À¶m amhUr‘mZmÀ¶m XOm©V dmT> hmoVo.
4) eharH$aU d Xm[aÐçaofoImbrb bmoH$g§»¶m ¶m§À¶mV ZH$mamË‘H$ g§~§Y Amho.

2) Which of the following statements is not correct regarding the qualitative characteristics of

India's population and urbanisation ?

1) There is positive co-relation between per capital income and urbanisation.

2) There is no co-relation between urbanisation and employment.

3) There is increase in standard of living with urbanisation.

4) There is negative relationship between urbanisation and population below poverty line.

3) Imcrcn¡H$s H$moUVo/Vr {dYmZ/Zo ¶mo½¶ AmhoV ?
a) a§JZmW {‘l Am¶moJ amï´>r¶ Ym{‘©H$ d ^m{fH$ Am¶moJ åhUyZ gwÕm n[a{MV Amho.
b) ¶m Am¶moJmZo AZwgy{MV OmVr, Y‘m©nmgyZ doJù¶m H$aÊ¶mMr {e’$mag Ho$cr hmoVr.
n¶m©¶r CÎmao :
1) ’$º$ (a) ~amo~a Amho 2) ’$º$ (b) ~amo~a Amho
3) (a) d (b) XmoÝhr ~amo~a AmhoV 4) (a) Am{U (b) XmoÝhr MyH$ AmhoV

3) Which of the following statement/s is/are correct ?

a) Ranganath Misra Commission is also known as National Commission for Religious and

Linguistic Minorities (NCRLM).

b) This commission recommended delinking scheduled castes from religion.

Answer options :

1) Only (a) is correct 2) Only (b) is correct

3) (a) and (b) both are correct 4) (a) and (b) both are incorrect
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(10) bmoH$g§»`m MH«$, bmoH$g§»`m YmoaU

1) bmoH$g§»¶m MH«$ - g§H«$‘U {gÕm§V
2) cmoH$g§»`m YmoaU, OZJUZm
3) Hw$Qw>§~ H$ë¶mU

1) bmoH$g§»¶m MH«$ - g§H«$‘U {gÕm§V
1) "bmoH$g§»¶m g§H«$‘U' {gÕm§V H$moUr ‘m§S>bm ?

1) Hw$. g|nb 2) Wm°‘g Om°Z 3) E’$. S>ãë¶y. Zm°Q>oñQ>mBZ 4) S>. ñQ>±n
1) Who put forward the theory of‘Demographic Transition’ ?

1) Miss Semple 2) Thomas John 3) F. W.Notestein 4) D. Stamp

2) bmoH$g§»¶oMo pñWË¶§Va ...... ¶m‘wio KS>Vo.
a) ‘¥Ë¶yXa ~Xb b) OZZXa ~Xb
c) CËnÞ {dVaUmVrb ~Xb d) ZmJarH$aU
n¶m©¶r CÎmao …
1) (a) 2) (a) Am{U (b) 3) (a), (b) Am{U (c) 4) (a), (b) Am{U (d)

2) Demographic transition is a result of

a) Changes in mortalityb) Changes in fertility

c) Changes in income distribution d) Urbanization

Answer options :

1) (a) 2) (a) and (b) 3) (a), (b) and (c) 4) (a), (b) and (d)

3) Imbrbn¡H$s H$moUVo ^maVmVrb bmoH$g§»¶m {dñ’$moQ>mMo H$maU Zmhr ?
a) {ZajaVm b) {ddmhmMr gmd©{ÌH$Vm c) EH$Ì Hw$Qw>§~ nÕVr d) amhUr‘mZmVrb gwYmaUm
n¶m©¶r CÎmao …
1) (a) Am{U (b) 2) (c) Am{U (d) 3) (a), (b), (c) 4) (d) ’$º$

3) Which of the following is not the reason for Population Explosion in India ?

a) literacy b) The Universalization of Marriage

c) Joint Family System d) Upliftment in Life Style

Answer Options :

1) (a) and (b) 2) (c) and (d) 3) (a), (b), (c) 4) (d) only

2) cmoH$g§»`m YmoaU
1) Imcrcn¡H$s H$moUVo df© g§¶wº$ amï´> g§KmZo OmJ{VH$ cmoH$g§»¶m df© åhUyZ Kmo{fV Ho$co ?

1) 1949 2) 1974 3) 1978 4) 1920
1) Which of the following years was declared by the United Nations as the World Population Year ?

1) 1949 2) 1974 3) 1978 4) 1920
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2) Imbrbn¡H$s H$moUVo amï´>r¶ bmoH$g§»¶m YmoaU 2000 Mo C{Ôï> Zmhr?
1) ~mb‘¥Ë¶yMo à‘mU H$‘r H$aUo 2) gmd©{ÌH$ bgrH$aU
3) Jar~ ‘wbm§gmR>r ‘Ü¶mÝh ^moOZ 4) XmoZ ‘wbm§Mo bhmZ Hw$Qw>§~ pñdH$maÊ¶mg àmoËgmhZ

2) Which of the following is not objective of National Population Policy 2000 ?

1) Reduction in infant mortality 2) Universal Immunisation

3) Mid-day meal for poor children 4) Incentive to adopt two child small family

3) Imbrbn¡H$s H$moUVo {dYmZ / {dYmZo amï´>r¶ bmoH$g§»¶m YmoaU, 2000 À¶m Ü¶o¶ gmÜ¶ H$aÊ¶mÀ¶m g§X^m©V ¶mo½¶ Amho/
AmhoV?
a) ‘wbo Am{U ‘wbr ¶m Xmohm|À¶m ~m~VrV àmW{‘H$ Am{U ‘mÜ¶{‘H$ emim nmVirdarb JiVr 30 Q> o̧$nojm Imbr AmUUo.
b) OÝ‘mÀ¶m doioMm Xa hOmar A ©̂©H$ ‘¥Ë¶y Xa 20 nojm H$‘r H$aUo / Imbr AmUUo.
c) OÝ‘mÀ¶m doioMo ‘mVm ‘¥Ë¶y Xa JwUmoÎma Xa bmIm‘mJo / bmImbm 100 nojm Imbr AmUUo.
d) OÝ‘, ‘¥Ë¶y, {ddmh Am{U JamoXanUm ¶m g§~§{YV Zm|XUr 100 Q> o̧$ n¶ªV gmÜ¶ H$aUo.
n¶m©¶r CÎmao …
1) (a) Am{U (c) 2) (b) Am{U (d) 3) (b) ’$º$ 4) (c) Am{U (d)

3) Which of the following statement/s is/are correct about goals to be achieved under the National

Population Policy, 2000?

a) Reduce dropouts at the primary and secondary school levels to below 30 percent for both

boys and girls.

b) Reduce infant mortality rate to below 20 per 1000 live births.

c) Reduce maternal mortality ratio to below 100 per 1,00,000 live births.

d) Achieve 100 percent registration of births, deaths, marriage and pregnancy.

Answer Options :

1) (a) and (c) 2) (b) and (d) 3) (b) only 4) (c) and (d)

4) amï´>r¶ cmoH$g§»¶m YmoaU, 2000 ‘Ü¶o Imcrcn¡H$s H$moUË¶m C{Ôï>m§Mm g‘mdoe Amho ?
a)$ór- «̂yUhË`m à{V~§YH$ H$m¶ÚmMr A§‘c~OmdUr H$aUo.
b)$~mc{ddmh à{V~§YH$ H$m¶ÚmMr H$S>H$ A§‘c~OmdUr H$aUo.
c)$N>moQ>çm Hw$Qw>§~mMr g§H$ënZm am~{dUo.
d)$IoS>çmÀ¶m nmVirda ~mi§VnUmÀ¶m godm CncãY H$éZ XoUo.
n¶m©¶r CÎmao …
1) (a)$Am{U (b)$ 2) (b)$Am{U (c)$
3) (b),(c)$Am{U (d)$ 4) gd© n¶m©¶ ~amo~a AmhoV

4) Which of the following objectives are included in the National Population Policy, 2000 ?

a) Enforcing Pemale Foeticide Prevention Law.

b) Strict enforcement of Child Marriage Prevention Law.

c) Implementing the concept of small family.

d) To provide maternity services at the village level.

Answer Optiozns :

1) (a) and (b) 2) (bl and (c)

3) (b), (c) and (d) 4) All options are correct
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5) Imbrbn¡H$s H$moUVo {dYmZ ~amo~a Amho ?
a) bmoH$g§»¶oÀ¶m dmT>rgh, qgMZ joÌ dmT>V Amho Am{U H¥${f {dkmZmVrb àJVr‘wio, ~hþVoH$ {dñV¥V nrH$ nÕVr gYZ

nrH$ KoÊ¶mg ‘mJ© XoV AmhoV.
b) bmoH$g§»¶oÀ¶m dmT>rgh, qgMZ joÌ dmT>V Amho Am{U H¥${f {dkmZmVrb àJVr‘wio, ~hþVoH$ gYZ nrH$ nÕVr gYZ

nrH$ nÕVr nrH$ KoÊ¶mg ‘mJ© XoV AmhoV.
n¶m©¶r CÎmao …
1) ’$º$ (a) 2) ’$º$ (b) 3) (a) Am{U (b) 4) H$moUVohr ~amo~a Zmhr

5) Which of the following statements is correct ?

a) With the increase in population, the irrigated area is increasing and with advances in agricul-

tural sciences, most of the extensive cropping patterns are giving way to intensive cropping.

b) With the increase in population, the irrigated area is increasing and with advances in agricul-

tural sciences, most of the intensive cropping patterns are giving way to extensive cropping.

Answer Options :

1) Only (a) 2) Only (b)  3) (a) and (b) 4) None of the above

3) Hw$Qw>§~ H$ë¶mU
1) Imcrcn¡H$s ^maVmV gd©àW‘ g§VVr {Z¶‘Z H|$ÐmMr ñWmnZm H$moUr Ho$cr ?

a)$S>m°. a. Ymo. H$d} b)$S>m°. BamdVr H$d} c)$S>m°. AmZ§Xr H$d} d)$S>m°. Jmo. J. H$d}
n¶m©¶r CÎmao …
1) ’$º$ (a)$ 2) ’$º$ (b) 3) ’$º$ (d) 4) darcn¡H$s Zmhr

1) Who among the following established the first Birth Control Centre in India ?

a) Dr. R.D. Karve b) Dr. Irawati Karve

c) Dr. Anandi Karve d) Dr. G.G. Karve Answer Optiozns :

Answer Options :

l) Only (a) 2) Only (b) 3) Only (d) 4) None of the above
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(11) Am{W©H$ Am{U {dÎmr` YmoaU - gmd©O{ZH$ {dÎm, ‘hgyb, F$U,$
IM©, AW©g§H$ën, boIm d boImnarjU

1) {dÎmr¶ YmoaU - ‘hgwcmMo gmYZ - Q>°³g, Zm°ZQ>°³g /H$aoVa ‘hgyb
2) H$aàUmbr - H|$Ð d amÁ¶ ñVamdarc Am{W©H$ gwYmaUm-OrEgQ>r, {dH«$sH$a, BË`mXr¨er g§~§{YV H$m¶Xo/{Z¶‘
3) H$agwYmaUm g{‘Ë¶m - ̂ maVmVrc H$agwYmaUm AmT>mdm, amÁ¶ nmVirdarc H$agwYmaUm - ìh°Q>
4) ^maVmVrc H|$Ð d amÁ¶mVrc gmd©O{ZH$ F$U -aMZm Am{U ̂ ma
5) {dÎm Am¶moJ
6) H|$Ð d amÁ¶mMr gmd©O{ZH$ IM© dmT>, gmd©O{ZH$ IM© gwYmaUm
7) ^maVmVrc amOH$mofr¶ gwYmaUm - H|$Ð d amÁ¶ñVamdarc AmT>mdm
8) AW©g§H$ën - àH$ma, H$m‘mda AmYm[aV , eyÝ¶mYm[aV AW©g§H$ën
9) amOH$mofr¶ VyQ> - g§H$ënZm, VwQ>rMo {Z¶§ÌU, H|$Ð, amÁ¶ d [aPìh© ~±Ho$Mo CnH«$‘
10) boIm Am{U boImnarjU

1) {dÎmr¶ YmoaU - ‘hgwcmMo gmYZ - Q>°³g, Zm°ZQ>°³g /H$aoVa ‘hgyb
1) Imbrbn¡H$s H$moUË¶m amÁ¶mbm 2018-19 ‘Ü¶o gdm©{YH$ ‘hgyb é.90,140 H$moQ>r BVH$m SGST ‘YyZ {‘imbm

Amho?
1) Vm{‘iZmSy> 2) CÎma àXoe 3) H$Zm©Q>H$ 4) ‘hmamï´>

1) Which of the following state received highest revenue • 90,140 crores from SGST for 2018-19?

1) Tamilnadu 2) U.P. 3) Karnataka 4) Maharashtra

2) Imcrcn¡H$s H$moUË¶m XoemZr g§Kr¶ {dÎm ì¶dñWm ñdrH$macr Amho ?
1) ¶y. Eg. E. Am{U H°$ZS>m ’$º$ 2) H°$ZS>m Am{U ^maV ’$º$
3) ¶y. Eg. E. H°$ZS>m Am{U ^maV ’$º$ 4) ¶y. Ho$. ’«$mÝg, O‘©Zr Am{U Am°ñQ´>o{c¶m

2) Which of the following countries have adopted a federal system of government finance ?

1) USA and Canada only 2) Canada and India only

3) USA, Canada and India only 4) UK, France, Germany and Austria

3) ¶mo½¶ {dYmZo/{dYmZo AmoiIm
a) g§Kr¶ ì¶dñWm H|$Ð Am{U amÁ¶ gaH$ma‘Yrc {dÎmr¶ g§~§Y {ZpíMV H$aV Zmhr.
b) g§Kr¶ ì¶dñWm amÁ¶ gaH$ma‘Yrc {dÎmr¶ g§~§Y {ZpíMV H$aUo.
c) g§Kr¶ ì¶dñWm H|$Ð Am{U amÁ¶ gaH$mam‘Yrc {dÎmr¶ g§~§Y {ZpíMV H$aUo.
d) g§Kr¶ gaH$ma ì¶dñWm ñWm{ZH$ gaH$mam‘Yrc {dÎmr¶ g§~§Y {ZpíMV H$aUo.
n¶m©¶r CÎmao :
1) ’$º$ (a) Am{U (b) ~amo~a 2) ’$º$ (a) Am{U (d) ~amo~a
3) ’$º$ (c) Am{U (d) ~amo~a 4) ’$º$ (c) ~amo~a
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3) Identify the correct statement/statements.

a) Federal system of government does not define the financial relations between the central and

state governments.

b) Federal system of government defines the financial relations among the state governments.

c) Federal system of government defines the financial relations between the central and the

state governments.

d) Federal system of government defines the financial relations between the local governments.

Answer Options :

1) Only (a) and (b) are correct 2) Only (a) and (d) are correct

3) Only (c) and (d) are correct 4) only (c) is correct

4) H|$Ð Am{U amÁ¶ gaH$ma ¶m§À¶mVrc {dÎmr¶ g§~§Y R>a{dUmao KQ>H$ H$moUVm/H$moUVm ?
1) ‘hgwcmMr gmYZo 2) IMm©Mr ~m~r
3) XmoÝhr (1) Am{U (2) 4) A{YH$mam§Mo dmQ>n

4) What is/are a determinant/determinants of financial relations between the central and state

government ?

1) Sources of revenue 2) Heads of expenditure

3) Both the (1) and (2) 4) Distribution of powers

5) amÁ¶ gaH$maÀ¶m ^m§S>dbr àmárV ............ ¶mMm g‘mdoe AgVmo.
a) ~mOmar H$O} b) H|$Ð gaH$maH$Sy>Z CMb KoUo
c) bmoH$m§Mr Aën~MV d ^{dî¶ {Zdm©h {ZYr ¶moJXmZ d) H|$Ð gaH$maH$Sy>Z Or Eg Q>r Mm dmQ>m
darbn¡H$s H$moUVm n¶m©¶ ~amo~a Amho ?
1) ’$º$ (c), (d), (a) 2) ’$º$ (b), (a), (d) 3) ’$º$ (a), (b), (c) 4) ’$º$ (d), (b), (c)

5) Capital Receipt of State Government includes ......

a) Market loans

b) Borrowing from Central Government

c) Small Saving of the public and provident fund contribution

d) G.S.T. share from Central Government

Which of the above option is correct ?

1) only (c), (d), (a) 2) only (b), (a), (d) 3) only (a), (b), (c) 4) only (d), (b), (c)

6) Imbrbn¡H$s H$moUVm H$a hm ^maVr¶ AW©ì¶dñWoV AàË¶j H$a Zmhr?
1) ‘hm‘§S>i H$a 2) {dH«$s H$a 3) CËnmXZ H$a 4) OH$mV H$a

6) Which of the following taxes is not the indirect tax in Indian Economy ?

1) Corporation Tax 2) Sales Tax 3) Excise Duty 4) Customs Duties

7) Am¶H$amnmgyZ àmá hmoUmao CËnÞ H$moUmbm àmá hmoVo?
1) amÁ¶ gaH$ma 2) H|$Ð gaH$ma
3) ñWm{ZH$ gaH$ma 4) H|$Ðem{gV àXoe

7) Who receives income from Income Tax ?

1) State Government 3) Local Government

2) Central Government 4) Union Territory
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8) Imbrbn¡H$s H$moUVr H$am§Mr C{ÔîQ>ço AmhoV ?
a) àemgH$s¶ ‘hgwcmV dmT> H$aUo.
b) g§gmYZm§À¶m dmnamda à^md Q>mH$Uo
c) Am{W©H$ {df‘Vm H$‘r H$aUo.
n¶m©¶r CÎmao …
1) (a), (b) Am{U (c) 2) (a) Am{U (c) 3) (b) Am{U (c) 4) (a) Am{U (b)

8) Which of the following are the objectives of taxes ?

a) To increase administrative revenue.

b) To influence resource allocation.

c) To reduce income inequality.

Answer Options :

1) (a), (b) and (c) 2) (a) and (c) 3) (b) and (c) 4) (a) and (b)

9) gaH$maMo AënH$mbrZ {ZYr Jmoim H$aÊ¶mMo à‘wI gmYZ H$moUVo?
1) gaH$mar hþ§S>çm 2) ~mOma H$O} 3) à{V ŷVr 4) darbn¡H$s H$moUVohr Zmhr

9) Which of the following is the major source of short-term funds for government ?

1) Treasury bills 2) Marked loans 3) Securities 4) None of the above

10) H$aoVa ‘hgwcmV Imbrb Jmoï>tMm g‘mdoe hmoVmo …
a) àemgH$s¶ ‘hgyb b) amÁ¶ CnH«$‘mnmgyZ {‘iUmam Z’$m
c) XoU½¶m d AZwXmZo d) {d{dY H$a
n¶m©¶r CÎmao …
1) (a), (b) Am{U (c) {dYmZo ~amo~a AmhoV. 2) (a), (b), (c) Am{U (d) {dYmZo ~amo~a AmhoV.
3) (a), (b) Am{U (d) {dYmZo ~amo~a AmhoV. 4) (a) Am{U (c) {dYmZo ~amo~a AmhoV.

10) Non-tax revenue includes the following things :

a) Administrative revenue b) Profit from State enterprises

c) Gifts and grants d) Various taxes

Answer Options :

1) Statements (a), (b) and (c) are correct 2) Statements (a), (b), (c) and (d) are correct

3) Statements (a), (b) and (d) are correct 4) Statements (a) and (c) are correct

11) H|$Ð gaH$maMr H$aoVa CËnÞmMr gmYZo ...... AmhoV.
A) emgH$s¶ CnH«$‘m§Mm Z’$m ~) ‘mb‘Îmm H$a H$) amOH$mofr¶ godm S>) gd©gmYmaU godm
n¶m©¶r CÎmao …
1) ’$º$ A, ~ Am{U H$ 2) ’$º$ A, H$ Am{U S> 3) ’$º$ A, ~ Am{U S> 4) ’$º$ ~, H$ Am{U S>

11) The Non-tax revenue sources of the Central Government are ......

a) Profit of Government enterprises b) Taxon Estate duty

c) Fiscal services d) General services

Answer Options :

1) Only a, b and c 2) Only a, c and d 3) Only a, b and d 4) Only b, c and d
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2) H$aàUmbr - OrEgQ>r, {dH«$sH$a, BË`mXr̈er g§~§{YV H$m¶Xo/{Z¶‘
1) ^maVmV Or.Eg.Q>r. Mm àma§̂  ...... nmgyZ Pmbm.

1) 8 Zmoìh|~a, 2016 2) 1 Owb¡, 2017 3) 17 Owb¡, 2017 4) 1 Owb¡, 2018
1) GST started in India from ......

1) 8th November, 2016 2) 1st July, 2017 3) 17th July, 2017 4) 1st July, 2018

2) ìh°Q>Mr gwédmV gd©àW‘ Imbrb H$moUË¶m XoemV Pmbr?
1) A‘o[aH$m 2) ’«$mÝg 3) ^maV 4) MrZ

2) VAT started first in which of the following countries ?

1) America 2) France 3) India 4) China

3) Imbrbn¡H$s AàË¶j H$a H$moUVm Amho?
1) Or.Eg.Q>r. 2) CËnÞ H$a 3) g§nÎmr H$a 4) ‘mb‘Îmm H$a

3) Which of the following is an Indirect Tax ?

1) GST 2) Income Tax 3) Wealth Tax 4) Property Tax

4) dñVy d godm H$a AmoiI H«$‘m§H$mMo n{hbo XmoZ A§H$ ........... {Z{X©ï> H$aVmV.
1) CËnmXZ g§Ho$Vm§H$ 2) godm g§Ho$Vm§H$ 3) amÁ¶ g§Ho$Vm§H$ 4) Xoe g§Ho$Vm§H$

4) The first two digits of Goods and Services Tax identification number specifies ..................

1) Product Code 2) Service Code 3) State Code 4) Country Code

5) ...... ho dñVy d godm H$a n[afXoMo AÜ¶j AgVmV.
1) ^maVr¶ [aPìh© ~±Ho$Mm JìhZ©a 2) H|$Ðr¶ {dÎm ‘§Ìr
3) ‘w»¶ g{Md, {dÎm {d^mJ 4) n§VàYmZ

5) .......... is the Chairperson of GST Council.

1) Governor of RBI 2) Union Finance Minister

3) Chief Secretary, Finance Department 4) Prime Minister

6) dñVy Am{U godm H$am‘Ü¶o Imbrbn¡H$s H$moUVm H$a A§V©̂ yV hmoV Zmhr?
1) godm H$a 2) A~H$mar H$a 3) H|$Ðr¶ {dH«$s H$a 4) gr‘m ewëH$

6) Which tax is not subsumed under GST ?

1) Service Tax 2) Excise Duty

3) Central Sales Tax 4) Customs Duty

7) 1994-95 ‘Ü¶o godm H$a gwédmVrbm ’$º$ VrZ god|da AmH$mabm OmV hmoVm Ë¶m godm ...... ¶m AmhoV.
A) XÿaÜdZr godm ~) eoAg© ~«moH$s̈J H$) hm°Q>ob godm 4) gd©gmYmaU {d‘m
n¶m©¶r CÎmao …
1) ’$º$ A, ~ Am{U H$ 2) ’$º$ A, H$ Am{U S> 3) ’$º$ A, ~ Am{U S> 4) ’$º$ ~, H$ Am{U S>

7) The Service Tax introduced in 1994 — 95 was applicable only on three services, which were ;

a) Telephone services b) Share broking c) Hotel services d) General insurance

Answer Options :

1) Only a, b and c 2) Only a, c and d 3) Only a, b and d 4) Only b, c and d
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8) Imbrb {dYmZo {dMmamV ¿¶m …
A) 1 E{àb, 2005 nmgyZ ^maVmV ìh°Q> bmJy H$aÊ¶mV Ambm hmoVm.
~) Oå‘y Am{U H$mí‘raMm H|$Ðem{gV àXoe dJiVm gd© amÁ¶o/H|$Ðem{gV àXoem§Zr ìh°Q> bmJy Ho$bm hmoVm.
darbn¡H$s H$moUVo/Vr {dYmZ/Zo ¶mo½¶ Amho/V?
n¶m©¶r CÎmao …
1) Ho$di A ¶mo½¶ Amho 2) Ho$di ~ ¶mo½¶ Amho
3) XmoÝhr A Am{U ~ ¶mo½¶ AmhoV 4) XmoÝhr A Am{U ~ A¶mo½¶ AmhoV

8) Consider the following statements :

a) VAT was introduced in India from 1st April, 2005.

b) VAT was introduced by all States/Union Territories except the Union Territories of Jammu and

Kashmir.

Which of the above statements is/are correct ?

Answer Options :

1) Only a is correct 2) Only b is correct

3) Both a and b are correct 4) Both a and b are incorrect

3) H$agwYmaUm g{‘Ë¶m - amÁ¶ nmVirdarc H$agwYmaUm
1) Ho$iH$a H$m¶©Xb g{‘VrZo H$a gwYmaUm {e’$maer df© ...... ‘Ü¶o gmXa Ho$ë¶m.

1) 2002 2) 2004 3) 2006 4) 2017
1) The Kelkar Task Force Committee recommended tax reforms recommendations in the year

1) 2002 2) 2004 3) 2006 4) 2017

2) H$aMwH$do{Jar {damoYmVrb gm‘mÝ¶ {Z¶‘mdbr‘Ü¶o gwYmaUm gwM{dÊ¶mgmR>r J{R>V Ho$boë¶m nmW©gmaWr emo‘ g{‘VrZo
(AmT>mdm) Amnë¶m {e’$maer ............. amoOr gmXa Ho$ë¶m.
1) 1 gßQ>|~a, 2012 2) 16 Am°³Q>mo~a, 2007
3) 28 OyZ, 2012 4) 14 Owb¡, 2012

2) Parth Sarthi Shyom Committee (Review) has submitted their recommendations for General

Anti-Avoidance Rules (GAAR) on

1) 1st September, 2012 2) 16 October, 2007

3) 28th June, 2012 4) 14 July, 2012

3) H$a {df¶H$ gwYmaUm H$aÊ¶mgmR>r ^maVmV H$moUË¶m g{‘Ë¶m ñWmnZ H$aÊ¶mV Amë¶m?
A) Mobæ¶m g{‘Vr ~) EZ. Ho$. Pm g{‘Vr H$) ŷVqbJ‘ g{‘Vr S>) dm§ÀNy> g{‘Vr
n¶m©¶r CÎmao …

1) ’$º$ A 2) ’$º$ ~ 3) ’$º$ H$ Am{U S> 4) ¶mn¡H$s gd©
3) Which committees were appointed for tax reforms in India ?

a) Chelayya Committee b) N. K. Zaa Committee

c) Bhutlingam Committee d) Wanchhu Committee

Answer Options :

1) Only a 2) Only b 3) Only c and d 4) All of the above
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4) Ho$iH$a H$m¶©Xb g{‘VrZo Imbrb {e’$maer Ho$ë¶m …
a) à‘m{UV dOmdQ> nÕV aÔ Ho$br nm{hOo. b) ~MV Am{U ì¶mOmdarb gdbV aÔ H$amdr.
c) n°Z H«$‘m§H$ Amdí¶H$ H$amdm. d) gwYmarV ‘yë¶d¥Õr H$a ¶moOZm.
n¶m©¶r CÎmao …
1) (a) ’$º$ 2) (b) ’$º$ 3) (a), (b) Am{U (c) 4) ¶mn¡H$s gd©

4) Kelkar task force committee recommended following recommendation :

a) Standard deduction system should be cancelled.

b) Exemption on saving and interest should be cancelled,

c) PAN number should be compulsory,

d) Modified value added tax.

Answer options :

1) (a) only 2) (b) only 3) (a), (b) and (c) 4) All above

5) Imbrbn¡H$s H$moUË¶m H$am Mr àmo’o$ga H$mëS>moa ¶m§Zr {e’$mag Ho$br hmoVr?
1) g§nÎmr H$a 2) ‘mb‘Îmm ewëH$ 3) XoUJr H$a 4) godm H$a

5) Which of the following taxes was recommended by Prof. Kaldor ?

1) Wealth Tax 2) Estate Duty 3) Gift Tax 4) Service Tax

4) ^maVmVrc H|$Ð d amÁ¶mVrc gmd©O{ZH$ F$U - aMZm Am{U ^ma
1) gmd©O{ZH$ H$Om©Mm n[aUm‘ Imbrb ~m~tda hmoVmo …

a) qH$‘V b) CËnÞ d g§nÎmr dmQ>Ur c) H$admT> d) {dH$mg
n¶m©¶r CÎmao …
1) (a) ’$º$ 2) (b) ’$º$ 3) (a), (b) Am{U (c) 4) darb gd©

1) Public debt affects on the following things :

a) Price b) Income and Wealth Distribution

c) Increase of Tax d) Development

Answer options :

1) (a) only 2) (b) only 3) (a), (b) and (c) 4) All above

2) Imbrbn¡H$s gmd©O{ZH$ H$Om©Mo ‘mJ© H$moUVo ?
a) ~mOma H$O} b) H$O©amoIo c) amOH$mofr¶ hþ§S>çm d) VmËnwaVr CMb
n¶m©¶r CÎmao …
1) (a) ’$º$ 2) (b) Am{U (c) 3) ¶mn¡H$s Zmhr 4) ¶mn¡H$s gd©

2) Which of the following are the sources of public debt ?

a) Market Loans b) Bonds c) Treasury Bills d) Temporary Advances

Answer options :

1) (a) only 2) (b) and (9) 3) None of these 4) All above
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3) A§VJ©V H$O© Imbrb Jmoï>ter g§~§{YV AgVo …
a) Iwë¶m ~mOmamVyZ H$O©C^maUr
b) ^maVr¶ [aPìh© ~±Ho$Zo {ZJ©{‘V Ho$bobo {deof H$O© amoIo
c) C^¶njr VO~rO
n¶m©¶r CÎmao …
1) (a) Am{U (b) {dYmZo ~amo~a AmhoV. 2) (a), (b) Am{U (c) {dYmZo ~amo~a AmhoV.
3) (a) Am{U (c) {dYmZo ~amo~a AmhoV. 4) (b) Am{U (c) {dYmZo ~amo~a AmhoV.

3) Internal debt refers to the following things :

a) Loans raised in the open market

b) Special securities issued by the Reserve Bank of India

c) Bilateral arrangements

Answer Options :

1) Statements (a) and (b) are correct 2) Statements (a), (b) and (c) are correct

3) Statements (a) and (c) are correct 4) Statements (b) and (c) are correct

5) {dÎm Am¶moJ
1) Mm¡Xmì¶m {dÎm Am¶moJmMr ñWmnZm ¶m§À¶m AÜ¶jVoImbr H$aÊ¶mV Ambr …

1) gr. a§JamOZ 2) amOm Mobæ¶m 3) AéU OoQ>br 4) dm¶. ìhr. aoÈ>r
1) The Fourteenth Finance Commission was set up under the Chairmanship of

1) C, Rangarajan 2) Raja Chelliah 3) Arun Jaitley 4) Y. V. Reddy

2) ^maVmVrb {dÎm Am¶moJ d Ë¶m§Mo AÜ¶j Imbr XoÊ¶mV Ambo AmhoV. ¶mo½¶ OmoS>çm Owidm …
ñV§̂  I            ñV§̂  II

a) dm¶.~r. MìhmU i) 15 dm {dÎm Am¶moJ
b) EZ. Ho$. qgJ ii) 12 dm {dÎm Am¶moJ
c) gr. a§JamOZ iii) 8 dm {dÎm Am¶moJ
d) ‘hmdra Ë¶mJr iv) 5 dm {dÎm Am¶moJ
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (i) (ii) (iv) (iii)

2) (iii) (i) (ii) (iv)

3) (iv) (iii) (i) (ii)

4) (ii) (iv) (iii) (i)

2) Finance Commissions of India and their Chairmen are given below. Match the correct pair :

Column I                   Column II

a) Y.B. Chavan i) 15 th Finance Commission

b) N.K. Singh ii)12 th Finance Commission

c) C. Rangarajan iii)8 th Finance Commission

d) Mahaveer Tyagi iv) 5 th Finance Commission
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Answer Options :

(a) (b) (c) (d)

1) (i) (ii) (iv) (iii)

2) (iii) (i) (ii) (iv)

3) (iv) (iii) (i) (ii)

4) (ii) (iv) (iii) (i)

3) H|$Ðr¶ CËnmXZ ewëH$mMr amÁ¶m§‘Yrb dmQ>UrgmR>r gmVì¶m {dÎm Am¶moJmÀ¶m g§X^m©V Imbrb {dYmZo {dMmamV ¿¶m.
a) bmoH$g§»¶ogmR>r 25 Q> o̧$ ^ma
b) àË¶oH$ amÁ¶mVrb J[a~m§gmR>r 33.5 Q> o̧$ ^ma
c) amÁ¶m§À¶m XaS>moB© CËnÞmÀ¶m dmT>rgmR>r 16.5 Q> o̧$ ^ma
d) amÁ¶m§‘Yrb CËnÞm§À¶m g‘mZVogmR>r 25 Q> o̧$ ^ma.
darbn¡H$s H$moUVo/Vr {dYmZ/Zo ¶mo½¶ AmhoV?
1) Ho$di (a) Am{U (d) ¶mo½¶ AmhoV. 2) Ho$di (b) Am{U (c) ¶mo½¶ AmhoV.
3) Ho$di (a), (b) Am{U (c) ¶mo½¶ AmhoV. 4) Ho$di (a), (c) Am{U (d) ¶mo½¶ AmhoV.

3) Consider the following statements in the context of Seventh Finance Commission for distribution

of the states share of the central excise duty :

a) 25 percent weightage for population.

b) 33.5 percent weightage for poor in each state.

c) 16.5 percent weightage for increase in the per capita income of the state.

d) 25 percent weightage for income equilisation between state.

Which of the statement/s given above is / are correct ?

1) Only (a) and (d) are correct 2) Only (b) and (c) a are correct

3) Only (a), (b) and (c) are correct 4) Only (a), (c) and (d) are correct

6) H|$Ð d amÁ¶mMr gmd©O{ZH$ IM© dmT>, gmd©O{ZH$ IM© gwYmaUm
1) Imbrbn¡H$s H$moUVm IM© hm J¡a-{dH$mg IM© Zmhr ?

1) g§ajU 2) nmobrg 3) ì¶mO XoUr 4) d¡ÚH$s¶ gw{dYm
1) Which of the following is not Non-development expenditure ?

1) Defence 2) Police 3) Interest payments 4) Medical facilities

2) 1887-88 Z§Va H|$Ð gaH$maMo gmd©O{ZH$ IMm©Mo dJuH$aU Imbrb àH$mao Ho$bo OmVo.
1) g§ajUIM© Am{U ZmJar IM© 2) {dH$mg Am{U {dH$mgoVa IM©
3) ‘hgwcr Am{U ^m§S>dbr IM© 4) Mmby IM© Am{U ^m§S>dbr IM©

2) Central Govt. Public expenditure classification is of following type after 1987-88.

1) Defence expenditure and Civil expenditure

2) Development and non-development expenditure

3) Revenue and capital expenditure

4) Current and capital expenditure
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3) H$moUË¶mhr emgZmÀ¶m gmd©O{ZH$ IMmMr àd¥Îmr nwT>rbà‘mUo AgVo :
1) pñWa 2) dmT>Vm 3) KQ>Vm 4) ~XbVm (MT>CVma)

3) Public Expenditure of any Government shows following trend :

1) Constant 2) Increasing 3) Decreasing 4) Fluctuating

4) gmd©O{ZH$ Am¶ì¶¶mMm Imbrbn¡H$s H$moUVm {d^mJ Amho ?
a) gmd©O{ZH$ IM© b) gmd©O{ZH$ CËnÞ c) gmd©O{ZH$ H$O© d) gmd©O{ZH$ ñdmñÏ¶
darbn¡H$s H$moUVo {dYmZ / {dYmZo ~amo~a Amho / V ?
1) ’$º$ a 2) a Am{U b 3) a, b Am{U c 4) a, b Am{U d

4) Which of the following is the department of Public Finance ?

a) Public Expenditure b) Public Revenue b) Public Debt d) Public Health

Which of the above statement/s is/are correct ?

1) Only (a) 2) (a) and (b) 3) (a), (b) and (c) 4) (a), (b) and (d)

5) .......... hr ^maVmVrb gmd©O{ZH$ IMm©‘Ü¶o dmT> hmoÊ¶mMr H$maUo AmhoV.
a) bmoH$g§»¶m dmT> b) ZmJarH$aU
c) àemgH$s¶ ¶§ÌUm§Mm {dñVma d) {dH$mgmMo àH$ën
n¶m©¶r CÎmao …
1) (a), (b) Am{U (d) 2) (b), (c) Am{U (d)

3) (a), (b) Am{U (c) 4) (a), (b), (c) Am{U (d)

5) are the causes of the rise in public expenditure in India.

a) Population Growth b) Urbanisation

c) Expansion of Administrative Machinery d) Development Project

Answer Options :

1) (a), (b) and (d) 2) (b), (c) and (d)

3) (a), (b) and (c) 4) (a), (b), (c) and (d)

6) H|$Ð gaH$maÀ¶m ^m§S>dbr IMm©V ...... ¶m ~m~tMm g‘mdoe hmoVmo.
A) amÁ¶ gaH$mam§Zm H$O} ~) Am{W©H$ {dH$mgmgmR>rMm ^m§S>dbr IM©
H$) àemgH$s¶ IM© S>) {dXoer gaH$mam§Zm H$O}
¶mo½¶ CÎmao {ZdS>m.
n¶m©¶r CÎmao …
1) ’$º$ ~, H$ Am{U S> 2) ’$º$ A, H$ Am{U S> 3) ’$º$ A, ~ Am{U S> 4) ’$º$ A, ~ Am{U H$

6) The capital expenditure of the Central Government consists of ......

a) Loans to State Governments b) Capital expenditure on economic development

c) Expenditure on administration d) Loans to Foreign Governments

Choose correct answers.

Answer Options :

1) Only b, c and d 2) Only a, c and d 3) Only a, b and d 4) Only a, b and c
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7) H|$Ð gaH$maÀ¶m ‘hgwbr IMm©er Imbrbn¡H$s H$moUË¶m ~m~r g§~§{YV AmhoV?
A) Mmby H$a ~) ^m§S>dbr àmár H$) H$O} S>) Am{W©H$ {dH$mg
n¶m©¶r CÎmao …
1) ’$º$ A 2) ’$º$ A Am{U ~ 3) ’$º$ ~ 4) darbn¡H$s H$moUVohr Zmhr

7) Which of the following are related to revenue expenditure of the Central Government ?

a) Current taxation b) Capital receipts

c) Loans d) Economic development

Answer Options :

1) Only a 2) Only a and b 3) Only b 4) None of the above

7) ^maVmVrc amOH$mofr¶ gwYmaUm - H|$Ð d amÁ¶ñVamdarc AmT>mdm
1) E’$ Ama ~r E‘ H$m¶Xm Ho$ìhm nmgyZ bmJy H$aÊ¶mV Ambm ?

1) OmZodmar 17, 2000 2) {S>g|~a 30, 2003
3) OyZ 15, 2005 4) Owb¡ 5, 2004

1) When was the FRBM Act brought into effect ?

1) January 17, 2000 2) December 30, 2003

3) June 15, 2005 4) July 5, 2004

2) IM© ì¶dñWmnZ Am¶moJ (EMC) Mr ñWmnZm ¶m dfu H$aÊ¶mV Ambr …
1) 2011 2) 2014 3) 2016 4) 2020

2) Expenditure Management Commission (EMC) was constituted in the year

1) 2011 2) 2014 3) 2016 4) 2020

3) 2016 Mr EZ. Ho$. qgJ g{‘Vr hr ......... er g§~§{YV Amho.
1) ~mamdm {dÎm Am¶moJ 2) ~mamdr n§Mdm{f©H$ ¶moOZm
3) Mm¡Xmdm {dÎm Am¶moJ 4) {dÎmr¶ O~m~Xmar Am{U AW©g§H$ënr¶ ì¶dñWmnZ H$m¶Xm

3) N. K. Singh Committee of 2016 is related to .........

1) Twelfth Finance Commission

2) Twelfth Five Year Plan

3) Fourteenth Finance Commission

4) Fiscal Responsibility and Budget Management Act

4) ......... ho amÁ¶ gaH$mam§Mo ^maV gaH$maH$Sy>Z {‘iUmè¶m ‘hgwcmMo à‘wI gmYZ Zmhr.
1) H|$Ðr¶ H$amVrb {hñgm 2) H$O} Am{U AmJmD$ aH$‘m
3) H|$Ðr¶ AZwXmZ 4) darbn¡H$s H$moUVohr Zmhr

4) ............ is not the major revenue source of State Government

1) Share in Central Taxes 2) Loans and Advances

3) Central Grants 4) None of these
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5) KQ>H$amÁ¶m§Zm OmñV {dÎmr¶ ñdm¶ÎmVm XoÊ¶gmR>r ............ Mr {e’$mag ¶mo½¶ R>aob.
a) g§Kr¶ ì¶dñWoV ñdV§Ì {dÎmr¶ àm{YH$aU Agmdo.
b) àË¶oH$ gaH$macm ñdV§Ì ‘hgyc gmYZo AgmdrV.
c) H$a AmH$maÊ¶mMo ñdmV§Í¶ Agmdo.
d) g§Kr¶ H$a ‘hgwcmMo H|$Ð d amÁ¶ gaH$mam§V g‘mZ dmQ>n ìhmdo.
n¶m©¶r CÎmao :
1) (a) ’$º$ 2) (a) Am{U ((b) ’$º$
3) (a), (b) Am{U (c) ’$º$ 4) darcn¡H$s gd©

5) The recommendation of ......... to give more fiscal autonomy to the constituent states, would be

appropriate.

a) Independent financial authority in a federal system.

b) Separate /Independent sources of revenue for each government

c) Freedom to levy taxes

d) Equal distribution of federal revenue between central and state government

Answer Options :

1) (a) only 2) (a) and (b) only

3) (a), (b) and (c) only 4) All of the above

6) Imbrbn¡H$s {dÎmr¶ O~m~Xmar Am{U A§XmOnÌH$ ì¶dñWmnZ H$m¶Xm, 2003 Mr H$moUVr C{ÔîQ>o/C{ÔîQ>ço Amho/
AmhoV?
A) H$mb~Õ H$m¶©H«$‘m§VJ©V gaH$mar H$Om©da ‘¶m©Xm {ZpíMV H$aUo.
~) ‘hgwbr VyQ> eyÝ¶ JmR>Uo Am{U {dº$s¶ VyQ> H$‘r H$aUo.
H$) XrK©H$mbrZ g‘ï>r Am{W©H$ pñWaVm gw{ZpíMV H$aÊ¶mgmR>r emgZmbm O~m~Xma ~Z{dUo.
S>) emgZmÀ¶m Am{W©H$ H$m‘H$mOmV nmaXe©H$Vm gwYmaUo.
n¶m©¶r CÎmao …
1) darbn¡H$s EH$hr Zmhr 2) darbn¡H$s gd© 3) ’$º$ A Am{U ~ 4) ’$º$ H$ Am{U S>

6) Which of the following is/are the objectives of Fiscal Responsibility and Budget Management

Act, 2003 ?

a) To set limits on government borrowings under time bound programme

b) To achieve zero revenue deficit and bring down fiscal deficits.

c) To make the government responsible for ensuring long term macroeconomic stability.

d) Improving transparency in the fiscal operations of the government.

Answer Options :

1) None of the above 2) All of the above 3) Only a and b 4) Only c and d

8) AW©g§H$ën - àH$ma, H$m‘mda AmYm[aV AW©g§H$ën, eyÝ¶mYm[aV AW©g§H$ën
1) ‘hmamï´> emgZmZo ........... ¶m dfm©nmgyZ qbJ^md AmYm[aV AW©g§H$ën nÕV ñdrH$mabr.

1) 2011 2) 2015 3) 2013 4) 2019
1) Government of Maharashtra has adopted gender budgeting from the year _ .

1) 2011 2) 2015 3) 2013 4) 2019
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2) dm¶y àXÿfUmÀ¶m dmT>Ë¶m g‘ñ¶oMm gm‘Zm H$aÊ¶mgmR>r, 2021-22 À¶m AW©g§H$ënmV 10 bmImnojm A{YH$ bmoH$g§»¶m
Agboë¶m ...... ehar H|$ÐmgmR>r é. 2217 H$moQ>r àXmZ H$aÊ¶mMm àñVmd Amho.
1) 32 2) 42 3) 52 4) 62

2) To tackle the burgeoning problem of air pollution, the 2021-22 Budget proposes to provide amount

of Rs. 2217 crore for ......... urban centres with a million-plus population.

1) 32 2) 42 3) 52 4) 62

3) ^maVmÀ¶m H|$Ðr¶ AW©g§H$ën, 2020 Zwgma H$anmÌ CËnÞmgmR>r Am¶H$a XanmVir {H$Vr Q>³³¶m§n¶ªV Amho?
1) 5% Vo 25% 2) 5% Vo 35% 3) 5% Vo 30% 4) 5% Vo 20%

3) What is the range of tax rates for taxable income as per the Union Budget, 2020 of India ?

1) 5% to 25% 2) 5% to 35% 3) 5% to 30% 4) 5% to 20%

4) H|$Ð gaH$maMr A§XmOnÌH$s¶ A§XmOmZwgma 2019-20 ‘Yrb EHy$U H$O© Xo¶Vm ......... H$moQ>r én¶o hmoVr.
1) 10,25,599 2) 1,02,55,099 3) 97,45,410 4) 509689

4) Total Loan Liabilities of central government in 2019-20 budget estimates was ........... crore rupees.

1) 1025599 2) 10255099 3) | 974541 4) 509689

5) 1993 - 94 À¶m AW©g§H$ënmV Am¶mV ewëH$mMm Xa 110 Q>³³¶mdê$Z ...... Q>³³¶mn¶ªV H$‘r H$aÊ¶mV Amcm hmoVm.
1) 30 2) 95 3) 85 4) 75

5) The 1993 - 94 budget had reduced the maximum rate of import duty from 110 percent to ......

percent.

1) 30 2) 95 3) 85 4) 75

6) H|$Ðr` AW©g§H$ën 2022 - 23 ‘Ü ò Imbrbn¡H$s H$moUVo R>iH$ d¡{eï²>` Zmhr?
1) Jhÿ Am{U Vm§XimMr IaoXr Am{U eoVH$è`m§À`m ImË`mV E‘Egnr ‘yë`mMo WoQ> no‘|Q>.
2) agm`Z‘wº$ Z¡g{J©H$ eoVrbm àmoËgmhZ.
3) "{H$gmZ S´moZ'Mm dmna.
4) eoVH$è`m§Mo CËnÞ XwßnQ> H$aUo.

6) Which of the following is not the highlight of Union Budget 2022 — 23 ?

1) Procurement of wheat and paddy and direct payment of MSP value to the farmers account.

2) Promotion of chemical-free natural farming.

3) Use of ‘Kisan Drones’.

4) Doubling farmers’ income.

7) H|$Ðr¶ AW©g§H$ën 2021-22 ‘Ü¶o H§o$Ð gaH$maÀ¶m CËnÞmMm gdm©V ‘moR>m òmoV H$moUVm Amho?
1) dñV Am{U godm H$a 2) H$O© KoUo Am{U BVa Xm{¶Ëdo
3) àmárH$a 4) H$m°nm}aoQ> H$a

7) What is the biggest source of income for the Central Government in the Union Budget 2021-22?

1) GST 2) Borrowing and other liabilities

3) Income Tax 4) Corporate Tax



‘hmamîQ´> bmoH$godm Am¶moJmÀ¶m narjogmR>r Cn¶wº$ àíZg§J«h … AW©emó / 44

For Private Circulation Only

8) g‘Vmob A§XmOnÌH$ åhUOo …
1) gmd©O{ZH$ ‘hgyb gmd©O{ZH$ IMm©nojm H$‘r AgUo.
2) gmd©O{ZH$ ‘hgyb gmd©O{ZH$ IMm©nojm OmñV AgUo.
3) gmd©O{ZH$ ‘hgyb Am{U gmd©O{ZH$ IM© g‘mZ AgUo.
4) darbn¡H$s EH$hr Zmhr.

8) What is a balance budget ?

1) Public revenue is less than public expenditure.

2) Public revenue is higher than public expenditure.

3) Public revenue and public expenditure are the same.

4) None of the above.

9) {d{Z¶moOZ {dYo¶H$ {dYr‘§S>imV ‘§Oya hmoB©n¶ªV ZdrZ dfm©À¶m H$mhr H$mcmdYrÀ¶m IMm©gmR>r {dYr‘§S>imZo ‘§Oya Ho$coë¶m
AmJmD$ AZwXmZmg H$m¶ åhUVmV ?
1) nyaH$ AZwXmZ 2) coImZwXmZ 3) AW©g§H$ënr¶ AZwXmZ 4) cmj{UH$ AZwXmZ

9) What is the advance grant sanctioned by the Legislature for the expenditure of some period of the

New Year till the passage of the Appropriation Bill in the Legislature called?

1) Supplementary Grants 2) Accounts Grants

3) Budgetary Grants 4) Symbolic Grants

10) H|$ÐdVu AW©g§H$ën hr ¶moOZm ...... {d^mJm‘m’©$V am~{dÊ¶mV ¶oVo.
1) {dÎm {d^mJ 2) {Z¶moOZ {d^mJ
3) Am{Xdmgr {dH$mg {d^mJ 4) gm‘mÝ¶ àemgZ {d^mJ

10) The Central Budget Scheme is implemented through the Department of ...

1) Finance Department 2) Planning Department

3) Tribal Development Department 4) General Administration Department

11) Imcrc {dYmZo {dMmamV KoD$Z Ë¶mImcr {Xcoë¶m CÎmamVyZ ¶mo½¶ n¶m©¶ {ZdS>m. {d{Îm¶ df©̂ amV gwYmacoco A§XmO V¶ma
H$aVmZm Imcrcn¡H$s H$moUË¶m Jmoï>r cjmV KoVë¶m nm{hOoV ?
A) Mmcy dfm©Vrc n{hë¶m 4/8/9 ‘{hÝ¶mÀ¶m àË¶j aH$‘m
~) ‘mJrc dfm©À¶m n{hë¶m 4/8/9 ‘{hÝ¶mÀ¶m àË¶j aH$‘m
H$) ‘mJrc dfm©À¶m eodQ>À¶m 8, 4 qH$dm 3 ‘{hÝ¶mÀ¶m àË¶j aH$‘m
n¶m©¶r CÎmao :
1) ’$º$ A d ~ ~amo~a 2) ’$º$ ~ d H$ ~amo~a 3) A, ~ d H$ {VÝhr ~amo~a    4) ’$º$ A d H$ ~amo~a

11) Consider the following statements and select the correct option from the answer given below.

Which of the following should be kept in mind while preparing revised estimates during the

financial year?

A) Actual amounts for the first 4/8/9 months of the current year

B) Actual amounts for the first 4/8/9 months of the previous year

C) Actual amounts for the last 8, 4 or 3 months of the previous year

Answer Options :

1) Only A and B are correct 2) Only B and C are correct

3) A, B and C are all three correct 4) Only A and C are correct
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12) 'eyÝ¶mYm[aV AW©g§H$ënm~m~V' Imbrb {dYmZo {dMmamV ¿¶m …
a) Vo A‘o[aHo$V CX¶mg Ambo d {dH${gV Pmbo.
b) 1978 ‘Ü¶o AÜ¶j {O‘r H$mQ>©a ¶m§Zr hr àUmbr A‘o[aHo$‘Ü¶o bmJy Ho$br.
c) ^maVmV hr àUmbr àW‘ 1983 ‘Ü¶o {dkmZ Am{U V§ÌkmZ {d^mJmV gwê$ H$aÊ¶mV Ambr.
d) ^maVmV hr àUmbr 1984-85 ¶m Am{W©H$ dfmªnmgyZ gd© ‘§Ìmb¶mV gwê$ H$aÊ¶mV Ambr.
darbn¡H$s H$moUVr {dYmZo gË¶ AmhoV?
1) (a), (b) Am{U (c) 2) (b), (c) Am{U (d) 3) ’$º$ (a) Am{U (b) 4) darb gd©

12) Consider the following statements about ‘Zero-based Budgeting’ :

a) It originated and was developed in the USA.

b) It was introduced in the USA by President Jimmy Carter in 1978.

c) In India, it was first introduced in the Department of Science and Technology in 1983.

d) In India, it was introduced in all Ministries during 1984 — 85 fiscal year.

Which of the statements given above are correct ?

1) (a), (b) and (c) 2) (b), (c) and (d) 3) Only (a) and (b) 4) All of the above

9) amOH$mofr¶ VyQ> - g§H$ënZm, VwQ>rMo {Z¶§ÌU, H|$Ð, amÁ¶ d [aPìh© ~±Ho$Mo CnH«$‘
1) amOH$mofr¶ VyQ> åhUOo .............

a) ‘hgwcr àmár + ^m§S>dbr àmár - EHy$U IM© b) A§XmO nÌH$s¶ VyQ> + H$O© Am{U BVa Xo¶Vm
c) ^m§S>dbr àmár - ^m§S>dbr IM© d) ‘hgwcr àmár - ‘hgwcr IM©
n¶m©¶r CÎmao …
1) (a) ’$º$ 2) (a) Am{U (b) 3) (b) ’$º$ 4) ¶mn¡H$s gd©

1) Fiscal Deficit means ............

a) Revenue Receipts + Capital Receipts — Total Expenditure

b) Budget deficit + Government market borrowings and liabilities

c) Capital Receipts — Capital Expenditure

d) Revenue Receipts — Revenue Expenditure

Answer options :

1) (a) only 2) (a) and (b) 3) (b) only 4) All above

2) A§XmOnÌH$s¶ VyQ> åhUOo ......
1) EHy$U àmár - EHy$U IM© 2) {dÎmr¶ VyQ>
3) ‘hgwbr àmár - ‘hgwbr IM© 4) àmW{‘H$ VyQ>

2) Budget deficit means ......

1) Total Receipts — Total Expenditure 2) Fiscal Deficit

3) Revenue Receipts — Revenue Expenditure 4) Primary Deficit

3) amOH$mofr¶ VyQ> Am{U df©̂ amVrb ì¶mO ^aUm ¶mVrb ’$aH$mbm ...... åhUVmV.
1) {dÎmr¶ VyQ> 2) A§XmOnÌH$ VyQ> 3) àmW{‘H$ VyQ> 4) ‘hgwbr VyQ>

3) The difference between fiscal deficit and interest payment during the year is called ........

1) Fiscal deficit 2) Budget deficit 3) Primary deficit 4) Revenue deficit
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4) H$WZ I … ""VwQ>rMm AW©̂ aUm ì¶dñWmnZ H$aÊ¶mgmR>r ~møH$O© hm CÎm‘ ‘mJ© Amho H$maU VwbZmË‘H$ ÑîQ>çm ~møH$O©
ho ñdñV Am{U XrK©H$mimgmR>r AgVo.''
H$WZ II … ""VwQ>rMm AW©̂ aUm ì¶dñWmnZ H$aÊ¶mgmR>r Xoem§VJ©V H$O© C^maUr ¶m {Vgè¶m ‘mJm©bm àmYmÝ¶ {Xbo OmVo.''
n¶m©¶r CÎmao …
1) ’$º$ H$WZ I ho gË¶ Amho 2) ’$º$ H$WZ II ho AgË¶ Amho.
3) H$WZ I Am{U II ho XmoÝhr gË¶ AmhoV. 4) H$WZ I Am{U II ho XmoÝhr AgË¶ AmhoV.

4) Statement I :

“External borrowings are the next best way to manage fiscal deficit with the condition that the

external loans are comparatively cheaper and long term.”

Statement II :

“Internal borrowings come as the third preferred route of fiscal deficit management.”

Answer Options :

1) Only statement I is true 2) Only statement II is false

3) Both statements I and II are true 4) Both statements I and II are false

5) VwQ>rMm AW©̂ aUm Ho$ë¶mMm n[aUm‘ åhUyZ ........ hmoVo.
1) qH$‘V nmVirV dmT> 2) gaH$mabm VmoQ>m 3) CËnmXZ nmVirV KQ> 4) darbn¡H$s H$moUVohr Zmhr

5) The deficit financing leads to .............

1) Rise in price level 2) Government faces loss

3) Declining output 4) None of these

10) boIm Am{U boImnarjU
1) {Z¶§ÌH$ Am{U ‘hmboIm narjH$ ¶m§Zm nwadUr boIm n[ajUmMo AmXoe XoÊ¶mMm A{YH$ma AgyZ boIm n[ajU Ahdmb

àmá Pmë¶mnmgyZ ...... {XdgmÀ¶m AmV boIm n[ajU Ahdmbmda Vo {Q>ßnUr H$ê$ eH$VmV.
1) 30 {Xdg 2) 60 {Xdg 3) 90 {Xdg 4) 120 {Xdg

1) Comptroller and Auditor General (CAG) has a right to order conduct of supplementary audit and

he may also comment upon the audit report within .......... days from the date of receipt of audit

report.

1) 30 days 2) 60 days 3) 90 days 4) 120 days

2) nm¶m ŷV gw{dYm {Z‘m©U H$aUmao {d^mJ åhUyZ ............ ¶m§Zm YZmXoemZo emgZ co»¶mVyZ WoQ> AZwXmZ Amh[aV
H$aÊ¶mMo {deof A{YH$ma XoÊ¶mMo AmXoe {dÎm {d^mJmZo {ZJ©{‘V Ho$co AmhoV.
1) gm‘mÝ¶ àemgZ d {dÎm {d^mJ 2) Ocg§nXm d ‘hgyc {d^mJ$
3) Ocg§nXm d gmd©O{ZH$ ~m§YH$m‘ {d^mJ 4) ‘hgyc d gm‘mÝ¶ àemgZ {d^mJ

2) Finance Department has issued an order giving special authority to ............ as infrastructure building

department to draw subsidy directly from Government Accounts by cheque.

1) General Administration and Finance Department

2) Water Resources and Revenue Department

3) Water Resources and Public Works Department

4) Revenue and General Administration Department
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(12) ^maVmMm {dXoer ì`mnma - AmH$ma‘mZ, {Xem Am{U aMZm,
Am§Vaamḯ>r` ^m§S>db

1)  {dXoer ì`mnma - g§H$ënZm, ì`dhmaVmoc, ì`mnmaeof d {dXoer McZ gmR>m
2) OmJ{VH$ ì`mnma g§KQ>Zm - VaVwXr, gwYmaUm Am{U ̂ maVr¶ AW©ì¶dñWodarc Ano{jV n[aUm‘, àíZ d g‘ñ¶m
3) ^maVmÀ¶m Am§Vaamï´>r¶ ì¶mnmamMr {Xem, AmH$ma‘mZ> d aMZm
4) ^maVr¶ Am§Vaamï´>r¶ ì¶mnmamMo YmoaU, {Z¶m©VrVrc dmT>
5) naH$s` Jw§VdUyH$ - Am§Vaamï´>r¶ ì¶mnma {dXoer ^m§S>dcmMm A§Vàdmh, aMZm d dmT>,
6) ~hþAm§Vaamï´>r¶ ̂ m§S>dc nwa{dUmè¶m g§ñWm - Am¶E‘E’$, OmJ{VH$ ~±H$, B§Q>aZ°eZc H«o$S>rQ> aoQ>tJ

1) g§H$ënZm -ì`dhmaVmoc, ì`mnmaeof d {dXoer McZ gmR>m
1) ^maVmMm OyZ 1991 ‘Yrc naH$s¶ McZ gmR>m ......... hmoVm.

1) 1.1 AãO S>m°ca 2) 10.1 AãO S>m°ca 3) 20.1 AãO S>m°ca 4) 20.5 AãO S>m°ca
1) India's Foreign Exchange Reserve was ............ in June 1991.

1) 1.1 billion dollars 2) 10.1 billion dollars 3) 20.1 billion dollars 4) 20.5 billion dollars

2) {~«³g ~±Ho$Mo g§ñWmnH$ Xoe H$moUVo?
a) ~«mPrb, a{e¶m, ^maV b) MrZ, X{jU Am{’«$H$m
c) OnmZ, O‘©Zr, pñdËPbªS> d) ~opëO¶‘, X{jU H$mo[a¶m
darbn¡H$s H$moUVo {dYmZ/{dYmZo ~amo~a AmhoV?
1) ’$º$ (a) 2) (a) Am{U (b) 3) (a), (b) Am{U (c) 4) (a), (b) Am{U (d)

2) Which are the founder countries of BRICS BANK ?

a) Brazil, Russia, India b) China, South Africa

c) Japan, Germany, Switzerland d) Belgium, South Corea

Which of the above statements are correct ?

1) Only (a) 2) (a) and (b) 3) (a), (b) and (c) 4) (a), (b) and (d)

3) Imbrb {dYmZo {dMmamV ¿¶m.
A)Am§Vaamï´>r¶ ì¶mnma hm Xoe-XoemVrb dñVy Am{U godm§À¶m {H$‘Vr‘Yrb ’$aH$m§da AmYm[aV AgVmo.
~) ì¶mnmamÀ¶m AQ>r dñVyÀ¶m {Z¶m©V Am{U Am¶mVrÀ¶m {d{Z‘¶ JwUmoÎma qH$dm Ë¶mÀ¶m qH$‘VrÀ¶m JwUmoÎmamÀ¶m g§X^m©V

KoVmV.
H$) Am§Vaamï´>r¶ ì¶mnmamVrb ì¶dhmaeofmÀ¶m Zm|Xr Xþhoar Zm|X nÕVrZo Ho$ë¶m OmVmV.
n¶m©¶r CÎmao …
1) darb gd© 2) ’$º$ A 3) ’$º$ H$ 4) ’$º$ A Am{U ~

3) Consider the following statements :

a. International trade is based on differences in prices of goods and services from country to

country.

b. The terms of trade refer to the exchange ratio of export and import goods or their price ratio.

c. The Balance of Payments record in International Trade is maintained in a standard double entry

book-keeping method.
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Which of the statements given above is/are correct ?

Answer Options :

(l)  All of the above (2) Only a (3) Only c (4) Only a and b

4) nwT>rcn¡H$s H$moUVr ‘mJUr ì¶mnma Am{U {dH$mg ¶m {df¶m§da g§¶wº$ amï´>m§Mr n[afX UNCTAD À¶m ì`mgnrR>mdê$Z
{Vgè¶m OJmVrc Xoem§V’}$ 1960 d 1970 À¶m XeH$mV Ho$cr Jocr ?
1) ZdrZ Am§Vaamï´>r¶ Am{W©H$ ì¶dñWm 2) ZdrZ Am§Vaamï´>r¶ ‘m{hVr ì¶dñWm
3) ZdrZ OmJ{VH$ ì¶dñWm 4) g§¶wº$ OmJ{VH$ ì¶dñWm

4) Which of the following demands was being articulated on the platforms of the United Nations

Convention on Trade and Development, UNCTAD towards Third World countries in the 1960s

and 1970s ?

1) New International Economic Order, NIEO

2) New International Information Order, NIIO

3) New World Order

4) Joint World Order

5) Imbr {Xboë¶m ‘m{hVrÀ¶m AmYmao g§ñWm AmoiIm …
A) ¶mMr ñWmnZm 1999 ‘Ü¶o Pmbr.
~) ¶mMr ñWmnZm 1997-99 ‘Yrb OmJ{VH$ Am{W©H$ g§H$Q>m‘wio CX²̂ dboë¶m Am{W©H$ n[apñWVrda Cnm¶ emoYÊ¶mgmR>r Pmbr.
H$) hm EH$ Am§Va-gaH$mar ‘§M Amho (‘Ü¶‘ CËnÞ Xoem§gmR>rMm)
S>) ¶mMr {Z{‘©Vr Am§Vaamï´>r¶ Am{W©H$ pñWaVm àmá H$aÊ¶mgmR>rÀ¶m YmoaUm§da MMm© H$aÊ¶mgmR>r Pmbr.
n¶m©¶r CÎmao …
1) OmJ{VH$ ~±H$ 2) Or 20 3) Am{e¶mB© {dH$mg ~±H$ 4) Or 7

5) Identify the institution from the following information :

a) It was formed in 1999.

b) It was formed to find a solution to the situation that resulted from the global financial crisis of

1997 — 99.

c) Itis an intergovernmental forum involving middle income countries.

d) It is formed for discussing policies to achieve international financial stability.

Answer Options :

1) The World Bank 2) The G20

3) The Asian Development Bank 4) The G7

6) Imbrbn¡H$s H$moUVr {dYmZo 'àmXo{eH$ gd©g‘mdoeH$ Am{W©H$ ^mJrXmar' H$amam~m~V ~amo~a AmhoV?
A) ^maV 2012 ‘Ü¶o Ooìhm H$amam~m~V dmQ>mKmQ>r gwê$ Pmë¶m Voìhm ¶mV gm‘rb hmoVm na§Vw 2019 ‘Ü¶o ¶mVyZ ~mhoa

nS>bm.
~) Zmoìh|~a 2020 ‘Ü¶o ¶m H$amamda ñdmjar Pmbr.
H$) ¶mV Ho$di Am{g¶mZ (ASEAN) gXñ¶ Xoem§Mm g‘mdoe Amho.
S>) ho B©-H$m°‘g© {dH$mgmgh Jw§VdUyH$ ì¶mnma Am{U godm§Zm àmoËgmhZ XoUmè¶m VaVwXtgh OJmVrb gdm©V ‘moR>o '‘wº$

ì¶mnma joÌ' ñWm{nV H$aVo.
n¶m©¶r CÎmao …
1) ’$º$ A Am{U S> ~amo~a AmhoV 2) ’$º$ ~, H$ Am{U S> ~amo~a AmhoV
3) ’$º$ A, ~ Am{U H$ ~amo~a AmhoV 4) ’$º$ A, ~ Am{U S> ~amo~a AmhoV
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6) Which of the following statements are correct regarding ‘Regional Comprehensive Economic

Partnership (RCEP)’ Agreement ?

a) In 2012, India was a part of the negotiations, but opted out in 2019.

b) It was signed in November 2020.

c) It includes only ASEAN nations.

d) It establishes the world’s largest ‘Free Trade Area’ with provisions promoting investment, trade

and services including e-commerce development.

Answer Options :

1) Only a and d are correct 2) Only b, c and d are correct

3) Only a, b and c are correct 4) Only a, b and d are correct

7) SAARC Mr Imbrb à‘wI C{ÔîQ>ço AmhoV …
a) g§~§{YV àXoemVrb bmoH$m§À¶m gm§ñH¥${VH$ {dH$mgmbm Am{U gm‘m{OH$-Am{W©H$ H$ë¶mUmbm àmoËgmhZ XoUo.
b) gm‘y{hH$ AmË‘{Z ©̂aVoMo bú¶ gmÜ¶ H$aUo.
c) ‘wº$ àmXo{eH$ ì¶mnmamMm {dH$mg H$aUo.
n¶m©¶r CÎmao …
1) (a) Am{U (b) {dYmZo ¶mo½¶ AmhoV. 2) (a) Am{U (c) {dYmZo ¶mo½¶ AmhoV.
3) (b) Am{U (c) {dYmZo ¶mo½¶ AmhoV. 4) (a), (b) Am{U (c) {dYmZo ¶mo½¶ AmhoV.

7) Following are the main objectives of SAARC :

a) To promote the socio-economic welfare and cultural development of the people in the

concerned region.

b) To achieve the goal of collective self-reliance.

c) To develop free regional trade.

Answer Options :

1) Statements (a) and (b) are correct 2) Statements (a) and (c) are correct

3) Statements (b) and (c) are correct 4) Statements (a), (b) and (c) are correct

2) OmJ{VH$ ì`mnma g§KQ>Zm - VaVwXr, gwYmaUm Am{U ^maVr¶ AW©ì¶dñWodarc Ano{jV
n[aUm‘, àíZ d g‘ñ¶m

1) n{hë`m§Xm 23 Xoem§Zr GATT da H$Yr ñdmjar Ho$br?
1) 1946 2) 1945 3) 1948 4) 1949

1) When was GATT signed by 23 countries for the first time ?

1) 1946 2) 1945 3) 1948 4) 1949

2) OmJ{VH$ ì¶mnma g§KQ>Zm H$ama Ho$ìhm A§‘cmV Ambm?
1) 1 OmZodmar, 1991 2) 5 ’o$~«wdmar, 1994 3) 1 OmZodmar, 1995 4) 26 OmZodmar, 1996

2) When did World Trade Organisation Agreement come into effect ?

1) 1st January, 1991 2) 5th February, 1994 3) 1st January, 1995 4) 26th January, 1996
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3) J°Q>Mm CÎmam{YH$mar åhUyZ OmJ{VH$ ì¶mnma g§KQ>ZoMr ñWmnZm ...... amoOr Pmbr.
1) 1 OmZodmar, 1957 2) 1 OmZodmar, 1991 3) 1 OmZodmar, 1995 4) 1 OmZodmar, 1998

3) World Trade Organisation (WTO) was established as the successor to the GATT on

1) 15 January, 1957 2) 1 January, 1991

3) 18 January, 1995 4) 15 January,1998

4) OmJ{VH$ ì¶mnma g§KQ>ZoMm à{V{ZYr åhUyZ ^maVmZo Amnë¶m ~m§Yrb (~mÜ`-~mD§$S>) OH$mVt‘Ü¶o nwT>rb à‘mUo dmT>
Ho$br ?
(i) 6% dê$Z 67% (ii) 5% dê$Z 55% (iii) 7% dê$Z 77%
n¶m©¶r CÎmao …
1) (iii) 2) (i) 3) (ii) 4) darbn¡H$s Hw$R>bohr Zmhr

4) As a member of the WTO India increased its bound tariff lines from :

(i) 6%to 6/% (ii) 5% to 55% (iii) 7%to 77%

Answer options :

1) (iii) 2) (i) 3) (ii) 4) None of the above

5) Q´>rßg (TRIPS) A§VJ©V AÞ, Am¡fYo Am{U amgm¶{ZH$ CËnmXZo ¶m§Zm ...... dfm©gmR>r H$m°nramB©Q> d BVa A{YH$mam§Mo
g§ajU {‘iVo.
1) 20 2) 50 3) 30 4) 25

5) Under the TRIPS, food, medicines and chemical products have ...... years protection of copyright

and related rights.

1) 20 2) 50 3) 30 4) 25

6) Imbrbn¡H$s H$moU WTO Mo ‘hmg§MmbH$ AmhoV ?
1) am°~Q>m} APo~oS>mo 2) nmñH$b bo‘r 3) gwnmMmB© nZrMnmH$S>r 4) EZJmoPr AmoH$moÝOmo-B~obm

6) Who amongst the following is the Director General of WTO ?

(1) Roberto Azevedo (2) Pascal Lamy

(3) Supachai Panitchpakdi (4) Ngozi Okonjo-Iweala

7) OmoS>çm OwidyZ ¶mo½¶ n¶m©¶ {ZdS>m.
OmJ{VH$ ì¶mnma g§KQ>ZoÀ¶m ‘§ÌrñVar¶ n[afXm
(n[afXoMo {R>H$mU) (n[afXoMo df©)
a) Z¡amo~r i) 2013
b) {OZoìhm ii) 2015
c) hm±JH$m±J iii) 2022
d) ~mbr iv) 2005
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (iv) (iii) (ii) (i)

2) (ii) (iii) (iv) (i)

3) (iii) (ii) (iv) (i)

4) (i) (ii) (iii) (iv)
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7) Match the following and choose the correct code.

Minister level conferences of WTO

(Conference Venue) (Conference Year)

a) Nairobi i) 2013

b) Geneva ii) 2015

c) Hongkong iii) 2022

d) Bali iv) 2005

Answer Options :

(a) (b) (c) (d)

1) (iv) (iii) (ii) (i)

2) (ii) (iii) (iv) (i)

3) (iii) (ii) (iv) (i)

4) (i) (ii) (iii) (iv)

8) gZ 2015 ‘Ü¶o OmJ{VH$ ì¶mnma g§KQ>ZoMr Xhmdr ‘§Ìr n[afX ...... ¶oWo ^abobr hmoVr.
1) hm±JH$m±J 2) qgJmnya 3) Z¡amo~r 4) B§S>moZo{e¶m

8) The WTO’s Tenth Ministerial Conference was held at ...... in 2015.

1) Hongkong 2) Singapore 3) Nairobi 4) Indonesia

9) OmJ{VH$ ì¶mnma g§KQ>ZoMo ‘w»¶mc¶ ............. ¶oWo Amho.
1) ’«$mÝg 2) ¶w. Ho$. 3) a{e¶m 4) {OZoìhm

9) The Headquarter of World Trade Organization is at .............

1) France 2) U. K. 3) Russia 4) Geneva

10) OmJ{VH$ ì¶mnma g§KQ>ZoMo (WTO) gdm}ƒ A{YH$ma .............. bm AmhoV.
1) {ddmX g‘PmoVm ‘§S>i 2) ‘§{Ì‘§S>i n[afX 3) ‘hmg§MmbH$ 4) gd©gmYmaU ‘§S>i

10) The Supreme authority of WTO is .....................

1) Dispute Settlement Body 2) Ministerial Conference

3) Director General 3) General Council

11) OmJ{VH$ ì¶mnma g§KQ>Zm (WTO) ...... ì¶mnmambm àmoËgmhZ XoVo.
1) {Ûnjr¶ 2) ~hþnjr¶ 3) (1) Am{U (2) 4) darbn¡H$s EH$hr Zmhr

11) World Trade Organisation (WTO) promotes trade.

1) Bilateral 2) Multilateral 3) Both (1) and (2) 4) None of these

12) OmJ{VH$ ì¶mnma g§KQ>ZoA§VJ©V, ì¶mnmamg§~§Yr ~m¡{ÕH$ g§nXm h¸$m‘Ü¶o ...... Mm g‘mdoe hmoVmo.
1) H$m°nramB©Q> 2) noQ>§Q> 3) ì¶mnma Jw{nVo 4) darb gd©

12) Under WTO, Trade Related Intellectual Property Rights (TRIPs) covers

(1) Copyright (2) Patents (3) Trade secrets (4) All of the above

13) OmJ{VH$ ì¶mnma g§KQ>ZoV Imbrbn¡H$s H$moUVo KQ>H$ g‘m{dï> AmhoV?
A) ~±qH$J Am{U {d‘m ~) H¥$fr CËnmXZo
H$) noQ>§Q> Am{U Am¡Úmo{JH$ {S>PmBZ S>) Am¡fYo Am{U amgm¶{ZH$ CËnmXZo
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n¶m©¶r CÎmao …
1) ’$º$ A Am{U ~ 2) ’$º$ H$ Am{U S> 3) ’$º$ A, ~ Am{U H$ 4) darbn¡H$s gd©

13) Which of the following aspects are included in the World Trade Organisation ?

a) Banking and Insurance b) Agricultural Products

c) Patents and Industrial Designs d) Drugs and Chemical Products

Answer Options :

1) Only a and b 2) Only c and d 3) Only a, b and c 4) All of the above

14) OmJ{VH$ ì¶mnma g§KQ>ZoÀ¶m g§X^m©V Imbrb {dYmZo {dMmamV ¿¶m …
A) OmJ{VH$ ì¶mnma g§KQ>ZoMm CÔoe Am§Vaamï´>r¶ ì¶mnmamdarb ~§YZo Zmhrer H$aUo hm Amho.
~) ‘§Ìr n[afX ho gdm}ƒ {ZU©¶ KoUmao ‘§S>i Amho.
H$) {S>g|~a 2005 ‘Ü¶o ghmdr ‘§Ìr n[afX Xmohm ¶oWo Pmbr hmoVr.
darbn¡H$s H$moUVo/Vr {dYmZ/Zo AgË¶ Amho/V?
n¶m©¶r CÎmao …
1) ’$º$ A d ~ 2) ’$º$ ~ d H$ 3) ’$º$ ~ 4) ’$º$ H$

14) Consider the following statements regarding the WTO :

a) The purpose of WTO is to remove restrictions on international trade.

b) The highest decision-making body is the Ministerial Conference.

c) The Sixth Ministerial Conference was held in Doha in December 20085.

Which of the above statements is/are incorrect ?

Answer Options :

1) Only a and b 2) Only b and c 3) Only b 4) Only c

15) OmJ{VH$ ì¶mnma n[afXoÀ¶m ~m¡{ÕH$ g§nXm{df¶H$ A{YH$mam§V Imbrbn¡H$s H$moUË¶m H$b‘m§Mm g‘mdoe hmoVmo ?
1) noQ>§Q>er g§~§{YV H$b‘
2) ì¶mnmamVrb Jw§VdUyH${df¶H$ ¶moOZm g§~§{YV H$b‘ (TRIMs)

3) ì¶mnmaewëH$ Am{U ì¶mnma{df¶H$ gm‘mÝ¶ H$ama (GATT)

4) gm‘m{OH$ H$b‘
15) Which of the following clauses is a part of intellectual property rights in WTO ?

1) Patent related clause

2) Trade related investment measures (TRIMs)

3) General agreement on tariff and trade

4) Social clause

16) (GATS) ì¶mnmam~m~V H$ama hm ................ À¶m ì¶mnmam§er g§~§{YV Amho.
1) godm§À¶m 2) ñdm{‘Ëd h¸$ (noQ>§Q>)
3) à{V{bnr A{YH$ma (H$m°nramB©Q>) 4) ì¶mnmar {MÝhmer (Q´>oS>‘mH©$)

16) GATS deals with trade in ............

1) Services 2) Patent 3) Copyright 4) Trademark

17) Imbrbn¡H$s H$moUË¶m Ñ{ï>H$moZmVyZ OmJ{VH$ ì¶mnmar g§KQ>Zm ^maVr¶ AW©ì¶dñWobm ’$m¶Xoera Zmhr ?
1) gm§ñH¥${VH$ {dH$mg 2) n¶©Q>Z {dH$mg
3) amOH$s¶ {dH$mg 4) ì¶mnmamg§~§Yr ~m¡{ÕH$ ‘mb‘ÎmoMo h¸$
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17) From which point of view of the following "WTO" is not beneficial to Indian Economy ?

1) Cultural Development

2) Tourism Development

3) Political Development :

4) Trade Related Intellectual Property Rights (TRIP)

18) 'OmJ{VH$ ì¶mnmar g§KQ>Zo‘wio' ^maVmMo H$moUË¶m ~m~VrV OmñV ZwH$gmZ Pmbo Amho?
1) gm§ñH¥${VH$ joÌ 2) n¶©Q>Z joÌ
3) amOH$s¶ joÌ 4) ì¶mnmamg§~§Yr ~m¡{ÕH$ ‘mb‘ÎmoMm h¸$

18) In which sector, India is suffering more due to “WTO” ?

1) Cultural Sector 2) Tourism Sector

3) Political Sector 4) Trade Related Intellectual Property Rights (TRJPs)

19) ì¶mnmamg§~§{YV ~m¡{ÕH$ g§nÎmr h¸$m‘Ü¶o (TRIPs) Imbrb h¸$m§Mm g‘mdoe hmoVmo …
a) à{V{bnr h¸$ b) ì¶mnma {MÝh c) eoVr{df¶H$ H$ama
darbn¡H$s H$moUVo h¸$ OmJ{VH$ ì¶mnma g§KQ>ZoZo (WTO) Q´>rßg A§VJ©V àñWm{nV Ho$bo ?
1) ’$º$ (a) 2) ’$º$ (a) Am{U (b) 3) ’$º$ (a) Am{U (c) 4) (a), (b) Am{U (c)

19) Trade Related Intellectual Property Rights (TRIPs) Covers following rights :

a) Copyright

b) Trademarks

c) Agreement on agriculture

Which of the above rights introduced by WTO under TRIPs ?

1) (a) only 2) (a) and (b) only 3) (a) and (c) only 4) (a), (b) and (c)

20) Imbrbn¡H$s H$moUVo ì¶mnmamer g§~§{YV Jw§VdUyH$ Cnm¶¶moOZm§À¶m (TRIMs) g§X^m©Vrb C{Ôï>/C{Ôï>o Zmhr/ZmhrV ?
a) ¶O‘mZ XoemH$Sy>Z {Z¶m©Vrbm àmoËgmhZ
b) ‘mbmda A§{H$V Ho$bobr ì¶mnmar ‘wÐm/~moY{MÝhmgh godm {MÝh
c) àJV Am{W©H$ Am{U gm‘m{OH$ YmoaUmMo Ü¶o¶.
d) V§ÌkmZmMo hñVm§VaU.
n¶m©¶r CÎmao …
1) Ho$di (a) 2) Ho$di (b) 3) (a) Am{U (d) 4) (b) Am{U (c)

20) Which of the following is/are not the objective of TRIMs (7 rade Re

a) Promoting exports from the host country. b) Trademarks including service marks.

c) Advancing economic and social policy goals.d) Technology transfer.

Answer options :

1) Only (a) 2) Only (b) 3) (a) and (d) 4) (b) and (c)

21) Zrb noQ>r (ãcy ~m°³g) AZwXmZo hr ............. ¶m§À¶mer g§~§{YV Amho.
1) {Z¶m©Vrda ‘¶m©Xm 2) CËnmXZmVrb ‘¶m©Xm  3) Am¶mVrdarb ‘¶m©Xm 4) ~mb H$m‘Jma

21) The Blue box subsidies are concerned with ..................

1) Limit of export 2) Limit of production 3) Limit of import 4) Child labour
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3) ^maVmÀ¶m Am§Vaamḯ>r¶ ì¶mnmamMr {Xem, AmH$ma‘mZ> d aMZm
1) OmJ{VH$ {Z¶m©VrV ^maVmMm dmQ>m 2% déZ ............% n¶ªV dmT>{dÊ¶mMo naH$s¶ ì¶mnma YmoaU (2015-20) Mo

C{Ôï> Amho.
1) 2.5 2) 3.5 3) 4.5 4) 5.5

1) Foreign trade policy (2015-20) aims to raise India's share in word export from 2% ..........%

1) 2.5 2) 3.5 3) 4.5 4) 5.5

2) ^maVmMm {H$Vr Q> o̧$ AmH$ma‘mZmMm (Volume) Am§Vaamï´>r¶ ì¶mnma g‘wÐ‘mJ} MmbVmo ?
a) 90 Vo 95% b) 80 Vo 85% c) 65 Vo 70% d) 40 Vo 50%
n¶m©¶r CÎmao …
1) (a) ho ~amo~a Amho 2) (c) ho ~amo~a Amho 3) (d) ho ~amo~a Amho 4) (b) ho ~amo~a Amho

2) How much percent total volume of international trade of India is transported by sea ?

(a) 90 to 95% (b) 80 to 85% (c) 65 to 70% (d) 40 to 50%

Answer Options :

(l) (a) is correct (2) (c) is correct (3) (d) is correct (4) (b) is correct

3) 1991 - 92 ‘Ü¶o {Z¶m©VrMo S>m°ca ‘yë¶ 1.5 Q>³³¶mn¶ªV Kgaë¶m‘wio 1993 - 94 ‘Ü¶o {Z¶m©V ‘yë¶ ..........
Q>³³¶m§Zr dmT>co.
1) 10 2) 20 3) 30 4) 40

3) Due to fall in dollar value of export by 1.5 percent in 1991 - 92, the exports grew by over ........

percent in 1993 - 94.

1) 10 2) 20 3) 30 4) 40

4) 2021-22 ‘Ü ò APEDA CËnmXZm§Mo EHy$U {Z`m©V ‘yë` {H$Vr hmoVo?
1) é. 3,25,170.10 H$moQ>r 2) é. 2,48,310.26 H$moQ>r
3) é. 1,84,769.24 H$moQ>r 4) é. 1,10,209.11 H$moQ>r

4) How much was the total export value of the APEDA products during 2021-22 ?

1) Rs. 3,25,170.10 Crores 2) Rs. 2,48,310.26 Crores

3) Rs. 1,84,769.24 Crores 4) Rs. 1,10,209.11 Crores

5)  Imbrbn¡H$s H$moUVm H$m`Xm H$sQ>H$ZmeH$m§Mr Am`mV, CËnmXZ, {dH«$s, dmhVyH$, {dVaU Am{U dmnamer g§~§{YV Amho?
A) H$sQ>H$ZmeH$ H$m`Xm, 1968
~) AÞ CËnmXZ AmXoe, 1956
H$) AÞ gwajm Am{U ‘mZH$ H$m`Xm, 2006
S>) {dZmeH$mar H$sQ>H$ Am{U H$sQ>H$ (gwYmaUm Am{U à‘mUrH$aU) H$m`Xm, 1992
darbn¡H$s H$moUVo n`m©̀  `mo½` AmhoV/AmhoV?
1) A ’$º$ 2) A Am{U ~ 3) H$ Am{U S> 4) A Am{U S>

5) Which of the following Act deals with the import, manufacture, sale, transport, distribution and

use of insecticides ?

a) Insecticides Act, 1968

b) Food Production Order, 1956

c) The Food Safety and Standards Act, 2006
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d) The Destructive Insects and Pests (Amendment and Validation) Act, 1992

Which of the options given above is/are correct ?

1) a only 2) a and b 3) c and d 4) a and d

6) 2020-21 ‘Ü ò ^maVmVyZ âbmo[aH$ëMa, ’$io Am{U ^mOrnmbm {~`mUo Am{U à{H«$`m Ho$bobr ’$io, ag Am{U H$mOy
Am`mV H$aÊ`mV Imbrbn¡H$s H$moUVm Xoe n{hë`m Am{U Xwgè`m H«$‘m§H$mda Amho?
1) n{hbo ỳEgE Am{U Xwgao ZoXab±S²g 2) n{hbo g§̀ wº$ Aa~ A{‘amVr Am{U Xwgao ỳHo$
3) n{hbo a{e`m Am{U Xwgao ỳHo$ 4) n{hbo ZoXab±S> Am{U Xwgao ỳEgE

6) Which of the following countries rank 1st and 2nd in import of floriculture, fruit and vegetable

seeds and processed fruits, juices and nuts from India in the year 2020 - 21 ?

1) 1st USA and 2nd Netherlands 2) 1st United Arab Emirates and 2nd UK

3) 1st Russia and 2nd UK 4) 1st Netherlands and 2nd USA

7) gZ 2018-19 ‘Ü¶o ^maVmVyZ Am¶mV H$aÊ¶m~m~VrV ...... hm Xoe n{hë¶m H«$‘m§H$mda Amho.
1) A‘o[aH$m 2) pñdËPbªS> 3) OnmZ 4) O‘©Zr

7) .......... has the first position in India’s exports in 2018-19.

1) USA 2) Switzerland 3) Japan 4) Germany

8) gZ 2016-17 ‘Ü¶o ^maVmVrb ...... ho gdm©{YH$ {Z¶m©V CËnÞ {‘idUmao joÌ hmoVo.
1) Á¶yQ> H$nS>o 2) V¶ma H$nS>o 3) aËZo Am{U Xm{JZo 4) A{^¶m§{ÌH$s dñVy

8) ......... occupied the first place in India’s export earnings in 2016-17.

1) Jute garments 2) Readymade garments

3) Gems and Jewellery 4) Engineering goods

9) gZ 2019-20 ‘Ü¶o godm joÌmVyZ gdm©{YH$ {Z¶m©V ...... Mr Pmbr.
1) ~±qH$J godm 2) Zm°Z gm°âQ>doAa godm 3) gm°âQ>doAa godm 4) {d‘m godm

9) ............. registered the highest export from service sector in 2019-20.

1) Banking services 2) Non-Software services

3) Software services 4) Insurance services

10) ^maV Imbrbn¡H$s H$moUË`m dñVyMm Am`mV H$aUmam H«$‘m§H$ EH$ Amho?
1) gmIa 2) Jhÿ 3) Mhm 4) dZñnVr Vob

10) India is the number one importer of which one of the following commodities ?

1) Sugar 2) Wheat 3) Tea 4) Vegetable oil

11) ""{Z¶m©V ~§Yy ¶moOZm'' 2011 ‘Ü¶o Imbrbn¡H$s H$moUË¶m KQ>H$m§gmR>r gwê$ Ho$br Jobr ?
a) CÚmoOH$ Am{U {Z¶m©VXma b) CÚmoOH$ Am{U Am¶mVXma
c) emgH$s¶ A{YH$mar d ZoVo d) Zd CÚmoOH$ Am¶mVXma d {Z¶m©VXma
n¶m©¶r CÎmao …
1) (b) ¶m§À¶m H$[aVm ’$º$ 2) (c) ¶m§À¶m H$[aVm ’$º$
3) (a) ¶m§À¶m H$[aVm ’$º$ 4) (d) ¶m§À¶m H$[aVm ’$º$
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11) ’Niryat Bandhu Scheme (Export Brother Scheme)’ was launched in 2011 for which of the following

components ?

(a) Entrepreneurs and Exporters (b) Entrepreneurs and Importers

(c) Government officers and Politicians (d) New Entrepreneurs Importers and Exporters

Answer Options :

(1) For (b) only (2) For (c) only (3) For (a) only (4) For (d) only

4) ^maVr¶ Am§Vaamḯ>r¶ ì¶mnmamMo YmoaU
1) Imbrbn¡H$s H$moU {Z¶m©VXma H$O©Xmam§Zm {Z¶m©V H$O© XoÊ¶m‘Yrb OmoI‘rgmR>r ~±H$m§Zm {d‘m g§ajU àXmZ H$aVo?

1) ^maVr¶ Am¶mV {Z¶m©V ~±H$ (EXIM Bank)    2) {Z¶m©V àmoËgmhZ ^m§S>dbr dñVy (EPCG) ¶moOZm
3) E³gnmoQ>© H«o${S>Q> J°a§Q>r H$m°nm}aoeZ Am°’$ B§{S>¶m {b{‘Q>oS>   4) AmnËH$mbrZ H«o${S>Q> bmBZ h‘r ¶moOZm

1) Which one of the following provides insurance cover to banks against risks in export credit lending

to the exporter borrowers ?

1) EXIM Bank

2) Export Promotion Capital Goods (EPCG) Scheme

3) Export Credit Guarantee Corporation (ECGC) of India Ltd.

4) Emergency Credit Line Guarantee Scheme (ECLGS)

2) ^maV-UAE Jw§VdUwH$sdarb CƒñVar¶ Q>mñH$ ’$mog© g§~§{YV Imbrbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV?
A) n{hbr ~¡R>H$ 2 Am°³Q>mo~a, 2021 amoOr Xþ~B©, UAE ¶oWo Pmbr.
~) {dÚ‘mZ Jw§VdUwH$ser g§~§{YV nañna g‘ñ¶m§Mo {ZamH$aU H$aÊ¶mgmR>rMo EH$ ì¶mgnrR> åhUyZ H$m¶© H$aVo.
H$) XmoÝhr Xoem§‘Yrb Jw§VdUwH$sbm àmoËgmhZ XoÊ¶mgmR>r VgoM Jw§VdUyH$ gwb^rH$aUmgmR>rMo ì¶mgnrR> åhUyZ H$m¶©aV.
S>) 2 Am°³Q>mo~a, 2021 À¶m ~¡R>H$sV ^maV-UAE gd©g‘mdoeH$ Am{W©H$ ^mJrXmar H$amamgmR>r dmQ>mKmQ>tÀ¶m àJVrMm

AmT>mdm KoVbm Am{U ‘mÝ¶ Ho$boë¶m H$mb~ÕVoda {Q>Hy$Z amhÊ¶mÀ¶m dMZ~ÕVoMr nwï>r Ho$br.
n¶m©¶r CÎmao …
1) ’$º$ ~, H$ Am{U S> ~amo~a AmhoV 2) ’$º$ A, ~ Am{U H$ ~amo~a AmhoV
3) ’$º$ A, H$ Am{U S> ~amo~a AmhoV 4) A, ~, H$ Am{U S> ~amo~a AmhoV.

2) Which of the following statements related to India-UAE High Level Task Force on Investments

(HLTFI) are correct ?

a) The first meeting of HLTFI was held on 2"4 October, 2021 in Dubai, UAE.

b) It acts as a platform to address mutual issues associated with existing investments.

c) It acts as a platform to promote as well as facilitate investments between the two countries.

d) In the meeting held on 2°4 October, 2021, it reviewed the progress of negotiations for India-

UAE Comprehensive Economic Partnership Agreement and reaffirmed the commitment to

stick to timelines agreed upon.

Answer Options :

1) Only b, c and d are correct 2) Only a, b and c are correct

3) Only a, c and d are correct 4) a, b, c and d are correct
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3) ^maVmMr H¥$fr {Z¶m©V EHy$U {Z¶m©VrÀ¶m 20% nojm H$‘r AgÊ¶mbm Imbrbn¡H$s H$moUVo KQ>H$ H$maUr ŷV AmhoV?
a) Iam~ {Z¶m©V nm¶m ŷV gmo¶r
b) H¥$fr-à{H«$¶m {ZåZ nmVirda AgUo
c) XOm©Zwgmar ~«±qS>JMr H$‘VaVm
d) ObXJVr Xoem§VJ©V d ¶m§{ÌH$ ~§Xa hmVmiUr gw{dYm§Mm A^md
n¶m©¶r CÎmao …
1) (a), (b) Am{U (c) 2) (a), (b) Am{U (d) 3) (a) Am{U (b) 4) darb gd©

3) Which of the following is/are the main reasons for Indian agriculture exports continuing to be

less than 20% of total exports ?

(a) Poor export infrastructure

(b) Low level of agri-processing

(c) Low level of quality branding

(d) Lack of fast track inland and mechanical port handling

Answer Options :

(1) (a), (b) and (c) (2) (a), (b) and (d) (3) (a) and (b) (4) All of the above

5) naH$s` Jw§VdUyH$ - Am§Vaamḯ>r¶ ì¶mnma {dXoer ^m§S>dcmMm A§Vàdmh, aMZm d dmT>
1) 2020-21 ¶m Am{W©H$ dfm©gmR>r ̂ maVmVrb WoQ> naH$s¶ Jw§VdUwH$sV gdm©{YH$ Q> o̧$ dmQ>m Agboë¶m Imbrb Jw§VdUyH$Xma

Xoem§Mr Ë¶m§À¶m ‘hÎdmZwgma H«$‘dmar bmdm.
A) qgJmnya ~) A‘o[aH$m H$) ‘m°[aeg
n¶m©¶r CÎmao …
1) qgJmnya - àW‘, A‘o[aH$m - {ÛVr¶, ‘m°[aeg - {Vgam
2) A‘o[aH$m - àW‘, ‘m°[aeg - {ÛVr¶, qgJmnya - {Vgam
3) ‘m°[aeg - àW‘, qgJmnya - {ÛVr¶, A‘o[aH$m - {Vgam
4) ‘m°[aeg - àW‘, A‘o[aH$m - {ÛVr¶, qgJmnya - {Vgam

1) Rank the following investor countries in order of their importance having the largest percentage

share in Fereign Direct Investment in India for the Financial Year 2020 — 21.

a) Singapore b) USA c) Mauritius

Answer Options:

1) Singapore — First, USA — Second, Mauritius — Third

2) USA — First, Mauritius — Second, Singapore — Third

3) Mauritius — First, Singapore — Second, USA — Third

4) Mauritius — First, USA — Second, Singapore — Third

2) gZ 2017-18 ‘Ü¶o ^maVmVrb gdm©{YH$ àË¶j {dXoer Jw§VdUyH$ (FDI) 23.6% ...... ¶m joÌmV hmoVr.
1) g§àofU godm 2) dñVw{Z‘m©U joÌ
3) {H$aH$moi Am{U KmD$H$ ì¶mnma 4) {dÎmr¶ godm

2) During 2017-18 Foreign Direct Investment (FDI) was highest 23.6 percent in sector in India.

1) Communication services 2) Manufacturing sector

3) Real and Wholesale trade 4) Financial services



‘hmamîQ´> bmoH$godm Am¶moJmÀ¶m narjogmR>r Cn¶wº$ àíZg§J«h … AW©emó / 58

For Private Circulation Only

3) Xoem§VJ©V d {dXoer Jw§VdUyH$ Xmam§Zr ^maVm‘Ü¶o Jw§VdUyH$ H$aÊ¶mgmR>r OmJ{VH$ ñVamda nwT>mH$ma ¿¶mdm ¶mgmR>r
^maVmÀ¶m n§VàYmZm§Zr 25 gßQ>|~a, 2014 amoOr ............ Mr KmofUm Ho$br.
1) amï´>r¶ CËnmXZ YmoaU 2) {X„r-‘w§~B© Am¡Úmo{JH$ H$m°[aS>m°a
3) ‘oH$-BZ-B§{S>¶m 4) darbn¡H$s Zmhr

3) The Prime Minister of India, launched the ......... global initiative on 25th September, 2014 to

invite both domestic and foreign investors to invest in India.

(1) National Manufacturing Policy (2) Delhi-Mumbai Industrial Corridor

(3) Make-in-India (4) None of the above

4) OmJ{VH$ Jw§VdUyH$ Ahdmb (2015) Zwgma Imbrbn¡H$s H$moUVo {dYmZ gË¶ Amho?
1) ^maVmVyZ ~mhoa Ho$br OmUmar Jw§VdUyH$ hr ^maVmVrb naH$s¶ Jw§VdUyH$s BVH$sM hmoVr.
2) ^maVm~mhoa Ho$ë¶m OmUmè¶m Jw§VdUwH$sV 2000 nmgyZ KQ> hmoV Amho.
3) 2008 ‘Ü¶o ^maVm~mhoa gdm}ƒ à‘mUmV J§wVdUyH$ Ho$br Jobr.
4) 2001 ho df© dJiVm, MrZZo Xoem~mhoa Ho$ë¶m OmUmè¶m Jw§VdUwH$sMo à‘mU ^maVmnojm H$‘r R>odbo Amho.

4) Which of the following statement is true as per the World Investment Report (2015) ?

1) FDI outflows from India were equal to FDI inflows in India.

2) Since 2000, there has been a fall in FDI outflows.

3) The peak FDI outflow took place in 2008.

4) China has kept FDI outflow at a relatively lower level than India barring the year 2001.

5) Imbrbn¡H$s AMyH$ {dYmZ H$moUVo ?
1) naH$s¶ àË¶j Jw§VdUwH$s‘wio AW©ì¶dñWoMr CËnmXZ j‘Vm dmT>Ê¶mg ‘XV hmoVo Va amoIog§J«hr Jw§VdUwH$s‘wio

AW©ì¶dñWoV ApñWaVm ¶oVo.
2) naH$s¶ àË¶j Jw§VdUwH$s‘wio AW©ì¶dñWoV IaoXreº$s dmT>Vo Va amoIog§J«hr Jw§VdUwH$s‘wio naXoer amoIo ~mOmamMm

’$m¶Xm hmoVmo.
3) ^maVmV naH$s¶ àË¶j Jw§VdUwH$snojm amoIog§J«hr Jw§VdUwH$sMm ’$m¶Xm A{YH$ Amho.
4) naH$s¶ àË¶j Jw§VdUyH$ hr Ho$di {dH$gZerb Xoem§gmR>rM ’$m¶Xoera Amho.

5) Which of the following is a correct statement ?

1) FDI helps to increase the productive capacity of the economy while FPI leads to volatility.

2) FDI leads to increased purchasing power in the economy whereas FPI benefits foreign share

market.

3) FPI is more beneficial than FDI in India.

4) FDI is beneficial for developing nations only.

6) ............. Zo Jw§VdUwH$sV ^maVr¶ Jw§VdUyH$ XmamEdT>oM naXoer Jw§VdUyH$ Xmam§Zm A{YH$ma {‘iVrb.
1) ~wÕr g§nXm ‘mb‘Îmm A{YH$ma 2) Jw§VdUyH$ Cnm¶ ¶moOZm ì¶mnmam~m~VMm H$ama
3) godoVrb ì¶mnmam~m~VMm H$ama 4) darbn¡H$s EH$hr Zmhr

6) Under .................. the foreign investors will be given same rights as the national investors in the

matter of investment.

1) Trade Related Intellectual Property Rights 2) Trade Related Investment Measures

3) General Agreement on Trade in Services 4) None of these
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7) Imbrbn¡H$s H$moUVo ì¶mnma g§~§{YV Jw§VdUyH$ Cnm¶m§Mo ‘hÎdmMo d¡{eîQ>ç Zmhr?
1) naH$s¶ ^m§S>dbmdarb gd© ~§YZo Xÿa H$amdrV
2) Jw§VdUwH$sÀ¶m ~m~VrV amï´>r¶ Jw§VdUyH$Xmambm {‘iUmao gd© h¸$ naH$s¶ Jw§VdUyH$Xmambm {‘iUma ZmhrV.
3) H$ƒm ‘mb d gwQ>o ^mJ ¶m§Mr ‘wº$nUo Am¶mV H$aVm ¶oB©b.
4) ñWm{ZH$ dñVy d H$ƒm ‘mb dmnaÊ¶mMr gº$s naH$s¶ Jw§VdUyH$Xmambm AgUma Zmhr.

7) Which of the following is not a main feature of the Trade Related Investment Measures (TRIMs)?

(1) All restrictions on foreign capital should be scrapped.

(2) Foreign investor will not get the same rights as a national investor in the matter of investment.

(3) Imports of raw materials & components will be allowed freely.

(4) Foreign investor will not be obliged to use local products & materials.

6) ~hþAm§Vaamḯ>r¶ m̂§S>dc nwa{dUmè¶m g§ñWm - Am¶E‘E’$, OmJ{VH$ ~±H$, B§Q>aZ°eZc H«o$S>rQ> aoQ>tJ
1) "OmJ{VH$ ~±Ho$Mr' ñWmnZm H$Yr Pmbr hmoVr ?

1) 1944 2) 1945 3) 1946 4) 1947
1) When was the World Bank’ established ?

1) 1944 2) 1945 3) 1946 4) 1947

2) {deof AmhaU A{YH$ma (SDR) ho …
1) Am§Vaamḯ>r¶ ZmUo{ZYrMo Am§Vaamḯ>r¶ amoIVoVrb Cnm¶¶moOZogmR>r {Z‘m©U Ho$bobo naH$s¶ MbZgmR>m{df¶H$ A{YH$ma AmhoV.
2) Am§Vaamï´>r¶ ZmUo{ZYrMo Jw§VdUyH$ {dH$gZerb Xoem§À¶m {dH$mg{ZYr {df¶H$ A{YH$ma AmhoV.
3) OmJ{VH$ ~±Ho$er g§~§{YV {dH$gZerb Xoem§À¶m {dH$mg{ZYr {df¶H$ A{YH$ma AmhoV.
4) Am§Vaamï´>r¶ {dH$mg g§ñWoMo H$O©XoÊ¶m{df¶H$ d Am§Vaamï´>r¶ amoIVo{df¶H$ A{YH$ma AmhoV.

2) Special Drawing Rights (SDR) are :

1) The rights to solve the problem of international liquidity regarding foreign exchange reserves

2) The rights regarding investment and foreign currency of IMF.

3) The rights regarding development funds of developing countries of world bank.

4) The rights regarding credit and international liquidity of IDA.

3) Imbrbn¡H$s ¶mo½¶ H$WZ/Zo AmoiIm …
A) Am§Vaamï´>r¶ ZmUo {ZYrÀ¶m 'dm°b Am°’$ ’o$‘' d¡{eï> AgUmar JrVm JmonrZmW hr n{hbr ‘{hbm R>abr.
~) Am§Vaamï´>r¶ ZmUo {ZYrÀ¶m 'dm°b Am°’$ ’o$‘' d¡{eï> AgUmar JrVm JmonrZmW hr n{hbr ^maVr¶ R>abr.
n¶m©¶r CÎmao …
1) ’$º$ A 2) ’$º$ ~ 3) A d ~ XmoÝhr 4) darbn¡H$s EH$hr Zmhr

3) Select the correct statements :

a. Gita Gopinath became the first woman to feature on the ‘Wall of Fame’ of the International

Monetary Fund.

b. Gita Gopinath became the first Indian to feature on the ‘Wall of Fame’ of the International

Monetary Fund.

Answer Options :

1) Only a 2). Only b 3) Both a and b 4) None of the above
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4) Am§Vaamï´>r¶ ZmUo{ZYrMo/Mr H$m¶©/H$m¶} ......
a) pñWarH$aUmg àmoËgmhZ XoUo.
b) A[aï>m§Zm à{V~§Y H$aÊ¶mg ‘XV H$aUo.
c) ì¶mnmambm MmbZm XoD$Z d¥Õrbm àmoËgm{hV H$aUo.
n¶m©¶r CÎmao …
1) (a) Am{U (b) {dYmZo ¶mo½¶ AmhoV. 2) (b) Am{U (c) {dYmZo ¶mo½¶ AmhoV.
3) (a) Am{U (c) {dYmZo ¶mo½¶ AmhoV. 4) (a), (b) Am{U (c) {dYmZo ¶mo½¶ AmhoV.

4) The International Monetary Fund's functions are ......

a) to promote stability

b) to help prevent crises

c) to promote growth by facilitating trade

Answer Options :

1) Statements (a) and (b) are correct 2) Statements (b) and (c) are correct

3) Statements (a) and (c) are correct 4) Statements (a), (b) and (c) are correct

5) Imbrbn¡H$s H$moUVr {dYmZo Am§Vaamï´>r¶ ZmUo{ZYr ~m~V gË¶ AmhoV ?
a) Am§Vaamï´>r¶ ZmUo {ZYr Mr gd© gXñ¶ amï´>o, g§¶wº$ amï´> g§KmMr gXñ¶ AmhoV.
b) ^maV Xoe Am§Vaamï´>r¶ ZmUo {ZYr Mm g§ñWmnH$ gXñ¶ Amho.
c) ~m§JbmXoe, ŷVmZ Am{U lrb§H$m ho Am¶.Eg.E’$. À¶m ^maVr¶ ‘VXma g§KmV AmhoV.
d) Am§Vaamï´>r¶ ZmUo {ZYrÀ¶m ì¶dñWmnH$ ‘§S>im‘Ü¶o ì¶dñWmnH$ Am{U EH$ n¶m©¶r ì¶dñWmnH$ Amho.
n¶m©¶r CÎmao …
1) {dYmZo (a) Am{U (b) ~amo~a AmhoV 2) {dYmZ (b) Am{U (c) ~amo~a Amho.
3) {dYmZ (c) Am{U (d) ~amo~a AmhoV 4) {dYmZ (b), (c) Am{U (d) ~amo~a Amho.

5) Which of the following statements are true in reference to International Monetary

(a) All member countries of the IMF are members of the United Nations.

(b) India is the founder member of IMF.

(c) Bangladesh, Bhutan and Sri Lanka are in India's constituency at the IMF.

(d) IMF has Board of Managers consisting of one manager and one alternate manager.

Answer Options :

(1) Statements (a) and (b) are true (2) Statements (b) and (c) are true

(3) Statements (c) and (d) are correct (4) Statements (b), (c) and (d) are correct
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(13) ~±qH$J- MbZ nwadR>m, H«o${S>Q> Am{U ‘m°{ZQ>ar nm°{bgr
1) _Ü`dVu ~±H - [aPìh© ~±H
2) ‘m¡{ÐH$ YmoaU d nV{Z¶§ÌUmMr gmYZo - MbZ nwadR>m
3) ~±H$m§Mo amḯ>r`rH$aU
4) H$O©/nVnwadR>çmMr aMZm, ~±qH$J joÌmVrc gwYmaUm
5) ^m§S>db~mOma, go~r d {d‘mjoÌ

 1) _Ü`dVu ~±H - [aPìh© ~±H
1) [aPìh© ~±H$ Am°’$ B§{S>¶mZo gwê$ Ho$boë¶m ""gmd©̂ m¡‘ gwdU© amo»¶m§Mm'' (Sovereign Gold Bonds) ‘w»¶ CÔoe

H$moUVm?
a) àË¶j (^m¡{VH$) gmoÝ¶mMr ‘mJUr H$‘r H$aUo. b) àË¶j (^m¡{VH$) gmoÝ¶mMr ‘mJUr dmT>{dUo.
c) gmoÝ¶mV n¡go Jw§VdyZ A{YH$ ì¶mO {‘i{dUo. d) H$mbm n¡gm emoYÊ¶mgmR>r
n¶m©¶r CÎmao …
1) {dYmZ (a) ~amo~a Amho 2) {dYmZo (b) ~amo~a AmhoV
3) {dYmZ (c) ~amo~a Amho 4) darb gd© {dYmZo ~amo~a AmhoV

1) What is a main purpose of "Sovereign Gold Bonds” issued by the Reserve Bank of

(a) To reduce the demand of physical gold.

(b) To increase the demand of physical gold.

(c) To get more interest by investing money in gold.

(d) To unearth Black Money.

Answer Options :

(1) Statement (a) is correct (2) Statement (b) is correct

(3) Statement (c) is correct (4) All statements are correct

2) 1995 ‘Ü¶o ~±H$ J«mhH$m§À¶m {ddmXm§Mo ñdñV Am{U ObX {ZnQ>mam H$aÊ¶mgmR>r ...... gwê$ H$aÊ¶mV Ambr.
1) {ddoH$nyU© {Z¶‘ 2) J«mhH$ godm g{‘Vr 3) ~±qH$J bmoH$nmb ¶moOZm 4) Am§Vaamï´>r¶ boIm nÕVr

2)  .......... was introduced in 1995 for inexpensive and speedy recovery of bank customer disputes.

(1) Prudential Norms (2) Customer Service Committee

(3) Banking Ombudsman Scheme (4) International Accounting Practices

2) ‘m¡{ÐH$ YmoaU d nV{Z¶§ÌUmMr gmYZo - MbZ nwadR>m
1) Am§Vaamï´>r¶ nmVirda ~±qH$J joÌmV gmVË¶mZo gwYmaUm H$aÊ¶mgmR>r ............. hr EH$ ñWm¶r g§aMZm Amho.

1) ~°gc g{‘Vr 2) H°$gc g{‘Vr 3) ‘gJ«oìh g{‘Vr 4) gË¶emoYZ g{‘Vr
1) ............. is a permanent structure for the continuous improvement of the banking sector at the

international level.

1)  Byasal Committee 2) Casal Committee

3) Musgrave Committee 4) Verification Committee
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2) ............ åhUOo Ago {Z¶m‘H$ YmoaU Á¶mÛmao H|$Ðr¶ ~±H$ gm‘mÝ¶ Am{W©H$ C{Ôï>m§À¶m àmárgmR>r n¡emÀ¶m nwadR>çmda
{Z¶§ÌU R>odVo.
1) {dÎmr¶ YmoaU 2) ZdrZ Am{W©H$ YmoaU 3) ‘m¡{ÐH$ YmoaU 4) Am¡Úmo{JH$ YmoaU

2) ........... refers to a regulatory policy whereby the central bank maintains its control over the supply

of money for the realisation of general economic goals.

1) Fiscal policy 2) New economic policy

3) Monetary policy 4) Industrial policy

3) Imbrbn¡H$s H$moUVm ^maVr¶ [aPìh© ~±Ho$Mm n[a‘mUmË‘H$ ‘m¡{ÐH$ Cnm¶ Zmhr?
1) ~±H$ Xa 2) Z¡{VH$ g‘OmdUr
3) amoI amIrd à‘mU 4) d¡Ym{ZH$ amoIVm à‘mU

3) Which of the following is not a quantitative monetary measures of Reserve Bank of India ?

1) Bank Rate 2) Moral Suasion

3) Cash Reserve Ratio 4) Statutory Liquidity Ratio

4) aonmo Xa åhUOo Á¶m XamZo ..............
1) ì¶mnmar ~±H$m bmoH$m§Zm H$O} XoVmV.
2) gaH$maMr H$O} KoÊ¶mda AmH$mabm OmVmo.
3) [aPìh© ~±H$ Am°’$ B§{S>¶m ì¶mnmar ~±H$m§Zm H$O} XoVo.
4) ì¶mnmar ~±H$m Ë¶mMoH$S>o AgUmè¶m ~MVr R>odrda Xa AmH$maVmV.

4) Repo rate is the rate at .......

1) Commercial banks lend to public

2) The rate which is charged for Government lending

3) R.B.I. lends to commercial banks

4) The rate is charged on saving deposits with commercial banks

5) ^maVmV ‘m¡{ÐH$ YmoaU H$moUË¶m {dÎmr¶ g§ñWo‘m’©$V am~{dbo OmVo ?
1) Am¶w{d©‘m ‘hm‘§S>i 2) ¶w{ZQ> Q´>ñQ> Am°’$ B§{S>¶m 3) ghH$mar ~±H$m 4) ^maVr¶ [aPìh© ~±H$

5) By which financial institution, monetary policy is implemented in India ?

1) LIC 2) Unit Trust of India

3) Co-operative Banks 4) Reserve Bank of India

3) ~±H$ àUmbr, àH$ma, ~±H$m§Mo amḯ>r`rH$aU
1) Owb¡ 19, 1969 bm Á¶m Mm¡Xm ì¶mnmar ~±H$mH$S>rb R>odtMo ‘yë` é. ....... qH$dm ¶mnojm OmñV hmoVo, Ë¶mMo H$aÊ¶mV Ambo.

1) 100 H$moQ>r 2) 75 H$moQ>r 3) 50 H$moQ>r 4) 125 H$moQ>r
1) On July 19, 1969 fourteen commercial banks with deposit worth Rs. .......... or more were

nationalised.

1) Rs. 100 crore 2) Rs. 75 crore 3) Rs. 50 crore 4) Rs. 125 crore

2) "~±H$' ¶m B§J«Or eãXmbm ‘amR>r ^mfoV H$m¶ åhUVmV ?
a) H$mo{f¶ g§ñWm b) H$mofmJma c) Q´>oPar d) A{YH$mof
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n¶m©¶r CÎmao …
1) (a) ho ~amo~a Amho 2) (b) ho ~amo~a Amho.
3) (b) Am{U (d) hr XmoÝhr ~amo~a AmhoV. 4) (d) ho ~amo~a Amho.

2) What is the Marathi word for the English word ‘Bank’ ?

(a) Koshiya Sanstha (b) Koshagar (c) Treasury (d) Adhikosh

Answer Options :

(1) (a) is correct (2) (b) is correct

(3) Both (b) and (d) are correct (4) (d) is correct

3) ^maVr¶ ì¶mnmar ~±H$ àUmbr‘Ü¶o Imbrbn¡H$s ~mOmanoR>oMm H$moUVm ^mJ hm d¥ÕrH$maH$ d Z’$m {‘idyZ XoUmam Amho?
1) å¶wÀ¶wAb ’§$S> 2) ‘mo~mB©b ~±qH$J 3) [aQ>ob ~±qH$J 4) B§Q>aZoQ> ~±qH$J

3) Which of the following market segments is growth and profit oriented in the Indian Commercial

Banking System ?

(1) Mutual Funds (3) Retail Banking (2) Mobile Banking (4) Internet Banking

4) H$O©/nVnwadR>çmMr aMZm, ~±qH$J joÌmVrc gwYmaUm
1) gyú‘ {d‘m‘Ü¶o {H$Vr a¸$‘on¶ªVMr {d‘mnÌHo$ {d‘mH$Vm© {ZJ©‘rV H$ê$ eH$Vmo ?

1) 5,00,000 2) 1,00,000 3) 50,000 4) 75,000
1) In case of micro insurance, upto what amount can the insurer issue a policy ?

1) 5,00,000 2) 1,00,000 3) 50,000 4) 75,000

2) nVnwadR>m A{YH$marV ¶moOZm ........... ¶m dfu gwé H$aÊ¶mV Ambr.
1) Am°ŠQ>mo~a 1980 2) Am°JñQ> 1982 3) OmZodmar 1979 4) Zmoìh|~a 1965

2) Credit Authorisation Scheme was introduced in ......

1) October, 1980 2) August, 1982 3) January, 1979 4) November, 1965

3) Imbrb {dYmZo {dMmamV ¿¶m …
a) R>od {d‘m Am{U nV h‘r ‘hm‘§S>i (gwYmaUm) H$m¶Xm g§gXoZo 2021 ‘Ü¶o ‘§Oya Ho$bm.
b) R>od {då¶mMm hám R>odrXmam§H$Sy>Z dgyb Ho$bm OmVmo.
c) R>od {d‘m hám gd© {d‘mYmaH$ ~±H$m§gmR>r A{Zdm¶© Amho.
darbn¡H$s H$moUVo/Vr {dYmZ/Zo ¶mo½¶ AmhoV?
1) ’$º$ (a) Am{U (b) ¶mo½¶ AmhoV. 2) ’$º$ (a) Am{U (c) ¶mo½¶ AmhoV.
3) ’$º$ (b) Am{U (c) ¶mo½¶ AmhoV. 4) darbn¡H$s gd© ¶mo½¶ AmhoV

3) Consider the following statements :

a) The Deposit Insurance and Credit Guarantee Corporation (Amendment) Act, was passed by the

Parliament in 2021.

b) The deposit insurance premium is recovered from the depositors.

c) The deposit insurance premium is compulsory for all insured banks.

Which of the statement/s given above is/are correct ?

1) Only (a) and (b) are correct 2) Only (a) and (c) are correct

3) Only (b) and (c) are correct 4) All of the above are correct
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4) J«m‘rU ^mJmVrb eoVr Am{U g§~§YrV CnH«$‘m§Zm àmoËgmhZ XoÊ¶mgmR>r H$O©nwadR>m H$aUmar ...... hr {eIa g§ñWm Amho.
1) [aPìh© ~±H$ 2) ñQ>oQ> ~±H$ Am°’$ B§{S>¶m 3) Zm~mS>© 4) darb gd©

4) ..................... is the apex organisation to provide credit for the promotion of agriculture and allied

activities in rural areas.

(1) Reserve Bank (2) State Bank of India (3) NABARD (4) All of the above

5) Imbrbn¡H$s H$moUVo H$Om©Mo àH$ma Zmhr ?
a) H°$e H«o${S>Q> b) dMZ {MÇ>r c) ~±H$ A{YH$f© d) amoI H$O©
n¶m©¶r CÎmao …
1) (a) Am{U (b) ~amo~a AmhoV. 2) (c) ~amo~a Amho
3) (b) ~amo~a Amho 4) (c) Am{U (d) ~amo~a AmhoV

5) Which of the following is/are not types of loan ?

(a) Cash credit (b) Promissory note (c) Bank overdraft (d) Cash loan

Answer Options :

(1) (a) and (b) are correct (2) (c) is correct

(3) (b) is correct (4) (c) and (d) are correct

6) ^maVmVrb ì¶mnmar ~±H$mÀ¶m H$O©-R>odr JwUmoÎma YmoaUm§~m~V Imbrbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV ?
a) H$O©-R>odr JwUmoÎma à‘mUm~m~V RBI Zo {ZpíMV {Z¶‘ Ho$bobo AmhoV.
b) ~±H$mMr gaH$mar amo»¶m§‘Yrb Jw§VdUyH$ VwbZoZo A{YH$ gwa{jV AgVo.
c) AcrH$S>o Am{W©H$ pñWVrMm A§XmO KoD$Z ~±H$m ì¶dgm¶mÀ¶m JwUmoÎmam‘Ü¶o ~Xb H$arV AgVmV.
d) H$O©-R>odr JwUmoÎma à‘mU gyÌ = EHy$U H$O} x 100 .

 EHy$U R>odr 1
(1) {dYmZo (a) Am{U (b) ~amo~a AmhoV (2) {dYmZo (b), (c) Am{U (d) ~amo~a AmhoV
(3) {dYmZo (c) Am{U (d) ~amo~a AmhoV (4) gd© {dYmZo ~amo~a AmhoV

6) Which of the following statements are true regarding Loan-to-deposit ratio policy of commercial

banks in India ?

(a) The RBI has fixed rules regarding debt-to-deposit ratio.

(b) The Bank's investment in government securities is relatively more secure.

(c) Recently debt-to-deposit ratio are changed by banks according to financial situation.

(d) Debt-to-deposit ratio =
 Total Loan 

x 

100 .

 Total Deposit 1

Answer Options :

(1) Statements (a) and (b) are correct (2) Statements (b), (c) and (d) are correct

(3) Statements (c) and (d) are correct (4) All statements are correct

5) ^m§S>db~mOma, go~r d {d‘mjoÌ
1) n{hbm ^maVr¶ {d‘m H$m¶Xm nm[aV Pmbm …

1) 1938 2) 1985 3) 1912 4) 1956
1) The first Indian Insurance Act was passed on :

1) 1938 2) 1985 3) 1912 4) 1956
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2) ‘hmamï´> emgZmZo emgH$s¶ {d‘m {ZYrÀ¶m ì¶dñWmnZmgmR>r {X. ......... amoOr ñdmV§Ì {d‘m g§MmbZmb¶mMr ñWmnZm
Ho$br.
1) 1 Owb¡ 1972 2) 1 gßQ>|~a 1972 3) 1 Owb¡ 1971 4) 1 gßQ>|~a 1971

2) The Government of Maharashtra established an Independent Insurance directorate on ..........

for the management of Government Insurance funds ?

1) July 1, 1972 2) September 1, 1972 3) July 1, 1971 4) September 1, 1971

3) ^maVmV {då¶mMr Am¡nMm[aH$ gwédmV H$moUË¶m eVH$mV Pmbr ?
1) AR>amì¶m eVH$mV 2) gmoimì¶m eVH$mV 3) EH$mo{Ugmì¶m eVH$mV 4) {dgmì¶m eVH$mV

3) In which century insurance began formally in India ?

1)  18th century 2) 16th century 3)19th century 4) 20th century

4) IRDA ‘Ü¶o EHy$U .............. gXñ¶ AmhoV.
1) 9 2) 10 3) 11 4) 7

4) The total members in IRDA body are .............

1) 9 2) 10 3) 11 4) 7

5) ^maVm‘Ü¶o OrdZ {d‘m ì¶dgm¶ gwê$ H$aÊ¶mgmR>r {H$‘mZ {H$Vr ^m§S>db Amdí¶H$ Amho ?
1) é. 25 H$moQ>r 2) é. 50 H$moQ>r 3) é. 75 H$moQ>r 4) é. 100 H$moQ>r

5) How mjuch is the minimum capital required for starting life insurance business in India ?

1) Rs.25 crores 2) Rs.50 crores 3) Rs.75 crores 4) Rs.100 crores

6) {d‘m g§MmbZmb¶mMo àmXo{eH$ H$m¶m©b¶ Hw$R>o Amho ?
1) nwUo 2) Zm{eH$ 3) ZmJnya 4) Am¡a§Jm~mX

6) Where is the Regional Offices of Directorate of Insurance ?

1) Pune 2) Nashik 3) Nagpur 4) Auramgabad

7) emgH$s¶ {d‘m {ZYr Imbrb {d^mJmg {d‘m godm nwadVo.
a) amÁ¶ gaH$mar {d^mJ
b) {Z‘emgH$s¶ {d^mJ
c) amÁ¶ d¡Ym{ZH$ g§ñWm
d) ‘§S>io qH$dm g§ñWm Á¶m‘Ü¶o gaH$maMo Am{W©H$ {hVg§~§Y Jw§Vbo AmhoV.
n¶m©¶r CÎmao …
1) ’$º$ (a) ~amo~a 2) ’$º$ (a), (b) Am{U (d) ~amo~a
3) ’$º$ (a) Am{U (b) ~amo~a 4) darb gd© (a), (b), (c) Am{U (d) ~amo~a

7) The Government Insurance Fund provides insurance services to :

a) State Government Department

b) Semi Government Department

c) State Statutory Institutions

d) Boards or Institutions in which government having substantial financial interest.

Answer options :

1) Only (a) is true 2) Only (a),(b) and (d) is true

3) Only (a) and (b) is true 4) All above (a),(b),(c) and (d) is true
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8) ^maVr¶ OZab BÝewaÝg H$m°nm}aoeZMr ñWmnZm ............ ¶m Ûmao Ho$br Amho.
1) g§gXoMm H$m¶Xm
2) {d‘m A{Y{Z¶‘, 1938
2) gmYmaU {d‘m ì¶dgm¶ (amï´>r¶H$aU) A{Y{Z¶‘, 1972
4) H$‘©Mmar amÁ¶ {d‘m A{Y{Z¶‘, 1948

8) General Insurance Corporation of India are established by ...........

1) Acts of Parliament

2) Insurance Act, 1938

3) General Insurance Business (Nationalisation) Act, 1972

4) Employees State Insurance Act, 1948

9) ZmUo ~mOmamVrb {ZYrÀ¶m H$‘VaVoMo Imbrbn¡H$s H$maU H$moUVo ?
1) Anwar ~MV 2) amoI a¸$‘oMr dmT>Vr ‘mJUr
3) Ag§K{Q>V joÌmMr CnpñWVr 4) {dÎmr¶ J¡aì¶dñWm

9) Money Market faces shortage of funds due to :

1) inadequate saving 2) growing demand for cash

3) presence of unorganized sector 4) financial mismanagement

10) go~r hr ............. Amho.
1) d¡Ym{ZH$ g§ñWm 2) g„mJma g§ñWm 3) KQ>ZmË‘H$ g§ñWm 4) A-d¡Ym{ZH$ g§ñWm

10) SEBI is ...........

(l) Statutory Body (2) Advisory Body

(3) Constitutional Body (4) Non-Statutory Body

11) ....... ho ^maVmVrb ‘mÝ¶Vmàmá ñQ>m°H$ E³gM|O AmhoV.
a) ‘w§~B© ñQ>m°H$ E³gM|O b) amï´>r¶ ñQ>m°H$ E³gM|O c) O¶nya ñQ>m°H$ E³gM|O d) {X„r ñQ>m°H$ E³gM|O
n¶m©¶r CÎmao …

1) (a), (b) Am{U (c) 2) (b), (c) Am{U (d) 3) (a), (b), (c) Am{U (d) 4) (a), (c) Am{U (d)

11)  ........... are the accredited stock exchanges in India.

(a) Bombay (Mumbai) Stock Exchange (b) National Stock Exchange

(c) Jaipur Stock Exchange (d) Delhi Stock Exchange

Answer Options :

(l) (a), (b) and (c) (2) (b), (c) and (d)

(3) (a), (b), (c) and (d) (4) (a), (c) and (d)

12) Imbrbn¡H$s {d‘m ~mOmamMm H$moU gXñ¶ Zmhr ?
1) Am¶.Ama.S>r.E. 2) Q>r.nr.E. 3) E‘.E‘.Ama.S>r.E. 4) gd}jH$

12) Who among the following is not a member of insurance market ?

1) I.R.D.A. 2) T.P.A. 3) M.M.R.D.A. 4) Surveyors
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13) Imbrbn¡H$s H$moUVr H$m¶} IRDA Mr AmhoV ?
(a) {d‘m H§$nÝ¶m§Ûmao Ho$boë¶m {ZYrÀ¶m Jw§VdUwH$sMo {Z¶‘Z H$aUo.
(b) gm°ëìhÝgr ‘m{O©ZÀ¶m XoI^mbrMo {Z¶‘Z H$aUo.
n¶m©¶r CÎmao …
1) ’$º$ (a) 2) ’$º$ (b) 3) (a) Am{U (b) XmoÝhr 4) darbn¡H$s Zmhr

13) Which of the following are functions of IRDA ?

a) Regulating investment of the fund by insurance companies

b) Regulating maintenance ofmargin of solvency

Answer options :

1) Only (a) 2) Only (b) 3) (a) and (b) both 4) None of above

14) IRDA hr EH$ …
(a) CÚmoJmda ZOa R>odUmar  (b) {d‘m {Z¶m‘H$  (c) nadmZm àm{YH$aU
n¶m©¶r CÎmao …
1) ’$º$ (a) ~amo~a Amho 2) (b) Am{U (c) ~amo~a AmhoV
3) (a) Am{U (b) ~amo~a AmhoV 4) darb gd© ~amo~a AmhoV

14) IRDA is the :

a) Industry watchdog b) Insurance regulator c) Licensing authority

Answer options :

1) Only (a) is true 2) (b) and (c) are true

3) (a) and (b) are true 4) All the above are true

15) "å¶wÀ¶wAb ’§$S>' nydu H$moUË¶m ZmdmZo AmoiIbm OmB© ?
a) {‘S>-H°$n ’§$S> b) B§S>o³g ’§$S> c) B§{S>¶m ’§$S> d) ‘mH}$Q> ’§$S>
n¶m©¶r CÎmao …
1) (a) ~amo~a Amho 2) (b) ~amo~a Amho 3) (c) ~amo~a Amho 4) (d) ~amo~a Amho

15) By what name was ’Mutual Fund’ formerly known ?

(a) Mid-cap-Fund (b) Index Fund (c) India Fund (d) Market Fund

Answer Options :

(1) (a) is correct (2) (b) is correct (3) (c) is correct (4) (d) is correct

16) ............. hm nm°{bgrYmaH$ Amho Omo nm°{bgrMo erf©H$ hñVm§V[aV H$aVmo.
1) Zo‘UyH$ Pmbobm 2) Zm‘{ZX}erV ì¶º$s 3) Zo‘UyH$ H$aUmam 4) nmÌdmhH$

16) ........... is the policyholder who transfers the title of the policy.

1) Assignee 2) Nominee 3) Assignor 4) Consignee

17) ............ Mo VÎd {d‘mYmaH$mbm EH$m nojm A{YH$ {d‘m H§$nZrH$S>o {d‘m H$ê$Z Z’$m Z {‘iÊ¶mMr ImÌr H$aVo.
1) ¶moJXmZ 2) gh{d‘m 3) ZwH$gmZ ^anmB© 4) {deof gamgar

17) The principle of ........... ensures that an insured doesnot profit by insuring with multiple insurers.

1) Contribution 2) Co-insurance 3) Indemnity 4) Particular average
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18) Imbrbn¡H$s H$moUVm nwZ{d©‘m H$ama Zmhr ?
1) d¡H$pënH$ nwZ{d©‘m H$ama 2) A{Varº$ nwZ{d©‘m H$ama 3) ‘yb ŷV nwZ{d©‘m H$ama 4) dmQ>m nwZ{d©‘m H$ama

18) Which of the following is not a reinsurnace treaty ?

1) Facilitative reinsurance treaty 2) Surplus reinsurance treaty

3) Fundamental reinsurance treaty 4) Quota reinsurance treaty

19) A{YH$ma Am{U Xm{¶Ëdo hñVm§V[aV H$aUmam nm°{bgrYmaH$ ........... åhUyZ AmoiIbm OmVmo.
1) A{^hñVm§H$ZH$Vm© 2) A{^hñVm§{H$Vr 3) A{^hñVm§H$Z 4) Zm‘{ZX}eH$

19) The policyholder who transfers the rights and liaibilities is known as the ...........

1) assignor 2) assignee 3) assignment 4) nominatorer

20) ........... ¶m§MoM Zm‘m§H$Z ’$º$ AZwHy$b R>aVo.
1) nVr/nËZr Am{U ‘wbo nmbH$m§gh 2) OmoS>rXma Am{U Aënd¶rZ ‘wbo
3) nmbH$, OmoS>rXma Am{U ‘wbo 4) H$moUVrhr ì¶{º$

20) A nomination can be made only in favour of ..........

1) Spouse and children with guardian 2) Spouse and minor children

3) Parents, spouse and children 4) Any individual

21) ............ hm {d‘m g§H$sU© {d‘m àH$mam‘Ü¶o ¶oV Zmhr.
1) dmhZ {d‘m 2) B‘mZ h‘r {d‘m 3) AmJ {d‘m 4) Amamo½¶ {d‘m

21) ............ is not included in Miscellaneous Insurance.

1) Motor Insurance 2) Fidelity Insurance  3) Fire Insurance 4) Health Insurance

22) Imbrbn¡H$s H$moUVo {d‘mVÎd Amho ?
1) {då¶mVrb ñdmañ¶ 2) j{VnwVu 3) AË¶§V gX²̂ mdZm 4) darb gd©

22) Which of the following is an insurance principle ?

1) Insurable interest 2) Indemnity 3) Utmost good faith 4) All of above

23) OrdZ {d‘m‘Ü¶o gm‘mÝ¶V… dmnaë¶m OmUmè¶m SA Mm {dñVm[aV ’$m°‘© {ZdS>m.
1) {d‘m a¸$‘ (Sum Assured) 2) nyaH$ AmídmgZ (Supplementary Assurance)

3) ‘wÐm§H$ H$m¶Xm (Stamp Act) 4) dmMboë¶m§Mr dm{f©H$s (Survivors Annuity)

23) Select the expanded from of SA as commonly used in life insurance.

1) Sum Assured 2) Supplementary Assurance

3) Stamp Act 4) Survivors Annuity

24) TPA gmR>r {H$‘mZ {H$Vr ^mJ^m§S>db JaOoMo Amho ?
1) 1 H$moQ>r 2) 10 H$moQ>r 3) 50 bmI 4) {H$‘mZ ‘¶m©Xm Zmhr

24) How much minimum share capital requirement for TPA ?

1) 1 crore 2) 10 crore

3) 50 lakh 4) No minimum share capital requirement
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25) ^maVmV, {d‘m H§$nÝ¶m {d‘mhám Jmoim H$aVmV.
a) AmJmD$, JQ>mV gXñ¶mÀ¶m àdoemÀ¶m doir
b) Jmoim Ho$boë¶m {d‘mhßË¶m‘YyZ EH$ ’§$S> V¶ma Ho$bm OmVmo Am{U ZwH$gmZ Pmboë¶m gXñ¶m§À¶m Xmì¶m§Mm {ZnQ>mam

H$aÊ¶mgmR>r dmnaOm OmVmo.
n¶m©¶r CÎmao …
1) ’$º$ (a) ~amo~a Amho. 2) ’$º$ (b) ~amo~a Amho.
3) (a) Am{U (b) XmoÝhrhr ~amo~a AmhoV 4) darbn¡H$s EH$hr Zmhr

25) In India, the premium is collected by insurance companies.

a) In advance at the time of admission of the member to the group

b) A fund is created from the premiums collected and is used to settle claims of members

who suffer loss.

Answer options :

1) Only (a) is true 2) Only (b) is true

3) (a) and (b) both are true 4) None of the above

26) {d‘m H§$nÝ¶m§Mm ‘hgyb H$moRy>Z ¶oVmo ?
1) {d‘mYmaH$mZo ^abobm {d‘mhám
2) {d‘m H§$nZrZo Ho$boë¶m Jw§VdUwH$sdarb ì¶mOmMo CËnÞ
3) {d‘m H§$nZrZo Ho$boë¶m Jw§VdUwH$sdarb bm^m§emMo CËnÞ
4) darb gd©

26) Where insurance companies revenue come from ?

1) Premium paid by insured

2) Income from interest on investment that insurance co. have made

3) Income from dividends on investment that insurance co. have made

4) All of above

27) {d‘m g§MmbZmb¶mMo {d^mJ à‘wI H$moU AmhoV ?
1) {d‘m g{Md 2) {d‘m Am¶wº$ 3) {d‘m g§MmbH$ 4) {d‘m ‘hmg§MmbH$

27) Who is the Head of Department for Directorate of Insurance ?

1) Insurance Secretary 2) Commissioner of Insurance

3) Director of Insurance 4) Director General of Insurance

28) {d‘mg§MmbZmb¶mMo Cng§MmbH$ ¶m§Zm Ahdmb XoVmV …
1) g§MmbH$ 2) ghg§MmbH$ 3) AmhaU d g§{dVaU A{YH$mar 4) darbn¡H$s Zmhr

28) Deputy Director of Directorate of Insurance reports to :

1) Director 2) Joint Director

3) Drawing and Disbursing officer 4) None of the above

29) Imbrb {dYmZo Iar AmhoV qH$dm ImoQ>r ¶mMr CÎmao Úm.
(a) nwZ{d©‘m ~mOmamV àmW{‘H$ {d‘mH$Vm© H§$nZrbm "ceding company" åhUVmV.
(b) àmW{‘H$ {d‘mH$Ë¶m©Zo {dVarV Ho$bobr OmoIr‘ nwZ{d©‘mH$Vm© pñdH$maVmo.
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n¶m©¶r CÎmao …
1) ’$º$ (a) Iao 2) ’$º$ (b) Iao
3) (a) Am{U (b) Iao AmhoV 4) darbn¡H$s H$moUVohr Zmhr

29) Give answers whether the following statements are true or false ?

a) The primary insurer is called ""ceding company" in reinsurance market.

b) The reinsurer accept the risk passes by primary insurer.

Answer options :

1) Only (a) is true 2) Only (b) is true

3) (a) and (b) both are true 4) (a) and (b) both are false
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(14) ^maVr` CÚmoJ, nm`m ŷV gw{dYm Am{U godm joÌ

CÚmoJ d godm joÌ, nm¶m ŷV gw{dYm {dH$mg
1) ^maVr¶ CÚmoJ - OS> d ‘moR>o CÚmoJ, gmd©O{ZH$ CnH«$‘
2) E‘EgE‘B© - cKwCÚmoJ, Am¡Úmo{JH$ g‘yh {dH$mg (³bñQ>a)
3) Am¡Úmo{JH$ YmoaU - ̂ maVmVrb Am¡Úmo{JH$ YmoaU, ‘hmamï´>mMo Am¡Úmo{JH$ YmoaU
4) CÚmoJm§gmR>rMo {dÎmr¶ ghmæ¶ d YmoaU - gyú‘, bKw CÚmoJm§Zm {dÎmr¶ ghmæ¶mÀ¶m ¶moOZm- amï´>r¶H¥$V d AZwgy{MV

~±H$m§‘m’©$V CÚmoJm§Zm {dÎmr¶ ghmæ¶, bKw CÚmoJm§gmR>rMo {dÎmr¶ YmoaU
5) CÚmoJ{df¶H$ A{Y{Z¶‘ - CÚmoJmgmR>r Amdí¶H$ nadmZo/H$a H$m¶Xo, CÚmoJ ({dH$mg d {Z¶‘Z) A{Y{Z¶‘ 1951,

Am¡Úmo{JH$ CnH«$‘m§Mr Zm|XUr, Am¡Úmo{JH$ CnH«$‘ (‘m{hVr d AmH$S>odmar Jmoim H$aUo) {Z¶‘ 1959, gyú‘, bKw d ‘Ü¶‘
CnH«$‘ A{Y{Z¶‘ 2006, Am¡Úmo{JH$ gwH$aVm n[afX {Z¶‘ d H$m¶©àUmbr

6) CÚmoJmer g§~§{YV {d{dY ‘hm‘§Sio
7) {deof Am{W©H$ joÌ A{Y{Z¶‘ d CÚmoJ{df¶H$ H$m¶Xo
8) CÚmoJm§Mo nwZd©gZ YmoaU
9) CÚmoOH$Vm {dH$mg d amoOJma {Z{‘©Vr - ñWm{ZH$ bmoH$m§Zm amoOJma àmYmÝ¶
10) CÚmoJ ì¶dñWmnZ, {dnUZ ì¶dñWmnZ, Vmio~§X Ahdmb, àH$ën Ahdmb d Am{W©H$ {díbofU

nm¶m ŷV gw{dYm {dH$mg
1) J«m‘rU d ehar ̂ mJmVrc n[adhZ (añVo, ~§Xa, BË¶mXr) d J¥h ¶m{df¶rMo àíZ d Ë¶m~m~VMo H$m¶©H«$‘
2) D$Om©, nmUrnwadR>m d ‘c{ZñgmaU, XiUdiU (nmoñQ> d Vma, Xÿag§Mma) ao{S>Amo, Q>rìhr, B§Q>aZoQ> H«$m¶{gg
3) ImOJr-gmd©O{ZH$ joÌmVrc ̂ mJrXmar, E’$S>rAm¶ d BÝ’«$mñQ´>³Ma S>oìhcn‘|Q>,BÝ’«$mñQ´>³MaMo ImOJrH$aU
4) amÁ¶ d H|$Ð gaH$maMo BÝ’«$mñQ´>³Ma {dH$mgmMo YmoaU, gm‘m{OH$ d Am{W©H$ nm¶m ŷV gw{dYm§Mm {dH$mg Am{U dmT>

CÚmoJ d godm joÌ, nm¶m ŷV gw{dYm {dH$mg

1) ^maVr¶ CÚmoJ - OS> d ‘moR>o CÚmoJ, gmd©O{ZH$ CnH«$‘
1) TISCO hr H§$nZr ^maV gaH$maZo H$Yr Vmã¶mV KoVbr ?

1) 14 Owb¡, 1976 2) 10 OmZodmar, 2010 3) 24 Owb¡, 1990 4) 20 OmZodmar, 2015
1) When did the Government of India take over the TISCO company ?

(1) 14th July, 1976 (2) 10? January, 2010

(3) 24th July, 1990 (4) 1st May, 1960

2) amCaHo$bm, {^bmB© Am{U XþJm©nya ¶oWo gmd©O{ZH$ joÌmVrb VrZ ‘moR>o ñQ>rb àH$ën H$moUË¶m n§Mdm{f©H$ ¶moOZoXaå¶mZ
C^maÊ¶mV Ambo?
1) n{hbr n§Mdm{f©H$ ¶moOZm 2) Xþgar n§Mdm{f©H$ ¶moOZm
3) {Vgar n§Mdm{f©H$ ¶moOZm 4) Mm¡Wr n§Mdm{f©H$ ¶moOZm
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2) During which five year plan three major steel plants in the public sector were built up at Rourkela,

Bhilai and Durgapur ?

1) First Five Year Plan 2) Second Five Year Plan

3) Third Five Year Plan 4) Fourth Five Year Plan

3) 1993 ‘Ü¶o gaH$maZo ...... ¶m§À¶m AÜ¶jVoImbr gmd©O{ZH$ joÌmVrb CnH«$‘m§Mr {ZJwªVdUyH$ H$aÊ¶mgmR>r g{‘Vr
Zo‘bobr hmoVr.
1) Or. ìhr am‘H¥$îU 2) ‘m±Q>oH$ Ahbwdm{b¶m 3) gr. a§JamOZ 4) gr. nr. M§ÐeoIa

3) The Government appointed a Committee in 1993 on Disinvestment in Public Sector Enterprises

under the Chairmanship of .........

1) G. V. Ramkrishna 2) Montek Ahluwalia

3) C. Rangrajan 4) C. P. Chandrashekhar

4) ¶mo½¶ OmoS>çm Owidm …
a) XoemVrb {ÛVr¶ H«$‘m§H$mMm H¥$fràYmZ CÚmoJ i) gyVr H$mnS> CÚmoJ
b) XoemVrb gdm©V OwZm d g§K{Q>V joÌmVrb CÚmoJ ii) bmoh d ñQ>rb CÚmoJ
c) ObX Am¡Úmo{JH$sH$aUmg H$maUr ŷV R>aUmam CÚmoJ iii) gmIa CÚmoJ
d) ZdrZ V§ÌkmZmMm dmna iv) dmhZ CÚmoJ
Answer Options :

(a) (b) (c) (d)

1) (ii) (i) (iii) (iv)

2) (iii) (ii) (i) (iv)

3) (iii) (i) (ii) (iv)

4) (iii) (iv) (i) (ii)

4) Match the following :

a) Second largest agro based industry in India i) Cotton indiustry

b) One of the oldest and organised industry in India ii) Iron and steel industry

c) Industry leading to rapid industrialisation iii) Sugar industry

d) Use of new technology iv) Automobile industry

Answer Options :

(a) (b) (c) (d)

1) (ii) (i) (iii) (iv)

2) (iii) (ii) (i) (iv)

3) (iii) (i) (ii) (iv)

4) (iii) (iv) (i) (ii)

5) Imbrbn¡H$s H$moUË¶m gmd©O{ZH$ CnH«$‘mÀ¶m {ZJ{S>V g‘ñ¶m AmhoV?
a) gmd©O{ZH$ CnH«$‘mÀ¶m ì¶dñWmnZmV nwT>mH$mambm dmd Zmhr.
b) gmd©O{ZH$ CnH«$‘m§Mr qH$‘V YmoaUo VH©$g§JV Am{W©H$ VÎdm§da AmYm[aV ZgVmV.
c) gmd©O{ZH$ CnH«$‘m§Mo A§XmOnÌH$ A{Ve¶ H$S>H$ YmoaUmMo AgVo.
d) gmd©O{ZH$ CnH«$‘m§Mo ì¶dñWmnH$ n[aUm‘m§nojm nÕVtda A{YH$ ^a XoVmV.
n¶m©¶r CÎmao …
1) (a), (b) Am{U (c) 2) (a), (b) Am{U (d) 3) darbn¡H$s gd© 4) Ho$di (a)
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5) Which of the following are the major problems faced by public sector enterprises ?

(a) Public enterprise management has little initiative left.

(b) Public enterprises’ pricing policies are not guided by rational economic principles.

(c) Budgets of public enterprises are based on hard policies. .

(d) The managers of public enterprises become procedure-oriented rather than outcome-ori-

ented.

Answer Options :

(1) (a), (b) and (c) (2) (a), (b) and (d) (3) Allof the above (4) Only (a)

2) E‘EgE‘B© - cKwCÚmoJ, Am¡Úmo{JH$ g‘yh {dH$mg (³bñQ>a)
1) MSMED H$m¶Xm 2006, H$YrnmgyZ A§‘bmV Ambm ?

1) 01 E{àb 2006 2) 02 ‘mM© 2007 3) 01 ‘o 2006 4) 02 Am°³Q>mo~a 2006
1) When did the MSMED Act 2006 come into force?

1) 01 April 2006 2) 02 March 2007 3) 01 May 2006 4) 02 October 2006

2) Imbrbn¡H$s H$moUË¶m amÁ¶mZo amï´>r¶ gyú‘, bKw Am{U ‘Ü¶‘ CÚmoJ nwañH$ma, 2022 ‘Ü¶o àW‘ nm[aVmo{fH$ nQ>H$mdbo?
1) ‘hmamï´> 2) JwOamV 3) CÎma àXoe 4) Amo{S>em

2) Which of the following States won the first prize in National Micro, Small and Medium Enterprises

Awards, 2022 ?

1) Maharashtra 2) Gujarat 3) Uttar Pradesh 4) Odisha

3) E‘ Eg E‘ B© S>r H$m¶Xm 2006 Mo H$b‘ 10 .............. g§~§{YV Amho.
1) H|$Ð gaH$maH$Sy>Z AZwXmZ 2) H«o${S>Q> gw{dYm
3) Á¶m VmaIonmgyZ Am{U XamZo ì¶mO Xo¶ Amho. 4) Ý¶m¶mb¶mMo A{YH$ma joÌ

3) Section 10 of the MSMED Act, 2006 deals with ......

1) Grant by Central Government

2) Credit Facility

3) Date from which andrate at which interest is payable

4) Jurisdiction of Court

4) ‘hmamï´> amÁ¶ Am¡Úmo{JH$ g‘yh {dH$mg ¶moOZ|VJ©V àH$ënmÀ¶m gm‘m{¶H$ gw{dYm H|$Ð C^maUrgmR>r Amdí¶H$ ¶§Ìgm‘J«r
d BVa ~m~tMr IaoXr à{H«$¶m H$moUË¶m g{‘Vr‘m’©$V hmoVo ?
1) amÁ¶ñVarb g{‘Vr 2) {OëhmñVar¶ g{‘Vr
3) {d^mJr¶ g{‘Vr 4) ¶mn¡H$s EH$hr Zmhr

4) Which committee implement the purchase procedure for procurement of machineries and other

items required for common facility centre of the project under Maharashtra State Industrial Cluster

Development Programme Scheme ?

1) State Level Committee 2) Disstrict Level Committee

3) Regional Committee 4) None of the above
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5) H$WZ I …
""gyú‘ Am{U bKw CÚmoJm‘Ü¶o ‘moR>çm CÚmoJmnojm MmanQ> A{YH$ l‘ gm‘mdyZ KoÊ¶mMr j‘Vm Amho.''
H$WZ II …
""gZ 2012-13 ‘Ü¶o gyú‘-bKw-‘Ü¶‘ CÚmoJm§Mm (MSME) gH$b amï´>r¶ CËnmXZmVrb dmQ>m 7.3 Q> o̧$ Va EHy$U
CËnmXZ 37.5 Q> o̧$ Zm|X{dbo Amho.''
n¶m©¶r CÎmao …
1) ’$º$ I ho AgË¶ Amho 2) ’$º$ II ho AgË¶ Amho.
3) I Am{U II ho XmoÝhrhr gË¶ AmhoV. 4) I Am{U II ho XmoÝhrhr AgË¶ AmhoV.

5) Statement I :

‘Labour intensity in the micro and small enterprises sector is almost 4 times higher than the large

enterprises.”

Statement II :

“In the year 2012 — 2013, the MSME sector contributed 7 3 percent of GDP and 37 5 percent of

manufacturing output.”

Answer Options :

(1) Only I is false (2) Only II is false

(3) Both I and II are true (4) Both I and II are false

6) ‘mJmg ^mJmV CÚmoJ gwê$ H$aÊ¶mgmR>r dm§ÀNy> H$m¶©JQ>mZo Imbrbn¡H$s H$moUVr {e’$mag Ho$br ZìhVr ?
1) nmM dfmªÀ¶m H$mbmdYrgmR>r H$mnm}aoQ> Am¶H$amVyZ gyQ> XoUo.
2) nmM dfm©À¶m H$mbmdYrgmR>r CËnmXZ ewëH$mVyZ gyQ> XoUo.
3) nmUr nwadR>m AZwXmZmMr VaVyX
4) dmhVyH$ AZwXmZmMr VaVyX

6) Which of the following measures was not recommended by Wanchoo Working Group for starting

industries in backward areas ?

1) Exemption from corporate income tax for a period of five years

2) Exemption from excise duties for a period of five years

3) Provision of water supply subsidy

4) Provision of transport subsidy

3) Am¡Úmo{JH$ YmoaU - ^maVmVrb Am¡Úmo{JH$ YmoaU, ‘hmamḯ>mMo Am¡Úmo{JH$ YmoaU
1) ^maVmMo n{hbo Am¡Úmo{JH$ YmoaU R>amd H$moUË¶m dfu Om{ha H$aÊ¶mV Ambm ?

1) 1952 2) 1948 3) 1955 4) 1960
1) The first ever Industrial Policy Resolution of India was announced in which year ?

1) 1952 2) 1948 3) 1955 4) 1960

2) 1991 Z§Va "‘hmamï´> emgZmZo' ZdrZ Am¡Úmo{JH$ YmoaUmMr KmofUm H$Yr Ho$br ?
1) 1972 2) 1993 3) 1994 4) 1995

2) When did the ‘Government of Maharashtra’ announce a new industrial policy after 1991?

1) 1992 2) 1993 3) 1994 4) 1995
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3) 1991 À¶m ZdrZ Am¡Úmo{JH$ YmoaUmMo Imbrbn¡H$s H$moUVo d¡{eîQ>ç Zmhr?
1) Am¡Úmo{JH$ nadmZm aÔ 2) gmd©O{ZH$ joÌmV ZdrZ CÚmoJm§Mr C^maUr
3) {dXoer Jw§VdUwH$sbm nadmZJr 4) MRTP ‘¶m©Xm H$mTy>Z Q>mH$Uo

3) Which of the following was not a feature of the New Industrial Policy-1991?

1) Abolition of industrial licensing 2) Setting up of new public sector enterprises

3) Permission to foreign investment 4) Removal of MRTP limit

4) ‘hmamï´> Am¡Úmo{JH$ YmoaU 2019 Mr Imbrbà‘mUo C{Ôï>o AmhoV …
a) gZ 2023-24 n¶ªV amÁ¶mMm àH$ën CËnÞ d CËnmXZ joÌmMm {hñgm 25% JmR>UogmR>r CËnmXZ joÌmMm dmT>rMm
Xa 12% Vo 13% n¶ªV am~dUo.
b) 10 bmI H$moQ>tMo Jw§VdUyH$ AmH$f©U H$aUo.
c) gZ 2023-24 n¶ªV 40 bj amoOJmam§Mr g§Yr {Z‘m©U H$aUo.
Cnamoº$gmR>B© H$moUVm n¶m©¶ ~amo~a AmhoV ?
1) gd© ~amo~a 2) gd© MyH$ 3) ’$º$ (a) d (b) ~amo~a 4) ’$º$ (c) ~amo~a

4) Maharashtra Industrial Policy 2019 Targets are as follows :

a) To keep the growth rate of manufacturing sector at 12% to 13% to achieve 25% share of state

project revenue and manufacturing sector by 2023-24.

b) To attract investment of Rs.10 lakh crore.

c) To create 40 lakhs employment opportunities by the year 2023-24.

Which option is correct with respect to above ?

1) All correct 2) All wrong 3) Only (a) and (b) correct 4) Only (c) correct

5) amÁ¶mVrb ‘{hbm CÚmoOH$m§gmR>r {deof YmoaU-2017 Zwgma nmÌ CËnmXZ CÚmoJm§Zm Imbrbà‘mUo bm^ {Xbo OmVmV.
a) ^m§S>dbr AZwXmZ-15% Vo 35% b) ì¶mO Xa AZwXmZ-5%
c) H$m‘Jma H$ë¶mU ghmæ¶ d) drO Xa AZwXmZ
darbn¡H$s H$moUVo {dYmZ/{dYmZo MwH$sMo AmhoV ?
1) ’$º$ (c) 2) ’$º$ (d) 3) ’$º$ (a) d (b) 4) darb gd©

5) As per the special policy for women entrepreneurs in the state - 2017, the following benefits

are given to eligible manufacturing industries :

a) Capital Subsidy - 15% to 35% b) Interest Subsidy - 5%

c) Labour welfare assistance d) Subsidy for electricity tariff

Which of the above given statement is/are wrong ?

1) Only (c) 2) Only (d) 3) Only (a) and (b) 4) All of the above

6) ‘hmamï´>mMo ZdrZ Am¡Úmo{JH$ YmoaU 2019 ~m~V …
a) ho YmoaU emgZ {ZU©¶mÛmao {X. 7 ‘mM© 2019 amoOr Omhra H$aÊ¶mV Ambo.
b) gXa YmoaUmMm H$mbmdYr 1 E{àb 2019 nmgyZ nwT>rb nmM dfm©À¶m H$mbmdYrgmR>r bmJy amhrb.
c) gZ 2023-24 n¶ªV 50 bmI bmoH$m§gmR>r amoOJmamÀ¶m g§Yr {Z‘m©U H$aUo hm ¶m YmoaUmMm bjm§H$ Amho.
d) ZdrZ ³b°Jern ¶moOZoMm eŵ ma§̂ -‘w»¶‘§Ìr amoOJma {Z{‘©Vr ¶moOZm.
darbn¡H$s H$moUVo {dYmZ/{dYmZo ~amo~a AmhoV ?
1) ’$º$ (d) 2) ’$º$ (b), (c) 3) ’$º$ (a), (b), (c) 4) ’$º$ (a), (b), (d)
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6) About New Industrial Policy 2019 of Maharashtra :

a) This policy is declared by Government Resolution on 7 March 2019.

b) This policy shall be valid for a period of five years from 1 April 2019.

c) The target of this policy is to create employment opportunities for 50 lakh people by 2023-24.

d) Launching of new flagship scheme - Chief Minister Employment Generation Programme.

Which of the above statement/s is/are correct ?

1) Only (d) 2) Only (b), (c) 3) Only (a), (b), (c) 4) Only (a), (b), (d)

4) CÚmoJm§gmR>rMo {dÎmr¶ ghmæ¶ d YmoaU
* gyú‘, bKw CÚmoJm§Zm {dÎmr¶ ghmæ¶mÀ¶m ¶moOZm- amï´>r¶H¥$V d AZwgy{MV ~±H$m§‘m’©$V CÚmoJm§Zm {dÎmr¶ ghmæ¶, bKw

CÚmoJm§gmR>rMo {dÎmr¶ YmoaU

1) {Oëh CÚmoJ H|$Ð H$O© ¶moOZo‘Ü¶o CÚmoJm‘Yrb ¶§Ìgm‘J«r Jw§VdUyH$ {H$Vr AgUo Amdí¶H$ Amho ?
1) é.2 bmI nojm H$‘r 2) é.5 bmImÀ¶m da
3) é.50 bmImÀ¶m Ka 4) é.1 H$moQ>rÀ¶m da

1) Investment in plant and machinery should be in what extent in District Industries Centre loan

scheme ?

1) Below Rs.2 lakhs 2) Above Rs.5 lakhs

3) Above Rs.50 lakhs 4) Above Rs.1 crore

2) nwT>rbn¡H$s H$moUË¶m XmoZ amï´>m§Mr 1991 Vo 2019 ¶m H$mbmdYr‘Ü¶o ‘hmamï´> amÁ¶mV Am¡Úmo{JH$ joÌmV ‘moR>r Jw§VdUyH$
hmoVr ?
1) B§½b§S> Am{U A‘o[aH$m 2) A‘o[aH$m Am{U ’«$mÝg
3) A‘o[aH$m Am{U ‘m°[aeg 4) A‘o[aH$m Am{U OnmZ

2) Which of the following two nations had a major investment in industrial sector in the State of

Maharashtra from 1991 to 2010 ?

1) England and America 2) America and France

3) America and Mauritius 4) America and Japan

3) ............ ¶m joÌmbm 2019-20 ‘Ü¶o ‘hmamï´>mV gdm©{YH$ g~{gS>r {‘imbr Amho.
1) ‘hmamï´> amÁ¶ drO {dVaU H§$nZr 2) Am¡Úmo{JH$ joÌmbm àmoËgmhZo
3) AÞYmÝ¶ dmQ>n (AÞnyUm© dJ¡ao) 4) ‘hmamï´> amÁ¶ añVo dmhVyH$ ‘hm‘§S>i

3) .............. is the major subsidy receiving sector in Maharashtra in 2019-20.

1) Maharashtra State Electricity Distribution Company

2) Incentives to industrial units

3) Food grain distribution for Annapurna etc.

4) Maharashtra State Road Transport Corporation
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5) CÚmoJ{df¶H$ A{Y{Z¶‘ d H$m¶Xo
1) CÚmoJ ({dH$mg d {Z¶‘Z) A{Y{Z¶‘ 1951, Am¡Úmo{JH$ CnH«$‘m§Mr Zm|XUr
2) Am¡Úmo{JH$ CnH«$‘ (‘m{hVr d AmH$S>odmar Jmoim H$aUo) {Z¶‘ 1959
3) gyú‘, bKw d ‘Ü¶‘ CnH«$‘ A{Y{Z¶‘ 2006
4) Am¡Úmo{JH$ gwH$aVm n[afX {Z¶‘ d H$m¶©àUmbr
5) Am¶mV-{Z¶m©V YmoaU
6) Z°eZb H§$nZr bm° {Q´>~wZb (EZ gr Eb Q>r)
7) B§{S>¶Z noQ>ÝQ> A°³Q> 1911
8) ’°$³Q>arO A°³Q> 1948
9) B§{S>¶Z Q´>oS> A°ÊS> ‘MªQ> A°³Q> 1958
10) ~m°å~o Bbop³Q´>{gQ>r A°³Q> 1958 d gwYmaUm

1) H|$Ð emgZmZo amï´>r¶ H§$nZr {dYr A{^H$aUmMr ñWmnZm ........... nmgyZ Ho$bobr Amho.
1) 15 ‘mM© 2016 2) 1 OyZ 2016 3) 4 Am°JñQ> 2017 4) 10 Owb¡ 2017

1) The Central Government has Constituted National Company Law Tribunal w.e.f. ......

1) 15 March 2016 2) 1 June 2016 3) 4 August 2017 4) 10 July 2017

2) amï´>r¶ H§$nZr {dYr A{^H$aUmMo BVa gXñ¶ ho Ë¶m§Mo H$m¶ .......... nyU© hmoB©n¶ªV nXmda amhÿ eH$VmV.
1) 67 df} 2) 65 df} 3) 68 df} 4) 70 df}

2) The other member of National Company Law Tribunal shall hold office until he attains the age of

...... years

1) 67 years 2) 65 years 3) 68 years 4) 70 years

3) Am¡Úmo{JH$ ({dH$mg d {Z¶‘Z) A{Y{Z¶‘, 1951 A§VJ©V Am¡Úmo{JH$ CnH«$‘m§Zm AZwkmár qH$dm nadmZJr XoUo~m~V
H$moUË¶m H$b‘mÝd¶o {deX Ho$bo Amho ?
1) H$b‘ 14 (Am¶ S>r Ama A°³Q>, 1951) 2) H$b‘ 3 (Am¶ S>r Ama A°³Q>, 1951)
3) H$b‘ 18E (Am¶ S>r Ama A°³Q>, 1951) 4) H$b‘ 18FB (Am¶ S>r Ama A°³Q>, 1951)

3) Procedure for the grant of licence of permission to industries is mentioned in which section of

the Industries (Development and Regulation) Act, 1951 :

1) Section 14 of IDR Act, 1951 2) Section 3 of IDR Act, 1951

3) Section 18E of IDR Act, 1951 4) Section 18FB of IDR Act, 1951

4) Am¡Úmo{JH$ ({dH$mg d {Z¶‘Z) A{Y{Z¶‘, 1951 ‘Yrb Imbrb {dYmZo {dMmamV ¿¶m …
a) Am¡Úmo{JH$ ({dH$mg d {Z¶‘Z) A{Y{Z¶‘, 1951 ‘Ü¶o EHy$U 3 eoS>çwb AmhoV.
b) Am¡Úmo{JH$ ({dH$mg d {Z¶‘Z) A{Y{Z¶‘, 1951 ‘Yrb {Vgè¶m eoS>çwb‘Ü¶o 3 A{Y{Z¶‘m§Mr ¶mXr g‘m{dï> Amho.

i) Am¡Úmo{JH$ godm¶moOZ (ñWm¶r AmXoe) A{Y{Z¶‘, 1946 (1946 ‘Yrb 20 dm)
ii) Am¡Úmo{JH$ {ddmX H$m¶Xm, 1947 (1947 ‘Yrb 14 dm)
ii) {H$‘mZ doVZ A{Y{Z¶‘, 1948 (1948 ‘Yrb 11 dm)

darbn¡H$s H$moUVo {dYmZ/{dYmZo ~amo~a AmhoV ?
1) (a) ’$º$ 2) (a) Am{U (b) XmoÝhr 3) (b) ’$º$ 4) ¶mn¡H$s EH$hr Zmhr
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4) Consider the following statements related to IDR Act, 1951 :

a) In IDR Act, 1951 there are 3 schedules.

b) In the third schedule of IDR Act, 1951 there are list of 3 Acts namely as

i) The Industrial Employment (Standing orders) Act, 1946 (20 of 1946)

ii) The Industrial Disputes Act. 1947 (14 of 1947)

iii) The Minimum Wages Act, 1948 (11 of 1948)

Which of the statement given above is/are correct?

1) (a) only 2) (a) and (b) both 3) (b) only 4) None of the above

5) CÚmoJ ({dH$mg d {Z¶‘Z) A{Y{Z¶‘ 1951, H$b‘ 5(2) AÝd¶o H|$Ðr¶ g„mJma n[afXoV EH$ AÜ¶j Am{U Ago
BVa gXñ¶m§Mm g‘mdoe Agob, Á¶m§Mr g§»¶m ............... nojm OmñV Zgob.
1) 25 2) 30 3) 35 4) 40

5) According to the Industries (Development and Regulation) Act 1951, section 5(2), the central

advisory council shall consist of a chairman and such other members, not exceeding ...... in number

1) 25 2) 30 3) 35 4) 40

6) gyú‘ Am{U bKw CÚmoJ gw{dYm n[afXoMr aMZm E‘ Eg E‘ B© S>r H$m¶Xm, 2006 À¶m H$b‘ ........... ‘Ü¶o g‘m{dï>
H$aÊ¶mV Ambobr Amho.
1) E‘ Eg E‘ B© S>r H$m¶Xm, 2006 Mo H$b‘ 24 2) E‘ Eg E‘ B© S>r H$m¶Xm, 2006 Mo H$b‘ 22
3) E‘ Eg E‘ B© S>r H$m¶Xm, 2006 Mo H$b‘ 21 4) E‘ Eg E‘ B© S>r H$m¶Xm, 2006 Mo H$b‘ 23

6) Composition of micro and small enterprises facilitation council is provided in section ...... of the

MSMED Act, 2006.

1) Section 24 of the MSMED Act, 2006 2) Section 22 of the MSMED Act, 2006

3) Section 21 of the MSMED Act, 2006 4) Section 23 of the MSMED Act, 2006

7) MSMED H$m¶Xm, 2006 Mo H$moUVo H$b‘ {ZYm©[aV VmarI Am{U nwadR>mXmamg MH«$dmT> ì¶mO XamZo àXmZ H$aÊ¶mÀ¶m
CÎmaXm{¶Ëdm g§~§{YV Amho ?
1) E‘ Eg E‘ B© S>r H$m¶Xm, 2006 Mo H$b‘ 16 2) E‘ Eg E‘ B© S>r H$m¶Xm, 2006 Mo H$b‘ 14
3) E‘ Eg E‘ B© S>r H$m¶Xm, 2006 Mo H$b‘ 13 4) E‘ Eg E‘ B© S>r H$m¶Xm, 2006 Mo H$b‘ 18

7) Which section of the MSMED Act, 2006 deal with the appointed date and liability to pay compound

interest to supplier?

1) Section 16 of the MSMED Act, 2006 2) Section 14 of the MSMED Act, 2006

3) Section 13 of the MSMED Act, 2006 4) Section 18 of the MSMED Act, 2006

8) CÚmoJ ({dH$mg d {Z¶‘Z) A{Y{Z¶‘ 1951 g§~§Yr …
a) hm A{Y{Z¶‘ 15 {S>g|~a 1951 nmgyZ A§‘bmV Ambm.
b) ¶m A{Y{Z¶‘mV EHy$U 32 H$b‘o AmhoV.
c) ¶m A{Y{Z¶‘mV EHy$U 3 n[a{eï>o AmhoV.
d) ¶m A{Y{Z¶‘mVrb {Vgao n[a{eï> ho {dH$mg n[afXoH$S>o gmon{dÊ¶mV ¶oD$ eH$Umar H$m¶} ¶mÀ¶mer g§~§{YV Amho.
darbn¡H$s H$moUVo {dYmZ/{dYmZo ~amo~a AmhoV ?
1) ’$º$ (c) 2) ’$º$ (a) d (d) 3) ’$º$ (b) d (c)  4) darb gd©
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8) About The Industries (Development and Regulation) Act 1951 :

a) This act came into force on 15 December 1951.

b) There are 32 Section in this Act.

c) There are 3 Schedules in this Act.

d) The Third Schedule of this Act deals with function which may be assigned to Development

Council.

Which of the above statement is/are correct?

1) Only (c) 2) Only (a) and (d) 3) Only (b) and (c) 4) All of above

9) CÚmoJ ({dH$mg d {Z¶‘Z) A{Y{Z¶‘ 1951 Zwgma H$b‘ d Ë¶mMr VaVyX ¶m§À¶m OmoS>çm bmdm …
H$b‘ VaVyX

a) 5 (i) {dÚ‘mZ Am¡Úmo{JH$ CnH«$‘m§Mr Zm|XUr
b) 8 (ii) n[ajUmMm A{YH$ma
c) 10 (iii) H|$Ðr¶ g„mJma n[afX - ñWmnZm, JR>Z d Ë¶m§Mo H$m¶}
d) 19 (iv) {dH$mg n[afXoMo {dKQ>Z
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (iii) (iv) (i) (ii)

2) (iv) (i) (iii) (ii)

3) (ii) (iii) (iv) (i)

4) (ii) (i) (iv) (iii)

9) Match the section and its provision according to the Industries (Development and Regulation)

Act 1951 :

Section  Provision

a) 5 i) Registration of existing industrial undertakings

b) 8 ii) Power of inspection

c) 10 iii) Establishment and Constitution of Central Advisory Council and its

function

d) 19 iv) Dissolution of Development Councils

Answer Options :

(a) (b) (c) (d)

1) (iii) (iv) (i) (ii)

2) (iv) (i) (iii) (ii)

3) (ii) (iii) (iv) (i)

4) (ii) (i) (iv) (iii)

10) CÚmoJ ({dH$mg d {Z¶‘Z) A{Y{Z¶‘ 1951, H$b‘ 6(1) Zwgma, H|$Ð emgZ A{YgyMZoÛmao AZwgy{MV CÚmoJ qH$dm
AZwgy{MV CÚmoJm§À¶m JQ>mgmR>r ì¶qº$Mo EH$ ‘§S>i ñWmnZ H$ê$ eH$Vo, Á¶mbm ....... Ago åhUVmV.
1) g„mJma n[afX 2) {dH$mg n[afX 3) H$m¶©H$mar n[afX 4) ¶mn¡H$s Zmhr

10) According to Section 6(1) of The Industries (Development and Regulation) Act 1951, Central

Government may, by notified order, establish for scheduled industry or group of scheduled

industries, a body of persons to be called as ......

1) Advisory Council 2) Development Council

3) Executive Council 4) None of above
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11) amï´>r¶ H§$nZr {dYr A{YH$aU (NCLT) Mr ñWmnZm H§$nZr H$m¶Xm 2013 À¶m H$moUË¶m H$b‘mÝd¶o Pmbr Amho ?
1) H§$nZr H$m¶Xm 2013 À¶m H$b‘ 410 À¶m AÝd¶o 2) H§$nZr H$m¶Xm 2013 À¶m H$b‘ 411 À¶m AÝd¶o
3) H§$nZr H$m¶Xm 2013 À¶m H$b‘ 409 À¶m AÝd¶o 4) H§$nZr H$m¶Xm 2013 À¶m H$b‘ 412 À¶m AÝd¶o

11) National Company Law Tribunal (NCLT) Constituted under which section of Companies Act 2013?

1) Company Law 2013, Section 410 2) Company Law 2013, Section 411

3) Company Law 2013, Section 408 4) Company Law 2013, Section 412

12) Z°eZb H§$nZr bm° {Q´>~wZb (EZ gr Eb Q>r) {Z¶‘ 2016 ‘Yrb H$moUË¶m H$b‘m‘Ü¶o Ho$gog {ZH$mbr H$mT>Uo~m~
(Disposal of Cases) {deX Ho$bo Amho ?
1) H$b‘ 144 (EZ gr Eb Q>r {Z¶‘ 2016) 2) H$b‘ 145 (EZ gr Eb Q>r {Z¶‘ 2016)
3) H$bZ 146 (EZ gr Eb Q>r {Z¶‘ 2016) 4) H$b‘ 156 (EZ gr Eg Q>r {Z¶‘ 2016)

12) Which Section of The National Company Law Tribunal (NCLT) Rule 2016 deals with "Disposal

of Cases"?

1) Section 144 of NCLT Rules 2016 2) Section 145 of NCLT Rules 2016

3) Section 146 of NCLT Rules 2016 4) Section 156 of NCLT Rules 2016

13) Z°eZb H§$nZr bm° {Q´>~wZb (EZ gr Eb Q>r) {Z¶‘ 2016 ‘Yrb H$moUË¶m H$b‘m‘Ü¶o ""Q´>mÝg’$S>© A°ßbrHo$eZ AWdm
Q´>mÝg’$S>© {nQ>reZ'' Mr ì¶m»¶m {deX Ho$br Amho.
1) H$b‘ 2(29) (EZ gr Eb Q>r {Z¶‘ 2016) 2) H$b‘ 2(22) (EZ gr Eb Q>r {Z¶‘ 2016)
3) H$b‘ 2(23) (EZ gr Eb Q>r {Z¶‘ 2016) 4) H$b‘ 2(25) (EZ gr Eb Q>r {Z¶‘ 2016)

13) Which section of The National Company Law Tribunal (NCLT) Rule 2016 defines "transferred

application or transferred petition"?

1) Section 2(29) of NCLT Rules 2016 2) Section 2(22) of NCLT Rules 2016

3) Section 2(23) of NCLT Rules 2016 4) Section 2(25) of NCLT Rules 2016

14) ‘hmamï´> Bbop³Q´>{gQ>r S>çwQ>r A{Y{Z¶‘ 2016 ‘Yrb H$moUË¶m H$b‘mÝd¶o H$mo-OZaoeZMr ì¶m»¶m {deX Ho$br Amho?
1) H$‘b 2(b) 2) H$b‘ 2(f) 3) H$b‘ 2(n) 4) H$b‘ 2(m)

14) Which section of Maharashtra Electricity Duty Act 2016 defines 'Co-generation'?

1) Section 2(b) 2) Section 2(f) 3) Section 2(n) 4) Section 2(m)

15) {X B§{S>¶Z noQ>§Q> A±S> {S>PmB©Z A°³Q> 1911 ‘Yrb H$moUË¶m H$b‘m‘Ü¶o "noQ>§Q>À¶m a{OñQ>a' ~Ôb {deX Ho$bo Amho ?
1) H$b‘ 20 (B§{S>¶Z noQ>§Q> A±S> {S>PmB©Z A°³Q> 1911)
2) H$b‘ 70 (B§{S>¶Z noQ>§Q> A±S> {S>PmB©Z A°³Q> 1911)
3) H$b‘ 47 (B§{S>¶Z noQ>§Q> A±S> {S>PmB©Z A°³Q> 1911)
4) H$b‘ 49 (B§{S>¶Z noQ>§Q> A±S> {S>PmB©Z A°³Q> 1911)

15) Which Section of The Indian Patent and Design Act 1911 deals with 'Register of Patents'?

1) Section 20 of Indian Patent and Design Act 1911

2) Section 70 of Indian Patent and Design Act 1911

3) Section 47 of Indian Patent and Design Act 1911

4) Section 49 of Indian Patent and Design Act 1911
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16) noQ>§Q> A°³Q> 1970 Zwgma noQ>§Q> XmIb H$aÊ¶mg H$moU nmÌ Amho ?
a) emoYmMm Iam d àW‘ emoY H$aÊ¶mMm Xmdm H$aUmam dm H$aUmar H$moUVrhr ì¶º$s
b) Iam Am{U àW‘ emoY H$aV Agë¶mMm Xmdm H$aUmè¶m ì¶º$s Ûmao {Z¶wº$s Ho$bobr H$moUVrhr ì¶º$s
c) ‘¥Ë¶ynydu noQ>§Q> H$aÊ¶mg nmÌ Agboë¶m ‘¥V ì¶º$sMm H$m¶Xoera à{V{ZYr
n¶m©¶r CÎmao …
1) gd© ~amo~a 2) ’$º$ (b) 3) darbn¡H$s H$moUVmhr n¶m©¶ Zmhr 4) ’$º$ (a)

16) Who is eligible to file a patent under the patent act 1970?

a) Any person claiming or making a genuine and first claim to discovery.

b) Any person appointed by a person claiming to be making a genuine original search.

c) Legal representative of any decreased person who was entitled to a patent prior to his death

Answer Options :

1) All correct 2) Only (b) 3) None of the above 4) Only (a)

6) CÚmoJmer g§~§{YV {d{dY ‘hm‘§Sio
1) ‘hmamï´> Am¡Úmo{JH$ {dH$mg ‘hm‘§S>i (MIDC)

2) {gH$m°‘ (SICOM)

3) ImXr J«m‘moÚmoJ {dH$mg - KVIB, KVIC

4) ‘hmamï´> àXÿfU {Z¶§ÌU ‘§S>i - MPCB, MSSIDC

5) ‘hmamï´> amÁ¶ bKwCÚmoJ {dH$mg ‘hm‘§S>i (MSSIDC)

6) ^m§S>ma IaoXr YmoaU

1) amÁ¶ emgZmÀ¶m emgH$s¶ gwYm[aV IaoXr YmoaUmZwgma (2016) {Z{dXm ñnYm©Ë‘H$ hmoÊ¶mgmR>r H$‘rV H$‘r {H$Vr
{Z{dXmH$ma AgUo Amdí¶H$ Amho ?
1) 10 2) 15 3) 11 4) 3

1) As per State Level Purchase Policy 2016, how many bidders are required to make the tender

competitive?

1) 10 2) 15 3) 11 4) 3

2) amÁ¶ emgZmÀ¶m {X. 1.12.2016 amoOrÀ¶m emgH$s¶ IaoXr YmoaUmZwgma {Z{dXm Zmo{Q>g à{gÕ Pmë¶mÀ¶m {XZm§H$mnmgyZ
é. n§Mdrg (25) bmI nwT>rb Vo nmM (5) H$moQ>rn¶ªV aH$‘oÀ¶m IaoXrMr {Z{dXm gmXa H$aÊ¶mgmR>rMm {H$‘mZ H$mbmdYr
{H$Vr Amho?
1) 4 AmR>dS>o qH$dm H$m‘mMo {H$‘mZ 21 {Xdg Vo OmñV Agob Vo
2) 2 AmR>dS>o qH$dm H$m‘mMo {H$‘mZ 10 {Xdg Vo OmñV Agob Vo
3) 3 AmR>dS>o qH$dm H$m‘mMo {H$‘mZ 15 {Xdg Oo OmñV Agob Vo
4) 1 AmR>dS>m qH$dm H$m‘mMo {H$‘mZ 7 {Xdg Oo OmñV Agob Vo



‘hmamîQ´> bmoH$godm Am¶moJmÀ¶m narjogmR>r Cn¶wº$ àíZg§J«h … AW©emó / 82

For Private Circulation Only

2) As per State Govt. Purchase Policy dated 1.12.2016, what is the minimum time period for tender

cost of Rs. 25 lakh (Twenty Five) Lakh to Rs. 5 crore (Five crore) from the publication of tender

notice to presenting the tender?

1) 4 weeks or minimum 21 working days whichever is higher

2) 2 weeks or minimum 10 working days whichever is higher

3) 3 weeks or minimum 15 working days whichever is higher

4) One weeks or minimum 7 working days whichever is higher

3) Am¡Úmo{JH$ {dH$mg ‘hm‘§S>imMo JR>Z MIDC Act 1959 A§VJ©V H$moUË¶m H$b‘mImbr Pmbr Amho ?
1) H$b‘ 1 2) H$b‘ 2 3) H$b‘ 3 4) H$b‘ 4

3) Industrial development corporation is constituted under which section of MIDC Act 1959?

1) Section 1 2) Section 2 3) Section 3 4) Section 4

4) ‘hmamï´> ZdrZ Am¡Úmo{JH$ YmoaU 2019 Zwgma ImgJr Am¡Úmo{JH$ ‘yb ŷV/nm¶m ŷV gw{dYm {dH$mgmg MmbZm XoUogmR>r
............. ho ImOJr Am¡Úmo{JH$ dgmhVtgmR>r {Z¶moOZ àm{YH$aU Agob.
1) ‘hmamï´> amÁ¶ bKw CÚmoJ {dH$mg ‘hm‘§S>i 2) CÚmoJ g§MmbZmb¶.
3) ‘hmamï´> Am¡Úmo{JH$ {dH$mg ‘hm‘§S>i 4) ‘hmamï´> amÁ¶ Am¡Úmo{JH$ d Jw§VdUyH$ ‘hm‘§S>i

4) According to Maharashtra New Industrial Policy 2019 for promotion of Private Industrial

Infrastructure Development ...... shall be the planning authority for private industrial Estate.

1) Maharashtra State Small Industries Development Corporation

2) Directorate of Industries

3) Maharashtra Industrial Development Corporation

4) State Indstrial and Investment Corporation for Maharashtra

5) ImXr d J«m‘moÚmoJ ‘§S>im‘m’©$V Imbrbn¡H$s H$moUË¶m ¶moOZm am~{dë¶m OmVmV ?
a) ‘w»¶‘§Ìr amoOJma {Z{‘©Vr H$m¶©H«$‘ b) gwYm[aV ~rO ^m§S>db ¶moOZm
c) {deof KQ>H$ ¶moOZm d) n§VàYmZ amoOJma {Z{‘©Vr H$m¶©H«$‘
n¶m©¶r CÎmao …
1) ’$º$ (d) 2) ’$º$ (a), (b) 3) ’$º$ (a), (c), (d) 4) darb gd©

5) Which of the following scheme/s is/are implementaled by Khadi and Village Industries Board?

a) Chief Minister Employment Generation Programme

b) Revised Seed Money Scheme

c) Special Component Plan

d) Prime Minister Employment Generation Programme

Answer options :

1) only (d) 2) only (a), (b) 3) only (a), (c), (d) 4) all of above

6) Imbrbn¡H$s IaoXr VÎdo H$moUVr AmhoV ?
a) n¡em§Mr Bï>V‘ qH$dm AmXe© qH$‘V b) emgZmMr {XK©H$mbrZ hrVg§~§Y
c) {Q>H$mD$ IaoXrMo YmoaU d) «̂ï>mMmamg à{V~§Y H$aÊ¶mMo Cnm¶
n¶m©¶r CÎmao …
1) darb gd© ~amo~a 2) ’$º$ (a) d (b) ~amo~a
3) ’$º$ (b), (c) d (d) ~amo~a 4) ’$º$ (c) d (d) ~amo~a
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6) Which of the following are the principles of procurement?

a) The optimal or ideal price of money b) The long-term interests of the government

c) Sustainable procurement policies d) Measures to prevent corruption

Answer options :

1) All above are correct 2) Only (a) and (b) are correct

3) Only (b), (c) and (d) are correct 4) Only (c) and (d) are correct

7) ^maV gaH$ma Ûmam ñWm{nV, ............ ¶m§Zr "D$Om© Vmam§H$Z ‘mZH$' {dH${gV Ho$bo Amho.
1) Xr ã ỳamo Am°’$ EZOu E’$s{eAÝgr 2) Xr ã ỳamo Am°’$ ñQ>ma EZOu àmoOo³Q>
3) Xr ã ỳamo Am°’$ {S>pñQ´ã ỳeZ A°ÝS> OZab àmoJ«°‘ 4) Xr ã ỳamo Am°’$ H$m°‘Z àm°nQ>u [agmog© àmoOo³Q>

7) Established by the Government of India, .................. has developed ‘Energy Star Label’.

(1) The Bureau of Energy Efficiency

(2) The Bureau of Star Energy Project

(3) The Bureau of Distribution and General Programme

(4) The Bureau of Common Property Resource Project

7) {deof Am{W©H$ joÌ A{Y{Z¶‘
1) {deof Am{W©H$ joÌ A{Y{Z¶‘ 2005 ‘Ü¶o {H$Vr n[a{eï>o AmhoV ?

1) 2 2) 3 3) 4 4) 5
1) How many schedules are there in special Economic Zones Act 2005?

1) 2 2) 3 3) 4 4) 5

2) goP A°³Q> 2005 ‘Yrb H$b‘ 12 H$emer g§~§{YV Amho ?
1) {dH$mg Am¶wº$m§Mr H$m¶} 2) ZdrZ CÚmoJ KQ>H$mMr C^maUr
3) H$a, ewëH$ qH$dm gog‘YyZ gyQ> 4) VnmgUr EOÝgr

2) What is the Section 12 of Special Economic Zone Act 2005 deals with?

1) Functions of Development Commissioner 2) Setting up of unit

3) Exemption from Taxes, duties or cess 4) Agency to inspect

3) ^maVmVrb {deof Am{W©H$ joÌm§Mo Imbrbn¡H$s H$moUVo ‘hÎdmMo C{Ôï>o Zmhr?

1) OmXm Am{W©H$ {H«$¶m H$bmnm§Mr {Z{‘©Vr 2) {Z¶m©Vrbm àmoËgmhZ
3) eoVrMm {dH$mg 4) amoOJma {Z{‘©Vr

3) Which of the following is not an important objective of Special Economic Zones in India ?

(1) Generation of additional economic activity

(2) Promotion of export

(3) Development of agriculture

(4) Creation of‘ employment
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8) CÚmoJm§Mo nwZd©gZ YmoaU
1) Anrbr¶ Ý¶m¶m{YH$aUmÀ¶m H$moUË¶mhr AmXoem‘wio ì¶{WV Pmbobr H$moUVrhr ì¶º$s Aem AmXoem‘wio CX²̂ dUmè¶m

H$m¶ÚmÀ¶m H$moUË¶mhr àíZmda Anrbr¶ Ý¶m¶m{YH$aUmMm AmXoe {‘imë¶mÀ¶m VmaIonmgyZ ......... {Xdgm§À¶m AmV
gdm}ƒ Ý¶m¶mb¶mV Anrb XmIb H$ê$ eH$Vo.
1) 30 {Xdg 2) 45 {Xdg 3) 60 {Xdg 4) 90 {Xdg

1) Any person aggrieved by any order of the Appellate Tribunal may File an appeal to the Supreme

Court within ...... days from the date of recipt of the order of the Appellate Tribunal to him on any

question of law arising out of such order.

1) 30 days 2) 45 days 3) 60 days 4) 90 days

2) Am¡Úmo{JH$ Am{U {dÎmr` nwZa©MZm ‘hm‘§S>i (BIFR) Mr ñWmnZm 1987 ‘Ü¶o Imcrcn¡H$s H$moUË¶m CÔoemZo Pmcr
hmoVr?
1) {dÎm joÌmV ImOJr Jw§VdUwH$sg àmoËgmhZ 2) AmOmar CÚmoJm§Mo nwZéËWmZ
3) naH$s¶ McZmdarc {Z¶§ÌUmMo S>mdnoM 4) darcn¡H$s H$moUVohr Zmhr

2) Board for Industrial & Financial Reconstruction (BIFR) was established in 1987 with which of

the following objectives ?

1) Encouragement to private sector investment in financial sector

2) Revival of sick industries

3) Strategy for foreign exchange regulation

4) None of the above

3) Zdr {X„r ¶oWo OyZ 2002 ‘Ü¶o 'B§S>pñQ´>¶b {S>H$m~m}Zm¶PoeZ g‘rQ> 2022'Mo CX²KmQ>Z H$moUr Ho$bo?
1) naamï´> ‘§Ìr 2) AW©‘§Ìr
3) añVodmhVyH$ Am{U ‘hm‘mJ© ‘§Ìr 4) J¥h‘§Ìr

3) Who inaugurated the ‘Industrial Decarbonization Summit 2022’ in New Delhi in June 2022 ?

1) Minister of External Affairs 2) Finance Minister

3) Minister for Road Transport and Highways 4) Minister for Home Affairs

4) Am¡Úmo{JH$ em§VVm {Z‘m©U H$aUo Am{U Am¡Úmo{JH$ H$bh {‘Q>{dÊ¶mMr ....... ho ^maVmVrb ‘mJ© AmhoV.
a) Mm¡H$er Ý¶m¶mb¶ (g{‘Vr) b) g‘PmoVm ‘§S>i
c) Am¡Úmo{JH$ Ý¶m¶ àm{YH$aU d) H|$Ðr¶ Am¡Úmo{JH$ g§~§Y ¶§ÌUm
n¶m©¶r CÎmao …
1) (a) Am{U (b) ¶mo½¶ AmhoV 2) (a), (b) Am{U (c) ¶mo½¶ AmhoV
3) (a) Am{U (c) ¶mo½¶ AmhoV 4) (a), (b), (c) Am{U (d) ¶mo½¶ AmhoV

4) ............ are the ways for industrial peace and to settle industrial disputes in India.

(a) Court of Enquiry (b) Board of Conciliation

(c) Industrial Tribunals (d) Central Industrial Relations Machinary

Answer Options :

(1) (a) and (b) are correct (2) (a), (b) and (c) are cowect

(3) (a) and (c) are correct (4) (a), (b), (c) and (d) are corrected
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5) gm‘y{hH$ àmoËgmhZ ¶moOZm 2019 Zwgma, AmOmar KQ>H$ åhUOo .......
a) CÚmoJ g§MmbZmb¶mZo ‘mZbobo d à‘m{UV Ho$bobo gyú‘ Am{U bKw CËnmXZ CnH«$‘
b) ZmXmar Am{U {XdmiImoar g§{hVm 2016 A§VJ©V amï´>r¶ H§$nZr {dYr A{^H$aUmÛmao ‘mZbo OmUmao ‘Ü¶‘ d ‘moR>o
CËnmXZ CÚmoJ.
c) ghH$ma Am¶wº$, ‘hmamï´> amÁ¶ ¶m§Zr à‘m{UV Ho$bobo ghH$mar KQ>H$/CnH«$‘.
d) ‘hmamï´> Am¡Úmo{JH$ {dH$mg ‘hm‘§S>imZo à‘m{UV Ho$bobo ‘mÜ¶‘ CËnmXZ CnH«$‘.
darbn¡H$s H$moUVo {dYmZ/{dYmZo MyH$ AmhoV ?
1) ’$º$ (b) 2) ’$º$ (d) 3) ’$º$ (a) d (c) 4) darb gd©

5) According to the Package Scheme of Incentives 2019 sick unit shall mean and include :

a) A micro & small manufacturing enterprise so considered and certified by the Directorate of

Industries.

b) Medium manufacturing enterprises and large scale Industries so considered by National

Company Law Tribunal under Insolvency and Bankruptcy code-2016.

c) Cooperative unit/enterprise so certified by the commissioner of co-operation, state of

Maharashtra.

d) Medium manufacturing enterpirse so certified by Maharashtra Industrial Development

Corporation,

Which of the above statement/s is/are wrong?

1) Only (b) 2) Only (d) 3) Only (a) and (c) 4) All of above

6) ‘hmamï´> Am¡Úmo{JH$ YmoaU 2019 Zwgma {deof A^¶ ¶moOZm Omhra H$aÊ¶mV Ambr Amho. ¶m ¶moOZoMm bm^ Imbrb
{ZH$f nyU© H$aUmè¶m CÚmoJ KQ>H$m§Zm XoÊ¶mV ¶oB©b.
a) EH$ dfm©nojm A{YH$ H$mbmdYrgmR>r ~§X Agbobm qH$dm Ý¶m¶mb¶mH$Sy>Z ZmXma/{XdmiImoa åhUyZ Kmo{fV Pmbobm
CÚmoJ KQ>H$.
b) ^maVr¶ [aPd© ~±Ho$À¶m ‘mJ©Xe©H$ gyÌmZwgma nwZé‚mrdZj‘ Zgbobm CÚmoJ KQ>H$.
c) CÚmoJ KQ>H$ hñVm§VaUm‘wio KQ>H$mÀ¶m ì¶dñWmnZmV ~Xb hmoD$Z KQ>H$ nwT>o ¶eñdr[aË¶m Mmby am{hb.
d) ^maVr¶ amoIo Am{U {d{Z‘¶ ‘§S>i Ûmam AmOmar åhUyZ Kmo{fV CÚmoJ KQ>H$.
darbn¡H$s H$moUVm/H$moUVo {ZH$f ~amo~a AmhoV ?
1) ’$º$ (b), (d) 2) ’$º$ (d) 3) ’$º$ (a), (b), (c) 4) darb gd©

6) According to Maharashtra Industrial Policy 2019, the special Ammesty scheme has been

announced. The benefits of this scheme will be given to the industry units which meets the following

criteria.

a) An industry unit that has been closed for more than one year or declared as insolvent by a

court.

b) Non rehabilitative industry unit as per Reserve Bank of India's guidelines.

c) Even though the chaning of management by the transfer of unit and the unit will continue

successfully.

d) Industry unit declared as sick by securites and Exchange Board of India.

Which of above given criteria is/are correct?

1) Only (b), (d) 2) Only (d) 3) Only (a), (b), (c) 4) All of above
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9) CÚmoOH$Vm {dH$mg d amoOJma {Z{‘©Vr - ñWm{ZH$ bmoH$m§Zm amoOJma àmYmÝ¶
1) amÁ¶mV Am¡Úmo{JH$ joÌmVrb Jw§VdUyH$ dmT>{dÊ¶mgmR>r .............. H$m¶©H«$‘ am~{dbo OmV AmhoV.

a) ‘°¾o{Q>H$ ‘hmamï´> b) ‘oH$ BZ B§{S>¶m c) amoS> emo d) naXoe àdmg
Imbrbn¡H$s ¶mo½¶ n¶m©¶ {ZdS>m.
1) 'a', 'b', 'c' Am{U 'd' 2) 'a' Am{U 'b'

3) 'a', 'c' Am{U 'd' 4) 'a', 'b' Am{U 'c'

1) ............ programs are being implemented in the state to increase investment in the industrial sec-

tor.

a) Magnetic Maharashtra b) Make in India

c) Road Show d) Foreign Travel

Choose the correct option from the following.

1) 'a', 'b', 'c' and 'd' 2) 'a' and 'b' 3) 'a', 'c' and 'd' 4) 'a', 'b' and 'c'

2) naXoemVrc ̂ maVr¶ d§emÀ¶m g‘wXm¶mcm ̂ maVmVrc g§emoYZ d {dH$mgm‘Ü¶o ¶moJXmZ XoÊ¶mMr g§Yr Imcrcn¡H$s H$moUË¶m
¶moOZo A§VJ©V CncãY H$éZ XoÊ¶mV Amcr ?
a)$dO« b)$ñQ>mQ>©An B§{S>¶m c)$ñQ>°ÝS>An B§{S>¶m d)$‘oH$ BZ B§{S>¶m
darcn¡H$s H$moUVm n¶m©¶ ~amo~a Amho ?
1) (d) 2) (b) 3) (a) 4) (c)

2) Under which of the following schemes was the opportunity given to the Indian origin community

from abroad to contribute to the research and development of India ?

(a) VAJRA (b) Startup India (c) Standup India (d) Make in India

Which of the option given above is correct ?

(1) (d) (2) (b) (3) (a) (4) (c)

3) 25 gßQ>|~a, 2014 ‘Ü¶o Omhra Ho$coë¶m "‘oH$ BZ B§{S>¶m" ¶m H$m¶©H«$‘m§VJ©V Imcrcn¡H$s H$moUË¶m ~m~rda ^a XoÊ¶mV
Amcm ?
a)$H$aàUmcr gmonr d nmaXe©H$ H$aÊ¶mda ^a.
b)$^maVmMm gdm©V ‘moR>m ~«°ÊS> ~Z{dUo.
c)$^maVmcm CÚmoJmgmR>r OmJ{VH$ XOm©Mo {Z{‘©Vr H|$Ð ~Z{dUo.
d)$Jw§VdUwH$sgmR>r ‘yc ŷV gmoB© nwa{dUo.
darcn¡H$s H$moUVo/H$moUVm n¶m©¶ ~amo~a Amho/AmhoV ?
1) ’$º$ (b)  ©2) (b) Am{U (c) 3) (b),(c) Am{U (d) 4) darcn¡H$s gd©

3) Which of the following was/were emphasized under ‘Make in India’ program announced on 25th

September, 2014 ?

(a) Emphasis on making the tax system simple and transparent.

(b) Making India the largest brand.

(c) To create India as a world class manufacturing hub for the industry.

(d) To provide basic facilities for investment.

Which of the option(s) given above is/are correct ?

(1) Only (b)  (2) (b) and (c) (3) (b), (c) and (d) (4) All of the above
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4) {dYmZ I …
""ñQ>mQ>©-An B§{S>¶m ¶m H$m¶©H«$‘m‘wio ^maVr¶ VéU ZmoH$ar emoYUmao hmoÊ¶mEodOr ZmoH$ar {Z‘m©U H$aUmao hmoÊ¶mH$S>o
diVrb''
{dYmZ II …
""^m§S>dbr Zâ¶mdarb H$am‘Ü¶o ‘m’$s XoÊ¶mV Ambr Amho''
n¶m©¶r CÎmao …
1) ’$º$ {dYmZ I ¶mo½¶ Amho 2) ’$º$ {dYmZ II ¶mo½¶ Amho.
3) {dYmZ I Am{U II XmoÝhrhr ¶mo½¶ AmhoV 4) {dYmZ I Am{U II XmoÝhrhr A¶mo½¶ AmhoV.

4) Statement I :

“Start-up India will turn Indian youths from job seekers into job creators.”

Statement II :

''Pax is exempted on capital gains.”

Answer Options :

(1) Only statement I is correct (2) Only statement II is correct

(3) Both statements I and II are correct (4) Both statements I and II are incorrect

10) CÚmoJ, {dnUZ ì¶dñWmnZ, Vmio~§X Ahdmb, àH$ën Ahdmb d Am{W©H$ {díbofU
1) Am¡Úmo{JH$ joÌmVrb CËnmXH$Vm Am{U JwUdÎmobm àmoËgmhZ XoÊ¶mH$[aVm Imbrbn¡H$s H$moUVo ZmoS>b ..... {d^mJ AmhoV?

a) E‘.Eg.E‘.B© (MSMEs) b) ³¶y.gr.Am¶. (QCI)

c) S>r.nr.Am¶.Am¶.Q>r. (DPIIT) d) S>r.E‘.Am¶.gr. (DMIC)

n¶m©¶r CÎmao …
1) ’$º$ (a) ~amo~a Amho 2) ’$º$ (b) ~amo~a Amho.
3) ’$º$ (b) Am{U (c) ~amo~a AmhoV. 4) ’$º$ (c) ~amo~a Amho.

1) Which of the following are nodal departments for the promotion of productivity and quality in

the industrial sector ?

(a) MSMEs (b) QCI (c) DPIIT (d) DMIC

Answer Options :

(1) Only (a) is correct (3) Only (b) and (c) are correct

(2) Only (b) is correct (4) Only (c) is correct

2) àH$ën ‘yë`‘mnZ Xaå`mZ ~«oH$-BìhZ {dl²bofUmÀ`m g§X^m©V
A) ~«oH$-BìhZ-nm°B§Q> {OVH$m H$‘r Agob {VVH$m Z’$m H$‘mdÊ`mÀ`m àH$ënmMr eŠ`Vm OmñV Agob.
~) ñWm{nV j‘VoMm A§Xm{OV dmna Am{U ~«oH$-BìhZ nm°B§Q>‘Yrb ’$aH$ gwajoMm ‘m{O©Z åhUyZ AmoiIbm OmVmo.
H$) gwa{jVVm ‘m{O©Z {OVH$m bhmZ Agob {VVHo$ Mm§Jbo.
S>>) ~«oH$-BìhZ nm°B§Q> åhUOo ‘Obm nmVir qH$dm YmoŠ`mMr nmVir Á`mÀ`m Imbr CËnmXZ KgaUo Ano{jV Amho.
darbn¡H$s H$moUVr {dYmZo ~amo~a/AmhoV?
n¶m©¶r CÎmao :
1) A ’$º$ 2) A Am{U ~ ’$º$ 3) ~ Am{U H$ ’$º$ 4) H$ Am{U S> ’$º$
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2) With reference to Break-even Analysis during project evaluation

a) The lower the break-even-point, the greater the prospects of the project earning profit.

b) The difference between the projected use of the installed capacity and the break-even point is

referred to as the “margin of safety”.

c) The smaller the safety margin, the better. ;

d) The break-even point is the floor level or danger level below which production is expected to

fall.

Which of the above statements is/are correct ?

Answer options :

1) a only 2) a and b only 3) b and c only 4) c and d only

nm¶m ŷV gw{dYm {dH$mg

1) J«m‘rU d ehar ^mJmVrc n[adhZ (añVo, ~§Xa, BË¶mXr) d J¥h{Z‘m©U
1) Imbrbn¡H$s añVo dmhVwH$sÀ`m ‘w»¶ g‘ñ¶m H$moUË¶m AmhoV ?

a) añVo {dH$mgmMr ‘§XJVr b) [ZH¥$ï> XOm© c) {df‘ {dVaU d) Cƒ dmhVyH$ IM©
n¶m©¶r CÎmao …
1) (a) ’$º$ 2) (a) Am{U (b) ’$º$ 3) (a), (b) Am{U (d) ’$º$ 4) darbn¡H$s gd©

1) Which of the following are the major problems in Road-Transportation ?

a) Slow-paced growth b) Poor quality

c) Uneven distribution d) High cost of transport

Answer options :

1) (a) only 2) (a) and (b) only 3) (a), (b) and (d) only 4) All above

2) Imbrbn¡H$s H$moUVo {dYmZ/{dYmZo ~amo~a AmhoV ?
a) gmJa‘mbm {dH$mg H§$nZr ‘¶m©{XV {hMr ñWmnZm gZ 2014 ‘Ü¶o Pmbr.
b) gmJa‘mbm A§VJ©V àH$ënm§Mr A§‘b~OmdUr ImOJr qH$dm gmd©O{ZH$ ImOJr ^mJrXmar nÕVrZo hmoVo.
n¶m©¶r CÎmao …
1) (a) ’$º$ ~amo~a Amho. 2) (b) ’$º$ ~amo~a Amho.
3) (a) Am{U (b) XmoÝhr ~amo~a AmhoV. 4) (a) Am{U (b) XmoÝhr MyH$ AmhoV.

2) Which of the following is/are correct statement/s ?

a) Sagarmala Development Company Limited was incorporated in 2014.

b) Projects under Sagarmala are implemented through Private or Public-Private Partnership (PPP)

mode.

Answer options :

1) only (a) is correct. 2) only (b) is correct.

3) Both (a) and (b) are correct. 4) Both (a) and (b) are incorrect.
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3) ^maV‘mbm n[a¶moOZoMo ho bú¶ Amho …
a) dmhVwH$sV ‘hÎm‘ H$m¶©j‘Vm gmYUo.
b) Am{W©H$ {dYr (‘m{J©H$m) {dH${gV H$aUo.
c) gmJa{H$Zmao Am{U ~§Xao ¶m§Mr OmoS>Ur gwYmaUo.
n¶m©¶r CÎmao …
1) (a) Am{U (b) ’$º$ 2) (b) Am{U (c) ’$º$ 3) (a) Am{U (c) ’$º$ 4) darbn¡H$s gd©

3) Bharatmala Pariyojana focuses on :

a) Optimization of efficiency in freight movement.

b) Development of economic corridors. .

c) Improving coastal and port connectivity.

Answer options :

1) (a) and (b) only 2) (b) and (c) only 3) (a) and (c) only 4) All of the above

4) ‘hmamï´>mVrb Mmir d Kao ¶m§Mm {dH$mg H$aUmar g§ñWm åhmS>m (MHADA) Ho$ìhm CX¶mg Ambr ?
1) OyZ 1975 2) OmZodmar 1985 3) {S>g|~a 1957 4) {S>g|~a 1977

4) MHADA an Institute in Maharashtra which developes slums and houses when has it come into

existence ?

1) June 1975 2) January1985 3) December 1957 4) December 1977

5) ZmJar {Z¶moOZ Am{U àmMrZ dmaemMo OVZ hm CÔoe g‘moa R>odyZ H|$Ðr¶ J¥h d ZmJar ImË¶m§VJ©V H$moUVr ¶moOZm am~dbr
OmV Amho?
1) ñ‘mQ>© {gQ>r H$m¶©H«$‘ 2) ñdÀN> ^maV {‘eZ 3) AQ>b {‘eZ 4) öX¶ (HRIDAY) H$m¶©H«$‘

5) Government of India's ministry of Housing and urban affairs is implementing which scheme for

urban planning and heritage conservation?

1) Smart City Programme 2) Swachh Bharat Mission

3) Atal Mission 4) HRIDAY Programme

6) aoam ({Z¶‘Z Am{U {dH$mg) H$m¶Xm ¶mg§X^m©V nwT>rb {dYmZo bjmV ¿¶m d ¶mo½¶ {dYmZ/{dYmZo {ZdS>m …
a) gZ 2016 ‘Ü¶o g§‘V Pmbm.
b) Kam§À¶m IaoXrXmam§Mo {hV gm§̂ miUo ho Ë¶mMo C{Ôï> Amho.
c) Oå‘y Am{U H$mí‘ra amÁ¶mV bmJy ZìhVm.
n¶m©¶r CÎmao …
1) (a) Am{U (b) ’$º$ ~amo~a AmhoV. 2) (b) Am{U (c) ’$º$ ~amo~a AmhoV.
3) (a) Am{U (c) ’$º$ ~amo~a AmhoV. 4) darb gd© ~amo~a AmhoV.

6) Consider the following statements about Real Estate (Regulation and development) Act and select

corect one.

a) was passed in 2016

b) aims at protecting interest of home buyers.

c) was not applicable in the state of Jammu and Kashmir.

Answer Options :

1) (a) and (b) only are correct. 2) (b) and (c) only are correct.

3) (a) and (c) only are correct 4) all of the above are correct.
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7) ghg§MmbH$, ZJa {Z`moOZ Am{U ‘yë`‘mnZ ̀ m§Zr V`ma Ho$bobo Xam§Mo dm{f©H$ {ddaU, Vo àË òH$ dfm©À`m ........... n ª̀V
‘w»` {Z §̀ÌH$ ‘hgyb àm{YH$aUmH$S>o ‘§OwargmR>r gmXa H$aob.
1) OmZodmarMm n{hbm {Xdg 2) ’o$~«wdmarMm eodQ>Mm {Xdg
3) ’o$~«wdmarMm eodQ>Mm {Xdg 4) E{àbMm n{hbm {Xdg

7) The Annual Statement of Rates prepared by the Joint Director, Town Planning and Valuation, shall

submit the same for approval to the Chief Controlling Revenue Authority latest by ........... of each

year.

1) 1st day of January 2) last day of February

3) last day of February 4) 1st day of April

8) amï´>r` ehar dmhVyH$ YmoaU, 2014 Zwgma A~©Z Q´mÝgnmoQ>© (UT) ‘moS>Mm àmYmÝ`H«$‘mMm ̀ mo½` CVaVm H«$‘ Agm Agmdm:
i) PT, añVm, aoëdo Am{U Ob‘mJ©
ii) d¡̀ {º$H$ ‘moQ>marH¥$V dmhVyH$
iii) MmbUo Am{U Zm°Z-‘moQ>amBÁS> Q´mÝgnmoQ>© (NMT)

CÎma n`m©̀  :
1) (i), (ii), (iii) 2) (iii), (i), (ii) 3) (ii), (iii), (i) 4) (iii), (ii), (i)

8) The correct descending order of priority according to the National Urban Transport Policy, 2014,

of Urban Transport (UT) modes should be :

i) PT, Road, Rail and Waterway

ii) Personal Motorized Transport

iii) Walk and Non-Motorized Transport (NMT)

Answer options :

1) (i), (ii), (iii) 2) (iii), (i), (ii) 3) (ii), (iii), (i) 4) (iii), (ii), (i)

9) AQ>b {‘eZ ’$m°a [aOwdoZoeZ A±S> A~©Z Q´mÝg’$m°‘}eZ (AMRUT) A§VJ©V Imbrb ‘hÎdmÀ`m joÌm§da bj H|${ÐV Ho$bo
OmB©b. ¶m~m~V MwH$sMm n`m©̀  {ZdS>m :
1) nmUrnwadR>m 2) ‘b{ZñgmaU gw{dYm Am{U goßQ>oO ì`dñWmnZ
3) ñQ´m°‘-dm°Q>a SóZ 4) ‘moQ>marH¥$V dmhVyH$

9). Atal Mission for Rejuvenation and Urban Transformation (AMRUT) will focus on the following

thrust areas. Choose the incorrect option :

1) Water supply 2) Sewerage facilities and septage management

3) Storm-water drains 4) Motorized transport

10) PMAY ̀ moOZoÀ`m ‘mJ©Xe©H$ VÎdm§Zwgma, nadS>Umè`m Kam§Mm àH$ën hm doJdoJù`m loUrVrb Kam§Mo {‘lU Agy eH$Vmo na§Vw Vmo
H|$Ðr` ghmæ`mgmR>r nmÌ Agob, Oa gXa àH$ënmVrb {H$‘mZ ......... Kao EWS JQ>mVrb bm^mWugmR>r AgVrb.
1) 25% 2) 30% 3) 35% 4) 50%

10) As per PMAY Scheme guidelines, an affordable housing project can be a mix of houses for different

categories but it will be eligible for Central assistance, if at least .............. of the houses in the

project are for EWS category.

1) 25% 2) 30% 3) 35% 4) 50%
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11) PMAY A§VJ©V gwê$ H$aÊ`mV Amboë`m `moOZoÀ`m A§‘b~OmdUrgmR>r bm^mÏ`mªgmR>r ho n`m©̀  AmhoV .............
i) H«o${S>Q> qbŠS> g~{gS>rÛmao nadS>Umar Kao ii) Am¡Úmo{JH$ {dH$mg AZwXmZmÛmao nadS>Umar Kao
iii) ^mJrXmarV nadS>Umar Kao iv) g‘¥Õr AZwXmZmÛmao nadS>Umar Kao
v) bm^mÏ`mªÀ`m ZoV¥ËdmImbrb d¡̀ {º$H$ Ka ~m§YÊ`mgmR>r qH$dm dmT>rgmR>r g~{gS>r -
CÎma n`m©̀  :
1) (i), (ii), (iii), (iv) Am{U (v) 2) (i), (iii), (iv), Am{U (v) ’$º$
3) (i), (iii) Am{U (v) ’$º$ 4) (i), (ii), (iii) Am{U (v) ’$º$

11) Options to beneficiaries for implementation of scheme introduced under PMAY are .............

i) Affordable Housing through Credit Linked Subsidy

ii) Affordable Housing through Industrial Development Subsidy

ii) Affordable Housing in Partnership

iv) Affordable Housing through Samrudhi Subsidy

v) Subsidy for Beneficiary-Led Individual House Construction or Enhancement —

Answer options :

1) (i), (ii), (iii), (iv) and (v) 2) (i), (iii), (iv), and (v) only

3) (i), (iii) and (v) only 4) (i), (ii), (iii) and (v) only

12) "a°H$ a|Q>' Mr ì`m»`m ...... Aer H$aVm òB©b.
1) hoS> brO A§VJ©V Ama{jV Ho$bobo ^mS>o Am{U g~-brÁS> ‘mb‘ÎmoÀ`m ~m~VrV, n{hë`m ^mS>oH$ê$bm Xò .
2) eŠ` {VVHo$ gdm}Îm‘ ̂ mS>o Á`mda ‘mb‘Îmm {Xbr OmD$ eH$Vo. '`mMm AW© g§nyU© ̂ mS>o JmoR>dbobo Zmhr qH$dm A§‘bmV

Agboë`m H$moUË`mhr H$m`ÚmZo n[a{‘V Ho$bobo Zmhr.
3) gwYm[aV ^mS>o Am{U hoS> a|Q>‘Yrb ’$aH$.
4) Ka‘mbH$ Am{U ^mS>oH$ê$ `m§À`mV ^mS>oH$ama gwê$ Pmë`mda {Z{l²MV Ho$bobo ^mS>o.

12) ‘Rack Rent’ can be defined as .......

1) the rent reserved under the head lease and payable to the first lessor, in case of sub-leased

property.

2) the best possible rent at which the property can be let. ‘It means full rent neither frozen nor

circumscribed by any statute in force.

3) the difference between an improved rent and the head rent.

4) the rent fixed between the landlord and the tenant at the inception of the tenancy.

13) {dH$mg AmamIS>çmVrb 2000 Mm¡ag ‘rQ>a joÌ’$i Agbobr EH$ ‘moR>r O‘rZ nwÊ`mV {Zdmgr joÌmV Amho. -SR ‘Ü ò
Ë`m O{‘ZrMm Xa é. 1,000 à{V Mm¡.‘r., Va ‘mb‘ÎmoMo ‘yë`m§H$Z H$m` Agob?
1) é. 20,00,000 2) é. 19,00,000 3) é. 18,50,000 4) é. 18,00,000

13)  A Bulk land having an area 2000 sq.m is situated in Pune, in residential zone in the Development

Plan. If the rate of that land in the ASR is Rs. 1,000 per sq.m, then what would be the valuation of

the property ?

1) Rs. 20,00,000 2) Rs. 19,00,000 3) Rs. 18,50,000 4) Rs. 18,00,000
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2) D$Om©, nmUrnwadR>m d ‘c{ZñgmaU, XiUdiU, ao{S>Amo, Q>rìhr, B§Q>aZoQ> H«$m¶{gg
1) H|$Ð emgZmZo C‚dc {S>ñH$m°‘ A°í¶waÝg ¶moOZm (CX¶) .......... ¶m dfu gwé Ho$cr.

1) 2014 2) 2015 3) 2016 4) 2017
1) Central Government started Ujwal Discom Assurance Yojana (UDAY) in the year .........

1) 2014 2) 2015 3) 2016 4) 2017

2) Q>o{c’$moZ ImË¶mMm H$ma^ma, "^maV g§Mma {ZJ‘ {b{‘Q>oS>' H$S>o .......... ‘Ü¶o hñVm§V[aV H$aÊ¶mV Ambm.
1) 1991 2) 1994 3) 2000 4) 2005

2) Telephone department was transferred to Bharat Sanchar Nigam Ltd. in ..................

1) 1991 2) 1994 3) 2000 4) 2005

3) ^maVr¶ Xÿag§Mma Omio ho g§nyU© OJmV ............. H«$‘m§H$mMo Amho.
1) {Vgè¶m 2) Xþgè¶m 3) n{hë¶m 4) nmMì¶m

3) The Indian telecommunication network is now .................. in position in world.

1) Third 2) Second 3) First 4) Fifth

4) Imbrbn¡H$s H$moUVo amï´>r¶ LED H$m¶©H«$‘mMo KQ>H$ AmhoV?
A) gdmªgmR>r ‘m’$H $XamV CËnÞ Á¶moVr LED (COmbm)
~) amï´>r¶ añVo {dÚwVrH$aU H$m¶©H«$‘ (SLNP)

n¶m©¶r CÎmao …
1) ’$º$ A 2) ’$º$ ~ 3) A Am{U ~ XmoÝhrhr 4) A Am{U ~ XmoÝhrhr Zmhr

4) Which of the following are the components of the National LED Programme ?

a) Unnat Jyoti by Affordable LEDs for All (UJALA)

b) Street Lighting National Programme (SLNP)

Answer Options :

1) Only a 2) Only b 3) Both a and b 4) Neither a nor b

5) 2019-20 ‘Ü¶o ^maVmÀ¶m D$Om© g§gmYZ d Ë¶mÀ¶m dmnam~m~V Imbrbn¡H$s H$moUVr {dYmZo gË¶ AmhoV ?
a) ^maV hm OJmVrb {Vgam gdm©V ‘moR>m D$Om© g§gmYZ Cn^moº$m Amho.
b) ^maV OJmVrb H$ÀÀ¶m VobmMm {Vgam ‘moR>m Am¶mVXma Amho.
c) ^maV hm OJmVrb Mm¡Wm gdm©V ‘moR>çm Eb.EZ.Or. ... Am¶mVXma Amho.
d) naXoer H$ƒo Vob d Z¡g{J©H$ dm¶y ~m~V ^maVmMo Adc§{~Ëd AZwH«$‘o 85% Vo 53% Amho.
n¶m©¶r CÎmao …
1) (a) Am{U (b) ~amo~a AmhoV. 2) (a), (b) Am{U (c) ~amo~a AmhoV.
3) (a), (b), (c) Am{U (d) gd© {dYmZo ~amo~a AmhoV 4) Ho$di (b) ho {dYmZ ~amo~a Amho

5) Which of the following statements are true with regard to energy resources and consumption by

India in the year 2019 — 20 ?

(a) India is the 3 largest consumer of energy resources in the world.

(b) India is the 3 largest importer of crude oil in the world.

(c) India is the 4th largest importer of LNG in the world.

(d) India's dependency on imported crude oil and natural gas are 85' and 53' < respectively.
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Answer Options :

(1) (a) and (b) are correct (2) (a), (b) and (c) are correct

(3) Statements (a), (b), (e) and (d) are correct (4) Only statement (b) is correct

6) Imbrbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV ?
a) C‚db ¶moOZm Zmoìh|~a 2015 ‘Ü¶o gwê$ H$aÊ¶mV Ambr.
b) {VMm ^a {dVaU H§$nÝ¶m§Mr drO Xo¶Ho$ Am{U g§H$bZmVrb H$m¶©j‘Vm ¶mda Amho.
n¶m©¶r CÎmao …
1) (a) ’$º$ 2) (b) ’$º$
3) (a) Am{U (b) XmoÝhrhr Zmhr 4) (a) Am{U (b) XmoÝhr ~amo~a AmhoV.

6) Which of the following statements are true ?

a) Ujjwal Yojana was launched in November, 2015.

b) Its focus has been on billing and collection efficiency of DISCOMS.

Answer options :

1) (a) only 2) (b) only

3) Neither (a) nor (b) 4) Both (a) and (b) are correct

7) Imbrbn¡H$s H$moUVm D$O}Mm òmoV Anma§nm[aH$ Amho ?
1) àmÊ¶m§Mo eoU 2) H¥$fr H$Mam 3) OimD$ bmH$S>o 4) gm¡a D$Om©

7) Which of following is the non-conventional source of energy ?

1) Animal Dung 2) Agricultural Waste 3) Fuel Wood 4) Solar Energy

8) Imbrb {dYmZo nhm …
a) Z°eZb BcopŠQ´H$ ‘mo{~{cQ>r {‘eZ ¶moOZm (NEMMP) Mm CÔoe B§YZ ~MV Am{U H$~© CËgO©Z H$‘r H$aUo Amho.
b) ’$mñQ>a A°S>moßeZ A±S> ‘°Ý¶w’°$³MatJ Am°’$ (hm¶~«rS>) BcopŠQ´H$ ìhoB©H$ëg (FAME) hr H|$Ðr¶ ¶moOZm Amho.
n¶m©¶r CÎmao …
1) (a) ’$º$ ~amo~a {dYmZ Amho. 2) (b) ’$º$ ~amo~a {dYmZ Amho.
3) (a) Am{U (b) XmoÝhr {dYmZo MyH$ AmhoV. 4) (a) Am{U (b) XmoÝhr {dYmZo ~amo~a AmhoV.

8) Consider the following Statements :

a) National Electric Mobility Mission Plan (NEMMP) aims at saving fuel and reducing carbon

emission.

b) Faster Adoption and Manufacturing of (Hybrid) Electric Vehicles (FAME) is central scheme.

Answer options :

1) only (a) Is correct statement. 2) only (b) is correct statement.

3) (a) and (b) both are incorrect statements. 4) (a) and (b) both are correct statements.

9) Imbrbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV ?
"^maV ZoQ>' àH$ënmMo ho CÔoe AmhoV …
a) Am°pßQ>H$ ’$m¶~a Omù¶mZo J«m‘n§Mm¶Vr OmoS>Uo
b) Xm[aÚ« aofoImbrb (BPL) Hw$Qw>§~mZm {dZm‘yë¶ ZoQ>dH©$ nwa{dUo.
n¶m©¶r CÎmao …
1) (a) ’$º$ ~amo~a Amho. 2) (b) ’$º$ ~amo~a Amho.
3) (a) Am{U (b) XmoÝhr ~amo~a AmhoV. 4) (a) Am{U (b) XmoÝhr MyH$ AmhoV.
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9) Which of these are correct statements ?

The ‘Bharat Net’ Project aims at :

a) Linking Gram Panchayats through optical fibre network.

b) Providing free network to the families in BPL category.

Answer options :

1) (a) only is correct 2) (b) only is correct

3) Both (a) and (b) are correct 4) Neither (a) nor (b) are correct

10) ŷ‘ramer ¶m Am§VaOmb AmYm[aV àUmbr{df¶r Imbrbn¡H$s H$moUVo/Vr {dYmZ/Zo bmJy AmhoV ?
a) hr àUmbr 1 E{àb, 2018 bm ApñVËdmV Ambr.
b) añVo dmhVyH$ d ‘hm‘mJ© ‘§Ìmb¶mZo hr àUmbr gwê$ Ho$br Amho.
c) ŷ-g§nmXZmMr nyU© à{H«$¶m g§nyU©nUo A§H$s¶ d ¶m§{ÌH$sH¥$V ìhmdr åhUyZ hr à{H«$¶m gwê$ H$aÊ¶mV Ambr Amho.
n¶m©¶r CÎmao …
1) ’$º$ (a) Am{U (b) 2) ’$º$ (b) Am{U (c) 3) ’$º$ (a) Am{U (c) 4) darb gd©

10) Which of the following statement/s is/are applicable to the web-based utility — Bhoomi Rashi?

a) It was launched on 1st April, 2018.

b) It has been launched by the Ministry of Road Transport and Highways.

c) It has been introduced to fully digitize and automate the entire process of land acquisition.

Answer Options:

1) Only (a) and (b) 2) Only (b) and (c) 3) Only (a) and (c) 4) All of the above

3) ImOJr-gmd©O{ZH$ joÌmVrc ^mJrXmar, E’$S>rAm¶ d BÝ’«$mñQ́>³Ma
S>oìhcn‘|Q>,BÝ’«$mñQ́>³MaMo ImOJrH$aU

1) '~m§Ym, Mmbdm Am{U hñVm§V[aV H$am' ho YmoaU ...... nmgyZ gwê$ Pmbo.
1) 1990 2) 1993 3) 1995 4) 2000

1) Build Operate and Transfer (B.O.T.) Policy started from,

1) 1990 2) 1993 3) 1995 4) 2000

4) amÁ¶ d H|$Ð gaH$maMo BÝ’«$mñQ́>³Ma {dH$mgmMo YmoaU, gm‘m{OH$ d Am{W©H$ nm¶m ŷV
gw{dYm§Mm {dH$mg Am{U dmT>

1) ^maVr¶ gmd©O{ZH$ ñdmñÏ¶ I~aXmar nm¶m ŷV gw{dYm§À¶m .............. ¶m nmVirbm g‘mO ñdmñÏ¶ H|$ÐmMo ñWmZ Amho.
1) àmW{‘H$ 2) {ÛVr¶H$ 3) V¥Vr¶H$ 4) darbn¡H$s EH$hr Zmhr

1) Community Health centres are located at the ............ level of Indian public health care Infrastructure

1) Primary 2) Secondary 3) Tertiary 4) None of the above

2) ^maVmVrb nm¶m ŷV gmo¶tMm {dH$mg Ho$di eham§À¶m ~mOyZo PwH$Umam Amho Ago Zìho Va Vmo ......... ~mOyZohr PwH$Umam Amho.
1) J[a~m§À`m 2) lr‘§VmÀ¶m 3) H$m‘Jmam§À¶m 4) eoVH$è¶m§À¶m

2) Infrastructural development in India is not only urban-biased, but also shows a bias in favour of.....

1) poor 2) rich 3) workers 4) farmers
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(15) H¥$fr Am{U J«m‘rU {dH$mg - ghH$ma joÌ
1) eoVr CËnmXZ d CËnmXH$Vm
2) H¥$fr nVnwadR>m, H¥$fr CÚmoJ
3) H¥$fr {H$‘Vr d {dnUZ
4) ghH$ma d J«m_rU {dH$mg

1) eoVr CËnmXZ d CËnmXH$Vm
1) amï´>r¶ Vob{~¶m {dH$mg àH$ën ............ øm dfm©V gwê$ H$aÊ¶mV Ambm.

1) 1980-81 2) 2014-15 3) 1985-86 4) 1989-90
1) National Oilseeds Development Project (NODP) was launched in the year ......

1) 1980 - 81 2) 2014 - 15 3) 1985 - 86 4) 1989 - 90

2) Xhmì`m H¥$fr OZJUZoZwgma (2015-16), ‘hmamï´> amÁ`mV gamgar O‘rZ {H$Vr Amho?
1) 1.34 ho. 2) 2.31 ho. 3) 2.82 ho. 4) 3.40 ho.

2) As per Tenth Agricultural Census (2015-16), what is the average land holding in Maharashtra

State ?

1) 1.34 ha. 2) 2.31 ha. 3) 2.82 ha. 4) 3.40 ha.

3) 2021 - 22 gd}jUmZwgma XoemVrb EHy$U {Zìdi noaUr joÌmÀ`m VwbZoV {Zìdi qgMZ joÌmMr Q> o̧$dmar {H$Vr Amho?
1) 28% 2) 33% 3) 49% 4) 55%

3) How much is the percentage of net irrigated area to the total net sown area in the country as per

2021 — 22 survey ?

1) 28% 2) 33% 3) 49% 4) 55%

4) ‘hmamï´> amÁ¶mV 2018-19 À¶m O‘rZ dmna AmH$S>odmarà‘mUo, EHy$U 307.58 bmI ho³Q>a ^m¡Jmo{bH$ joÌmn¡H$s
{nH$mImbrb ñWyb joÌ 232.12 bmI ho³Q>a Va {nH$mImbrb {Zìdi joÌ .......... hmoVo.
a) CnbãY Zmhr b) gm§JVm ¶oV Zmhr c) 100% d) 55%
Imbrbn¡H$s ¶mo½¶ n¶m©¶ H$moUVm ?
1) 'a' Am{U 'b' 2) 'c' Am{U 'd' 3) ’$º$ 'd' 4) ’$º$ 'c'

4)  As per land use data of 2018-19 in Maharashtra state, out of total geographical area of 307.58

lakh hectare, gross area under crop was 232.12 lakh hectare while net area under crop was ..........

a) Not Available b) Can't Tell c) 100% d) 55%

Which of the following is the correct option?

1) a and b 2) c and d 3) d only 4) c only

5) PMFBY ‘mJ©Xe©H$ VÎdm§Zwgma, Oa {d‘m ẁ{ZQ>‘Ü ò JìhmMo W«oemoëS> CËnmXZ 3800 {H$bmo/hoŠQ>a Agob, Va
dmñV{dH$ CËnmXZ 1900 {H$bmo/hoŠQ>a Agob, Va {d‘mYmaH$ eoVH$è`mMm {d‘m CVadboë`m ‘yi X én¶o g§ajUmImbr
, Ë`m {nH$mMr {d‘m Xmdm a³H$‘ {H$Vr Amho ?
1) X én ò 2) X/4 én ò 3) X/3 én ò 4) X/2 én ò
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5) As per PMFBY guidelines, if the threshold yield of wheat in an insurance unit is 3800 kg/ha,

while the actual yield is 1900 kg/ha., what will be the ‘claim’ for an insured farmer under basic

cover whose insured sum for that crop is X Rupees ?

1) X Rupees 2) X/4 Rupees 3) X/3 Rupees 4) X/2 Rupees

6) ^maVr¶ AW©ì¶dñWo‘Ü¶o ^maVr¶ eoVrMr ŷ{‘H$m AË¶§V ‘hÎdmMr am{hbr Amho. Vr ¶mgmR>r ...........
a) dmT>Ë¶m bmoH$g§»¶ogmR>r AÞYmÝ¶mMr VaVyX H$aUo. b) CÚmoJm§gmR>r H$ÀÀ¶m ‘mbmMm nwadR>m H$aUo.
c) H$mb~mø H¥$fr V§ÌkmZmMm dmna d) Xm[aÚ« Xÿa H$aUo
n¶m©¶r CÎmao …
1) (a), (c) Am{U (d) 2) (a), (b) Am{U (d)

3) (b), (c) Am{U (d) 4) (a), (b), (c) Am{U (d)

6) Indian agriculture has been playing the most important role in the Indian Economy i.e.,

(a) Provision of food surplus to the expanding population

(b) Providing raw materials to industries

(c) Use of outdated farming techniques

(d) Eradication of poverty

Answer Options :

(1) (a), (c) and (d) (2) (a), (b) and (d) (3) (b), (c) and (d) (4) (a), (b), (c) and (d)

7) OmoS>çm Owidm …
H«$m§Vr CËnmXZ

a) h[aV H«$m§Vr i) XyY CËnmXZ
b) Ydb H«$m§Vr ii) AÞYmÝ¶ CËnmXZ
c) {ncr H«$m§Vr iii) ‘mgo‘mar CËnmXZ
d) Zrb H«$m§Vr iv) Vob{~¶m CËnmXZ
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (ii) (i) (iv) (iii)

2) (iii) (ii) (i) (iv)

3) (iv) (iii) (iii) (i)

4) (iii) (iv) (ii) (i)

7) Match the following :

(a) Green Revolution (i) Milk Production

(b) White Revolution (ii) Food Production

(c) Yellow Revolution (iii) Fishery Production

(d) Blue Revolution (iv) Oil-seed Production

Answer Options :

(a) (b) (c) (d)

(1) (ii) (i) (iv) (iii)

(2) (iii) (ii) (i) (iv)

(3) (iv) (iii) (ii) (i)

(4) (iii) (iv) (ii) (i)
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8) .............. hr ^maVr¶ eoVrÀ¶m H$‘r CËnmXH$VoMr H$maUo AmhoV.
1)  cmoH$g§»¶oMm X~md 2) AZwËnmXH$ YmaU joÌ 3) Anwè¶m qgMZ gw{dYm 4) darc gd©

8) ............. these are the causes of low productivity of Indian agriculture.

1)  Population pressure 2) Uneconomic holdings

3) Inadequate irrigation facilities 4) All of the above

9) ^maVr¶ eoVrVrb CËnmXH$Vm àm‘w»¶mZo XmoZ ~m~tda Adb§~yZ Amho. Ë¶m åhUOo …
A) Vm§{ÌH$ KQ>H$ ~) ‘Zwî¶~i H$) g§ñWmË‘H$ KQ>H$ S>) qgMZ gw{dYm
n¶m©¶r CÎmao …
1) ’$º$ A Am{U H$ 2) ’$º$ A Am{U S> 3) ’$º$ A Am{U ~ 4) ’$º$ H$ Am{U S>

9) Productivity in Indian agriculture is mainly dependent on two sets of factors. Those are :

a. Technological Factors. b. Human Resource

c. Institutional Pastors d. Irrigation Facilities

Answer Options :

(1) Only a and c (2) Only a and d (3) Only a and b (4) Only c and d

10) H$moaS>dmhÿ joÌmV O{‘ZrVrb ..... hm ‘hÎdmMm àíZ Agë¶mZo ̂ anya à‘mUmV amgm¶{ZH$ IVm§Mm dmna H$aVm ¶oV Zmhr.
a) aMZm b) Vmn‘mZ c) Amob (nmUr) d) nmoV
n¶m©¶r CÎmao …
1) ’$º$ (a) 2) ’$º$ (c) 3) ’$º$ (a) Am{U (b) 4) ’$º$ (a) Am{U (d)

10) Chemical fertilizers on large scale cannot be used in dryland areas due to the problem of soil

(a) Structure (b) Temperature (c) Moisture (d) Texture

Answer Options :

(1) Only (a) (2) Only (c) (3) Only (a) and (b) (4) Only (a) and (d)

11) A{YH$V‘ CËnmXZ Am{U nmUr dmna j‘Vm ho Ho$di ......... Ûmao e³¶ Amho.
1) ¶mo½¶ à‘mUmV Amobmdm 2) à‘mUera VmQ>m§Mr g§»¶m
3) ¶mo½¶ à‘mUmV IVm§Mm dmna 4) darbn¡H$s gd©

11) The maximum yield and water use efficiency is possible only through optimum

(l) Level of soil moisture (2) Plant population

(3) Fertilization (4) All of the above

12) O‘rZ dmnamMr ‘yi Z¡g{J©H$ VÎdo hr AmhoV.
a) OmñVrV OmñV CËnmXH$VoMo VÎd b) g‘ gr‘m§V VÎd
c) KQ>Ë¶m gr‘m§V CËnmXH$VoMo VÎd d) H$a AmH$maUrMo VÎd
n¶m©¶r CÎmao …
1) (a), (c) Am{U (d) {dYmZo ¶mo½¶ AmhoV. 2) (a), (b) Am{U (c) {dYmZo ¶mo½¶ AmhoV.
3) (a), (b) Am{U (d) {dYmZo ¶mo½¶ AmhoV. 4) darbn¡H$s gd© {dYmZo ¶mo½¶ AmhoV.

12) The inherent natural principles of land utilization are

(a) Principle of maximization

(b) Principle of equimarginal

(c) Principle of diminishing marginal productivity

(d) Principle of taxation Answer Options :
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Answer Options :

(l) Statements (a), (c) and (d) are correct (2) Statements (a), (b) and (c) are correct

(3) Statements (a), (b) and (d) are correct (4) All the above statements are correct

13) amoZmëS> S>r. Ho$ À¶m ‘Vo, AZoH$ CËnmXZo KoÊ¶mgmR>r, ‘`m©{XV g§gmYZm§Mo dmQ>n H$éZ H$mhr {d{eï> C{Ôï>o gmÜ`
H$aÊ`mMr {ZU©̀ à{H«$`m åhUOo ..........
1) JQ> ~¡R>H$ 2) MMm© 3) eoVr CnH«$‘ 4) eoVr ì`dñWmnZ

13) As per Ronald D. Kay, ......... is the decision-making process whereby limited resources are

allocated to a number of production alternatives to organize and operate the business-in such a

way to attain some objectives.

1) group meeting 2) discussion 3) farm enterprise 4) farm management

14) ^maVmVrb ~XbË¶m ì¶mdgm{¶H$ àménmMr JaO åhUyZ ........... d¥Õr Amdí¶H$ Amho.
1) {Zìdi Z’$m 2) H$m ©̀~b gh^mJ 3) H«$`eº$s 4) H¥$fr CËnmXH$Vm

14) Increased ............... is a necessity for changing the occupational pattern in India.

1) net profit 2) work force participation

3) purchasing power 4) agricultural productivity

15) ^maVmVrb O‘rZ gwYmaUm§À`m ì`már‘Ü ò Imbrbn¡H$s H$moUVm g‘mdoe Amho?
A) ‘Ü`ñWm§Mo CƒmQ>Z ~) dmagm h¸$mZo O{‘ZrMr ‘mbH$s aÔ H$aUo
H$) ^mS>oH$ama gwYmaUm S>) O{‘Zrda H$‘mb ‘`m©Xm Am{U ‘Obo
n¶m©¶r CÎmao …
1) A, H$ Am{U S> ’$º$ 2) ~ Am{U S> ’$º$ 3) darb gd© 4) ’$º$ S>

15) The scope of land reforms in India entails which of the following ?

a) Abolition of intermediaries b) Abolition of ownership of land by inheritance

c) Tenancy reforms . d) Ceiling and floors on land holding

Answer Options :

1) a, c and d only 2) b and d only 3) All of the above 4) d only

16) H¥$fr O‘rZ Ý`m`m{YH$aUmgmR>r amÁ` gaH$ma A{YH$mar åhUyZ H$moUmMr {Z ẁº$s H$ê$ eH$Vo?
A) AZm{YH$mar ‘m‘bVXmamÀ`m XOm©nojm H$‘r Zmhr
~) Cn{d^mJr` A{YH$mè`mÀ`m XOm©nojm H$‘r Zgbobm A{YH$mar
H$) R.D.C À`m Imbr Zgbobm A{YH$mar.
S>) ’$º$ {Oëhm{YH$mar:
darbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV/AmhoV?
1) ’$º$ A 2) A qH$dm ~ ’$º$ 3) H$ qH$dm S> ’$º$ 4) S> ’$º$

16) Whom can the State Government may appoint as an officer to be the Agricultural Lands Tribunal?

a) Anofficer not below the rank of a Mamlatdar

b) An officer not below the rank of a Sub-divisional Officer

c) Anofficer not below the rank of R.D.C.

d) Collector only :

Which of the statements given above is/are correct ?

1) a only 2) a or b only 3) c or d only 4) d only
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17) ‘hmamï´> ñWm{ZH$ àm{YH$aU gXñ` AnmÌVm A{Y{Z`‘, 1986 A§VJ©V AnmÌVoÀ`m `m{MHo$da {dMma H$aÊ`mg,
gwZmdUr H$aÊ`mg Am{U Ë`mda {ZU©̀  KoÊ`mg H$moUVm àm{YH$aU gj‘ Amho?
A) {d^mJr` Am ẁº$ ~) {Oëhm{YH$mar
H$) A{V[aº$ {Oëhm{YH$mar S>) ‘hgyb ‘§Ìr
darbn¡H$s H$moUVo n`m©̀  `mo½` AmhoV/AmhoV?
1) ’$º$ A 2) A Am{U ~ ’$º$ 3) H$ ’$º$ 4) ’$º$ S>

17) Which authority is competent to entertain, hear and decide the disqualification petition under the

Maharashtra Local Authority Members’ Disqualification Act, 1986 ?

a) Divisional Commissioner b) Collector

c) Additional Collector d) Revenue Minister

Which of the options given above is/are correct ?

1) a only 2) a and b only 3) c only 4) d only

18) ‘hmamï´> O‘rZ ‘hgyb g§{hVoA§VJ©V, amÁ`mVrb O‘rZ YmaU H$aUm`m© ngm}arMo 1966 dJ© AmhoV :
A) ^moJdQ>mXma, {~Ja ^moJdQ>mXma, brO YmaH$;
~) eoVH$ar, Am{Xdmgr eoVH$ar, N.A. O‘rZYmaH$;
H$) ^moJdQ>mXma-dJ© I, ^moJdQ>mXma-dJ© II, gaH$mar nÅ>oXma;
S>) O‘rZXma Am{U ^mS>oH$ê$.
darbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV/AmhoV?
1) A Am{U ~ ’$º$ 2) ~ Am{U S> ’$º$ 3) A ’$º$ 4) H$ ’$º$

18) Under the Maharashtra Land Revenue Code, 1966 classes of persoris holding land from the State

are :

a) Occupants, Non-occupants, Lease holders;

b) Agriculturists, adivasi agriculturists, N.A. Land holders;

c) Occupants-Class I, Occupants-Class II, Government Lessees;

d) Landlords and Tenants.

Which of the statements given above is/are correct ?

1) a and b only 2) b and d only 3) a only 4) c only

19) `mo½` n`m©̀  {ZdS>m IndGAP certification Mm CÔoe Amho -
A) EH$H$ joÌmVyZ {‘idbobr JwUdÎmm Am{U à‘mU ~) à{V ẁ{ZQ> joÌ bpú`V CËnÞ
H$) Bï> XOm©À`m CËnmXZmMm emídV nwadR>m S>) ’$º$ g|{Ð` eoVr
n¶m©¶r CÎmao …
1) darb gd© 2) A Am{U H$ ’$º$ 3) ~ ’$º$ 4) ’$º$ S>

19) Choose the correct option IndGAP certification aims to address -

a) quality and quantity obtained from unit area

b) targeted yield per unit area

c) sustained supply of produce of desirable quality

d) only organic farming

Answer Options:

1) All of the above 2) a and c only 3) b only 4) d only
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20) ^maVmV 1980 Vo 1985 ¶m H$mimV bhmZ O‘rZ YmaH$Vm hmoÊ¶mMr Imbrbn¡H$r H$moUVr H$maUo hmoVr?
a) dmagm H$m¶Xm b) doJmZo dmT>Umar bmoH$g§»¶m
c) J«m‘rU H$O©~mamOranUm d) doJmZo dmT>Umar g§¶wº$ Hw$Qw>§~ ì¶dñWm
n¶m©¶r CÎmao
1) Ho$di (a) Am{U (d) 2) Ho$di (b) Am{U (c)

3) Ho$di (a), (b) Am{U (c) 4) Ho$di (b), (c) Am{U (d)

20) Which of the following were the reasons for small land holdings during 1980 to 1985 in India ?

a) Law of inheritance b) Rapidly growing population

c) Rural indebtedness d) Rapidly growing joint family system

Answer Options :

1) only (a) and (d) 2) only (b) and (c)

3) only (a), (b) and (c) 4) only (b), (c) and (d)

21) nwT>rcn¡H$s H$moUË¶m ~m~r amï´>r¶ ’$cmoËnmXZ A{^¶mZmer {ZJS>rV AmhoV.
a) eoVH$è¶m§Mm Am{W©H$ CËH$f© H$aUo. b) ‘mcmMr ¶mo½¶ gmIir {Z‘m©U H$aUo.
c) cmJdS> joÌmV dmT> H$aUo. d) {dH«$s ì¶dñWoMm {dH$mg H$aUo.
darcn¡H$s H$moUVo {dYmZ/{dYmZo ~amo~a Amho/AmhoV ?
1) (a) d (b) 2) (b) d (c) 3) (c) d (d) 4) (a) d (d)

21) Which of the following is related o National Horticulture Mission ?

a) Economic upliftment of farmers. b) Creating the right chain of goods..

c) To increase the area under cultivation d) To develop sales system

Which of the statement/statements given above is/are correct ?

1) (a) and (b) 2) (b) and (c) 3) (c) and (d) 4) (a) and (d)

2) H¥$fr nVnwadR>m, H¥$fr CÚmoJ
1) "àmXo{eH$ J«m‘rU ~±Ho$Mr' gwédmV H$Yr Pmbr hmoVr ?

1) 2 Am°³Q>mo~a, 1975 2) 2 Am°³Q>mo~a, 1976 3) 2 Am°³Q>mo~a, 1977 4) 2 Am°³Q>mo~a, 1978
1) When was the ‘Regional Rural Bank’ started ?

1) 2nd October, 1975 2) 2nd October, 1976 3) 2?‘ October, 1977 4) 2nd October, 1978

2) ‘mM© 2020 AIoa H$moUË¶m amÁ¶mV àmW{‘H$ H¥$fr nV g§ñWm§Mr g§»¶m gdm©{YH$ hmoVr?
1) H$Zm©Q>H$ 2) Vm{‘iZmSy> 3) JwOamV 4) ‘hmamï´>

2) In which state the numbe of Primaty Agricultural Credit Societies was highest at the end of March

2020 ?

1) Karnataka 2) Tamil Nadu 3) Gujarat 4) Maharashtra

3) {dH$mg {dÎmr¶ g§ñWm ñWmnZ H$aÊ¶mV Amë¶m H$maU Ë¶m ......
a) Aën ‘wXVrgmR>r {ZYr CnbãY H$ê$Z XoVmV.
b) H¥$fr Am{U ‘w»¶ joÌm§Mm {dH$mg dmT>{dÊ¶mgmR>r ‘XV H$aVmV.
c) ZmUo ~mOmamMo {Z¶‘Z H$aVmV.
d) ^m§S>db ~mOmam§Mo {Z¶‘Z H$aVmV.
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n¶m©¶r CÎmao …
1) (a) ’$º$ 2) (a) Am{U (b) 3) (b) ’$º$ 4) (d) Am{U (c)

3) Development Financial Institutions were established to

(a) provide short term funds

(b) develop industry, agriculture and other key sectors

(c) regulate the money market

(d) regulate the capital market

Answer options :

(1) Only (a) (2) (a) and (b) (3) (b) only (4) (d) and (c)

4) Imbrb {dYmZo {dMmamV ¿¶m …
a) Zm~mS>© H¥$fr joÌmÀ¶m {dH$mgmH$[aVm H$Om©Mr gmo¶ H$ê$Z XoVo.
b) Zm~mS>© J«m‘rU ì¶dgm¶m§Zm H$O©nwadR>m H$aVo.
c) Zm~mS>© ehar CÚmoJmgmR>r Am{W©H$ ‘XV H$aVo.
d) Zm~mS>© ehar {dH$mgmgmR>r Am{W©H$ ‘XV H$aVo.
darbn¡H$s H$moUVo {dYmZ/{dYmZo ~amo~a AmhoV?
1) (a) ’$º$ 2) (a) Am{U (b) 3) (a), (b) Am{U (c) 4) (a), (b) Am{U (d)

4) Consider the followin9 S›Qtements :

(a) NABARD offers loans for agricultural sector development.

(b) NABARD provides loans to rural business.

(c) NABARD makes financial loans for the urban industries.

(d) NABARD provides financial support for urban development.

Which of the above statement/s are correct ?

(1) Only (a) (2) (a) and (b) (3) (a), (b) and (c) (4) (a), (b) and (d)

5) amï´>r¶ H¥$fr d J«m‘rU {dH$mg ~±Ho$Mr (Zm~mS>©) Mr H$m¶©o :
a)$ghH$mar d àmXo{eH$ J«m‘rU ~±H$m§Zm nwZ{d©ÎmnwadR>m H$aUo.
b)$H¥$fr joÌmMm emídV {dH$mg H$aUo.
c)$J«m‘rU Amamo½¶ godm§Zm {dÎmnwadR>m H$aUo.
d)$H¥${f Am{U H$Om©g§~§Yr YmoaU R>adUo.
darcn¡H$s H$moUVo/H$moUVr {dYmZ/{dYmZo ~amo~a Amho/AmhoV ?
1) ’$º$ (a)$ 2) ’$º$ (a)$Am{U (b)$ 3) (a) ,(b)$ Am{U (c)$ 4) (a) ,(b)$,(c)$Am{U (d)$

5) Function(s) of the National Bank for Agriculture and Rural Development (NABARD) is/are :

(a) Refinance of co-operative and regional rural banks. fb) Sustainable development of

agricultural field.

(c) Financing of rural health services.

(d) To determine policy for agriculture and debt. Which of the statements given above is/are

correct ?

1) Only (a) 2) Only (a) and (b) 3) (a), (b) and (c) 4) (a), (b), (c) and (d)

6) Imbrbn¡H$s H$moUVo/Vr {dYmZ/Zo ~amo~a Amho/AmhoV ?
a) J«m‘rU {dÎm nwadR>m H$aUo ho Zm~mS>©Mo H$m¶© Amho.
b) Zm~mS>©H$Sy>Z amÁ¶ ghH$mar ~±H$m§Zm XrK© H$mbmdYrgmR>r H$O©nwadR>m Ho$bm OmVmo.



‘hmamîQ´> bmoH$godm Am¶moJmÀ¶m narjogmR>r Cn¶wº$ àíZg§J«h … AW©emó / 102

For Private Circulation Only

n¶m©¶r CÎmao …
1) (a) ~amo~a Amho 2) (b) ~amo~a Amho.
3) (a) Am{U (b) ~amo~a AmhoV. 4) darbn¡H$s H$moUVohr ~amo~a Zmhr.

6) Which of the following statements is/are correct ?

(a) Providing rural finance is the function of the NABARD.

(b) Long-term loans are provided by the NABARD to State Co-operative Banks.

Answer Options :

(I) (a) is correct (2) (b) is correct

(3) (a) and (b) are correct (4) None of above are correct

7) Imbrbn¡H$s H$moUVo Xmof gmdH$mar ì¶dñWoMo AmhoV ?
a) Cƒ ì¶mO Xa b) ~oH$m¶Xoera H$nmV
c) a{OñQ>a ‘Ü¶o ¶mo½¶ Zm|Xr d) AZwËnmXH$ hoVy§gmR>r H$O} XoUo
n¶m©¶r CÎmao …
1) Ho$di (a), (b) Am{U (c) 2) Ho$di (a), (b) Am{U (d)

3) Ho$di (b), (c) Am{U (d) 4) darbn¡H$s gd©
7) Which of the following are defects of Private Moneylending System ?

(a) High rate of interest (b) Illegal deductions

(c) Proper records in the register (d) Lends for unproductive purposes

Answer Options :

(1) Only (a), (b) and (c) (2) Only (a), (b) and (d)

(3) Only (b), (c) and (d) (4) All of the above

3) H¥$fr {H$‘Vr d {dnUZ
1) ‘hmamï´> amÁ¶ H¥$fr ~mOma ‘§S>imMr ñWmnZm ...... ‘Ü¶o Pmbr.

1) 1986 2) 1987 3) 1988 4) 1983
1) Maharashtra State Agricultural Marketing Board is established in ....

1) 1986 2) 1987 3) 1988 4) 1983

2) Am§VaamÁ`r` H¥$fr ‘mb ì`mnma `moOZ|VJ©V, AZwXmZ dmhVyH$ IMm©À`m 50% qH$dm H$‘mb é. 50,000, Imbrb
A§VamgmR>r Oo H$‘r Agob Vo:
1) 1501 Vo 2000 {H$‘r 2) {H$‘mZ 350-750 {H$‘r
3) 751 Vo 1000 {H$‘r 4) 2001 {H$‘r Am{U Ë`mhÿZ A{YH$

2) Under interstate agriculture commodities trade scheme, subsidy is 50% of transport cost

or2aximum Rs. 50,000, whichever is less for the following distance :

1) 1501 to 2000 km 2) Atleast 350-750 km

3) 751 to 1000 km 4) 2001 km and above
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3) 10 Q> o̧$ ‘yi gmIa dgwbr Xa Agboë`m gmIa H$maImÝ`mgmR>r 2022-23 À`m gmIa h§Jm‘mgmR>r CgmMr amñV Am{U
bm^Xm`H$ qH$‘V (FRP) {H$Vr Agob?
(dmhVyH$ qH$dm BVa Q>r ewëH$ dOm H$ê$ ZH$m).
1) é.2900 à{V ‘o{Q´H$ Q>Z 2) é.2973-75 à{V ‘o{Q´H$ Q>Z
3) é.3050 à{V ‘o{Q´H$ Q>Z 4) é.3126-25 à{V ‘o{Q´H$ Q>Z

3) What would be the Fair and Remunerative Price (FRP) of sugarcane for sugar season 2022-23

for a sugar factory having basic sugar recovery rate of 10 percent ?

(Do not deduct transportation or other T charges).

1) Rs.2900 per metric tonne 2) Rs.2973-75 per metric tonne

3) Rs.3050 per metric tonne 4) Rs.3126-25 per metric tonne

4) H¥$fr ‘mb Am{U H¥$fr ‘mbmMo {Z¶m©V joÌr` {d^mJ (PmoZ) Imbr XoÊ¶mV Ambo AmhoV. ¶mo½¶ OmoS>çm Owidm.
ñV§̂  I ñV§̂  II

a) Jhÿ i) ‘oh~y~ZJa (Am§Y« àXoe)
b) H$m§Xm, bgyU ii) Zmam¶Unya (n. ~§Jmb)
c) ~Q>mQ>m iii) ^monmi (‘Ü¶ àXoe)
d) Am§~m Am{U Ðmjo iv) ^mdZJa (JwOamV)
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (iii) (iv) (ii) (i)

2) (iv) (ii) (i) (iii)

3) (ii) (i) (iii) (iv)

4) (i) (iii) (iv) (ii)

4) Agricultural products and agriculture exports zones are given below. Match the

Column I  Column 11

(a) Wheat (i) Mehboobnagar (Andhra Pradesh)

(b) Onion, Lehsun (ii) Narayanpur (West Bengal)

(c) Potato (iii) Bhopal (Madhya Pradesh)

(d) Mango and Grapes (iv) Bhavnagar (Gujarat)

Answer Options :

 (a) (b) (c) (d)

(1) (iii) (iv) (ii) (i)

(2) (iv) (ii) (i) (iii)

(3) (ii) (i) (iii) (iv)

(4) (i) (iii) (iv) (ii)

5) {ZdS>H$ eoVH$s dñVy§Mr IaoXr, {dVaU, {Z¶m©V Am{U Am¶mV ...... H$aVo.
1) Zm’o$S> 2) E’$. gr. Am¶. 3) EZ.gr.S>r.gr. 4) grS>~r

5) ...... deals in procurement, distribution, export and import of selected agricultural commodities.

1) NAFED 2) FCI 3) NCDC 4) SIDBI
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6) Imbrbn¡H$s H$moUVo ‘w»` C{Ôï>o amï´>r` H¥$fr ~mOmamÀ`m g§dY©ZmgmR>r `moOZm AmhoV?
A) H¥$fr ‘mbm‘Ü ò g§nyU© ^maV ì`mnma gwb^ H$aÊ`mgmR>r.
~) J«mhH$m§Zm pñWa qH$‘Vr Am{U XO}Xma CËnmXZm§Mr CnbãYVm àmoËgmhZ XoÊ`mgmR>r.
H$) ‘mH}$qQ>J ì`dhma à{H«$`m gwì`dpñWV H$aUo Am{U Ë`m§Zm gd© ~mOmanoR>m§‘Ü ò EH$g‘mZ H$aUo,
S>) H¥$fr ~mOmamVyZ gaH$mar ‘hgwbmV dmT> H$aUo.
n¶m©¶r CÎmao …
1) ’$º$ A Am{U ~ 2) S> ’$º$ 3) A, ~ Am{U H$ ’$º$ 4) H$ Am{U S> ’$º$

6) Which of the following is/are the main objective/s of “Scheme for Promotion of National

Agriculture Market” ?

a) To facilitate Pan-India trade in Agricultural Commodities.

b) To promote stable prices and availability of quality produce to consumers.

c) To ‘streamline marketing transaction procedures and make them uniform across all markets,

d) To increase government revenue receipts from agricultural markets.

 Answer Options :

1) a and b only 2) d only 3) a, b and c only 4) c and d only

7) Zm’o$S>Mo nyU© ê$n .........
1) amï´>r¶ H¥${f ‘hmg§K 2) amï´>r¶ H¥${f ghH$mar ‘hmg§K
3) amï´>r¶ H¥${f ghH$mar {dnUZ ‘hmg§K 4) amï´>r¶ H¥${f {dnUZ ‘hmg§K

7) The full form of NAFED is

(1) National Agricultural Federation

(2) National Agricultural Cooperative Federation

(3) National Agricultural Cooperative Marketing Federation

(4) National Agricultural Marketing Federation

8) H¥${f qH$‘V YmoaUmÀ¶m ~m~VrV Imbrb {dYmZo {dMmamV ¿¶m …
H$WZ I … ""{H$‘mZ AmYma ŷV qH$‘VrMr h‘r XoD$Z CËnmXH$m§Mo g§ajU qH$dm {d‘m H$mT>Uo.''
H$WZ II … ""dmT>rÀ¶m C{Ôï>m§Zwgma {d{dY {nH$m§Mo Ano{jV CËnmXZ H$aUo.''
darbn¡H$s H$moUVo/Vr {dYmZ/Zo gË¶ Amho/AmhoV ?
n¶m©¶r CÎmao …
1) ’$º$ I gË¶ Amho 2) ’$º$ II gË¶ Amho.
3) I Am{U II XmoÝhrhr gË¶ AmhoV. 4) I Am{U I XmoÝhrhr AgË¶ AmhoV.

8) Consider the following statements in the context of agricultural price policy :

statement I : “To protect or insure the producer through guaranteed minimum support price."

statement II : ”To induce the desired outputs of different crops according to growth targets.”

Which of the above statements is/are true ?

Answer Options :

(1) Only I is true (2) Only II is true

(3) I and II both are true (4) I and II both are false
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9) Imbrb {dYmZo {dMmamV ¿¶m …
a) 14 E{àb, 2016 amoOr amï´>r¶ H¥${f ~mOma gwê$ Ho$bm.
b) J«m‘rU H¥${f ~mOmanoR>m Bbo³Q´>m°{ZH$ nÕVrZo amï´>r¶ H¥${f ~mOmamer OmoS>boë¶m AgVmV.
c) J«m‘rU H¥${f ~mOmanoR>m H¥${f CËnÞ ~mOma g{‘Ë¶m§Ûmao {Z¶§{ÌV Ho$ë¶m OmVmV.
darbn¡H$s H$moUVo/Vr {dYmZ/Zo ¶mo½¶ AmhoV ?
1) (a) Am{U (b) ~amo~a AmhoV. 2) (b) Am{U (c) ~amo~a AmhoV.
3) (a) Am{U (c) ~amo~a AmhoV 4) darbn¡H$s gd© ~amo~a AmhoV

9) Consider the following statements :

(a) National Agricultural Market was launched on 14th April, 2016.

(b) Gramin Agricultural Markets are electronically linked to National Agricultural Market.

(c) Gramin Agricultural Markets are regulated by Agricultural Produce Market Committees.

Which of the statements given above are correct ?

(1) (a) and (b) are correct (2) (b) and (c) are correct

(3) (a) and (c) are correct (4) All of the above are correct

10) {nH$ {då¶m‘Ü¶o Imbrb Hw$R>ë¶m An[ahm¶© n[apñWVrV {d‘m g§ajU àXmZ H$aÊ¶mV ¶oVo ?
a) hdm‘mZ H$maUo Ogo H$s - XþîH$mi, nya, MH«$sdmXi b) H$sQ>H$ g§gJ©
c) dZñnVr amoJ d) X§Jbr Am{U ñQ´>mBH$
n¶m©¶r CÎmao …
1) ’$º$ (a) 2) (a) Am{U (b) 3) (a), (b) Am{U (c) 4) gd©

10) In which of the following unavoidable conditions insurance cover is provided in Crop Insurance?

a) Climate Factors like - Drought, Flood, Cyclone

b) Pest infection

c) Botanical diseases

d) Riots and strikes

Answer options :

1) Only (a) 2) (a) and (b) 3) (a),(b) and (c) 4) All

11) "Oa EImÚm ‘mb‘ÎmoMr gaH$ma qH$dm ñWm{ZH$ àm{YH$aUmZo nyd©{ZYm©[aV qH$‘VrÀ`m AmYmao {dH«$s Ho$br qH$dm dmQ>n
Ho$br Agob, Va g§~§{YV ‘mb‘ÎmoMo Iao ~mOma ‘yë` ...... Amho.
1) Cº$ g§ñWm§Ûmao {ZYm©[aV Ho$bobo ‘yë`.
2) ‘w»` {Z §̀ÌH$ ‘hgyb àm{YH$aUmZo Omar Ho$boë`m Xam§À`m dm{f©H$ {ddaUmV Z‘yX Ho$bobo ‘yë`.
3) ñWm{ZH$ Mm¡H$er qH$dm ~mø nwamì`mMm AmYma KoD$Z Ë`m ‘mb‘ÎmoMo Iao ‘yë`m§H$Z.
4) darbn¡H$s H$mhrhr Zmhr

11) ‘If a property is sold or allotted by Government or a local Authority on the basis of predetermined

price, the true market value of the subject matter property is .......

1) the value determined by the said bodies.

2) the value mentioned in Annual Statement of Rates issued by Chief Controlling Revenue

Authority.

3) true valuation of that property by having recourse to local enquiry or extraneous evidence.

4) None of the above
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12) {dH$mgH$mÀ`m ‘yë`‘mnZ nÕVrMo VÎd(Vr) AmhoV/AmhoV ........
i) ‘moR>çm à‘mUmV O{‘ZrMr VwbZm H$aVm ̀ oV ZgVmZm, bhmZ B‘maVtMo ̂ yI§S> AmYma åhUyZ ñdrH$mabo OmD$ eH$VmV.
ii) ho O‘rZ Am{U nm`m ŷV gw{dYm§À`m qH$‘VtgmR>r H$nmVrÀ`m AYrZ Amho.
iii) O{‘Zr‘Ü ò ehar dmnamgmR>r Amdûm`H$ j‘Vm AgUo Amdûm`H$ Amho, ’$m‘© hmD$g, B. Á`mgmR>r ‘mJUr AgUo
Amdûm`H$ Amho.
CÎma n`m©̀  :
1) (i) Am{U (ii) ’$º$ 2) (ii) ’$º$ 3) darb gd© 4) (ii) Am{U (iii) ’$º$

12) The principle(s) of Developer’s Method of Valuation is/are ........

i) In the absence of comparables of large extent of land, instances of small building plots can be

adopted as the base.

ii) It is subject to deductions for the land and cost of infrastructure.

iii)Land must possess necessary potential for urban use, farm house, ete. for which there must be

demand.

Answer options :

1) (i) and (ii) only 2) (ii) only 3) All of the above 4) (ii) and (iii) only

13) gamgar dm{f©H$ Xam§À`m CÔoemZo, ‘mb‘Îmm ................ ‘Ü ò {d^mJë`m OmD$ eH$VmV.
1) JQ>, Cn-JQ> qH$dm dJ© 2) Vhgrbdma 3) ñWm{ZH$ g§ñWm{Zhm` 4) darbn¡H$s H$mhrhr Zmhr

13) For the purpose of average annual rates, properties may be divided in ................

1) Groups, sub-groups or classes 2) Tahsil-wise

3) Local body-wise 4) None of the above

14) {Zìdi dm{f©H$ ñWmda ‘mb‘ÎmoV Jw§Vdboë`m ^m§S>dbmgmR>r Xò  (Jw§VdUwH$sda naVmdm) ..................... Amho.
1) dV©‘mZ ‘yë` 2) ^m§S>dbr ‘yë` 3) qgqH$J ’§$S> 4) dm{f©H$s

14) Net Annual. Payment (Return on Investment) for the capital invested in an immovable property

is..................

1) Present value 2) Capital value 3) Sinking fund 4) Annuity

15) {d{Z{X©ï> H$mbmdYrgmR>r {d{Z{X©ï> naVmì`mÀ`m XamZo dm{f©H$ CËnÞ é. 1 àmá H$aÊ`mgmR>r, EH$Xm Am{U H$m¶‘Mo ^amdo
bmJUmao ^m§S>dbr ‘yë` åhUOo .......
1) qgqH$J ’§$S> 2) dfmªMr IaoXr 3) dm{f©H$s 4) ~mOma ‘yë`.

15) Capitalised value required to be paid once and for all, in order to receive annual income of Rs. 1

for specified period of time at specified rate of return is ..........

1) Sinking fund 2) Years purchase 3) Annuity 4) Market value .

16) ........ À`m ‘yë`m§H$ZmÀ`m ~m~VrV O‘rZ ‘yë` àË`mdV©ZmV bmJy Amho
1) Ho$di R>am{dH$ H$mbmdYrgmR>r ‘mb‘Îmm ^mS>çmZo {Xbr.
2) Ho$di H$m`‘ñdê$nr ‘mb‘Îmm ^mS>çmZo {Xbr.
3) (1) Am{U (2) XmoÝhrgmR>r
4) (1) Am{U (2) n¡H$s Zmhr

16) The "land value in reversion" is applicable in case of the valuation of

1) rented out property for a fixed period only. 2) rented out property in perpetuity only.

3) For both (1) and (2) 4) None of (1) and (2)
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17) dmT>rÀ`m ‘yë`mMm A§XmO bmdVmZm ......
1) ’$º$ PmS>o, {nHo$ Am{U {d{hatMo ‘yë` {dMmamV KoVbo OmB©b.
2) Aem ŷI§S>mda C^maÊ`mV Amboë`m B‘maVr qH$dm BVa ~m§YH$m‘m§Mo ‘yë` qH$dm C^maUr H$aVmZm {dMmamV KoVbo

OmUma Zmhr.
3) ’$º$ Hw§$nU Am{U H§$nmD$§S> q^VrMo ‘yë` {dMmamV KoVbo OmB©b.
4) darbn¡H$s EH$

17) In estimating the value of Increment ......

1) The value of only trees, crops and wells shall be taken into consideration.

2) The value of buildings or other works erected or in the course e of erection on such plot shall

not be taken into consideration.

3) The value of only fencing and compound wall shall be taken into consideration.

4) None of the above

18) Cnm§Ë` ‘yë`mMr ì`m»`m Imbrbà‘mUo Amho:
1) `mMm AW© ‘yi ßbm°Q>Mo ‘yë` åhUOo `moOZm nyU© Pmbr Amho Ago J¥hrV Yê$Z `moOZo‘Ü ò {dMmamV KoVboë`m

gwYmaUm§À`m g§X^m©V.
2) `mMm AW© `moOZo‘Ü ò {dMma H$aÊ`mV Amboë`m H$moUË`mhr gwYmaUm§Mm g§X ©̂ Z KoVm A§{V‘ ßbm°Q>Mo ‘yë`.
3) `mMm AW© A§{V‘ ßbm°Q>À`m gr‘m ~Xbm§‘wio Pmboë`m gwYmaUm§ì`{V[aº$ `moOZo‘Ü ò {dMmamV KoVboë`m H$moUË`mhr

gwYmaUm§Mm g§X ©̂ Z KoVm Ë`mMo ‘yë`.
4) darbn¡H$s H$mhrhr Zmhr

18) The definition of semi-final value is the following:

1) It means the value of the original plot with reference to the improvements contemplated in

the scheme on the assumption that the scheme has been completed.

2) It means the value of the final plot without reference to any improvements contemplated in

the scheme.

3) It means the value of final plot without reference to any improvements ee contemplated in the

scheme other than improvements due to alterations of its boundaries.

4) None of the above

4) ghH$ma d J«m_rU {dH$mg
1) "amï´>r¶ {dH$mg ‘§S>imH$Sy>Z' ^maVmVrb ghH$mar MidirMm AmT>mdm H$Yr KoÊ¶mV Ambm ?

1) 1951 2) 1948 3) 1955 4) 1958
1) When was the report of Co-operative Movement in India taken by ‘National Development

Council’?

(1) 1951 (2) 1948 (3) 1955 (4) 1958 .

2) ............ ghH$mamVrb gwYmaUm gwM{dÊ¶mgmR>r {Z¶wº$ H$aÊ¶mV Ambobr ZìhVr.
1) Eg. Eg. ‘amR>o g{‘Vr 2) S>m°. {dO¶ Ho$iH$a g{‘Vr
3) Ho$. ‘mYd amd g{‘Vr 4) d¡ÚZmW g{‘Vr
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2) ................... was not appointed for recommendations in co-operatives.

(1) S.S. Marathe Committee (2) Dr. Vijay Kelkar Committee

(3) K. Madhava Rao Committee (4) Vaidyanathan Committee

3) "ghH$mamMr VÎdo Am{U H$m¶Xm' ¶m nwñVH$mV ghH$mamMr ì¶m»¶m H$moUr ‘m§S>br Amho ?
1) lr. ìhr. Eb. ‘ohVm 2) àmo. nm°b b°å~Q>© 3) EM. H$ëìhQ>© 4) aoPm°g gr. pìhZr

3) Who stated the definition of Co-operation in the book °The Law and Principles of Co-operation’?

(1) Shri V.L. Mehta (2) Prof. Paul Lambert

(3) H. Calvert (4) Rezos C. Viny

4) Imbrb {dYmZo {dMmamV ¿¶m …
a) ‘hmamï´> amÁ¶ ghH$mar ~±H$ {b. hr amÁ¶mV {eIa ghH$mar ~±H$ Amho.
b) amÁ¶m‘Ü¶o 31 {Oëhm ‘Ü¶dVu ghH$mar ~±H$ Amho.
c) amÁ¶m‘Ü¶o ghH$mar ~±H$m gm‘m{OH$-Am{W©H$ {dH$mg Am{U gm‘m{OH$ EH$mpË‘H$Vo‘Ü¶o ‘w»¶ ŷ{‘H$m ~OmdV AmhoV.
darbn¡H$s H$moUVo/H$moUVr {dYmZ/Zo ~amo~a Amho/AmhoV ?
1) ’$º$ (a) Am{U (b) 2) ’$º$ (b) Am{U (c) 3) (a), (b) Am{U (c) 4) ’$º$ (c)

4) Consider the following statements :

(a) Maharashtra State Co-operative Bank Ltd. is the Apex Co-operative Bank of the State.

(b) There are 31 District Central Co-operative Banks in the State.

(c) These Co-operative Banks are playing a vital role in socio-economic development and social

integrity in the State.

Which of the statements given above is/are correct ?

(1) Only (a) and (b) (2) Only (b) and (c) (3) (a), (b) and (c) (4) Only (c)

5) J«m‘rU g‘mOemókm§À`m g{‘VrZo eoVr nÕVtMm Adb§~ H$aÊ`mgmR>r nmM-Q>ßß`mMo ‘m°S>ob gwMdbo - H«$‘e… Vo
Imbrbà‘mUo Amho:
1) ñdmañ` → OmJê$H$Vm → ‘yë`m§H$Z → MmMUr → XÎmH$
2) OmJê$H$Vm → ñdmañ` → ‘yë`m§H$Z → MmMUr → XÎmH$
3) {Z`moOZ → OmJê$H$Vm → ‘yë`‘mnZ → XÎmH$
4) ‘yë`‘mnZ → {Z`moOZ → MmMUr → XÎmH$

5) A committee of Rural Sociologists suggested a five-stage model in farm practices adoption —

sequentially it follows as below : .

1) Interest → Awareness → Evaluation → Trial → Adoption

2) Awareness → Interest → Evaluation → Trial → Adoption

3) Planning → Awareness → Evaluation → Adoption

4) Evaluation → Planning → Trial → Adoption

6) "J«m‘rU g‘mOemó' Mm OÝ‘ Pmbm..........
1) e¡j{UH$ g§ñWm§À`m JaOo‘wio 2) J«m‘rU ^mJmVrb g‘ñ`m§Mm n[aUm‘ åhUyZ
3) gaH$maÀ`m YmoaUmË‘H$ {ZU©̀ m§‘wio 4) J«m‘rU ^mJmV CÎm‘ XiUdiUm‘wio

6) The birth of ‘Rural Sociology’ stemmed ..........

1) due to need of educational institutes 2) as a result of the rural problems in the field

3) due to policy decisions of the government 4) due to better communication in rural areas
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7) {dñVma H$m ©̀H«$‘ {Z`moOZmMr n{hbr nm`ar H$moUVr?
1) nwZ{d©Mma 2) g‘ñ`m AmoiIm 3) n[apñWVrMo {díbofU H$am 4) VÏ`m§Mo g§H$bZ

7) Which is the first step in extension programme planning ?

1) Reconsideration 2) Identify problems 3) Analyse situation 4) Collection of facts

8) {dñVma àemgZmVrb Imbrbn¡H$s H$moUVo VÎd "ñHo$ba à{H«$`m' åhUyZhr AmoiIbo OmVo?
1) nXmZwH«$‘mMo VÎd 2) àm{YH$aUmMo VÎd
3) {Z §̀ÌU H$mbmdYrMo VÎd 4) g§KQ>ZmË‘H$ g§aMZoMo VÎd

8) Which of the following principles in extension administration is also known as ‘Scalar Process’?

1) Principle of Hierarchy 2) Principle of Authority

3) Principle of Span of Control 4) Principle of Organisational Structure

______
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(9) bmoH$g§»`m - g§»¶mË‘H$ Am{U
JwUmË‘H$ d¡{eîQ>ço

1) cmoH$g§»`m OZJUZm

1-2

2) bmoH$g§»¶oMr g§»¶mË‘H$$d¡{eîQ>ço - AmH$S>odmar,

d¥ÕrXa, KZVm

1-1 2-4 3-3 4-4 5-3 6-3
7-2

3) bmoH$g§»¶oMr JwUmË‘H$ d¡{eîQ>ço - ór-nwéf

qcJJwUmoÎma, gmjaVm, OÝ‘Xa d ‘¥Ë¶yXa

1-2 2-2 3-2 4-4 5-1 6-2

4) ñWbm§Va - ZmJar cmoH$g§»`m d eharH$aU

1-3 2-3 3-3

(10) bmoH$g§»`m MH«$, bmoH$g§»`m YmoaU

1) bmoH$g§»¶m MH«$ - g§H«$‘U {gÕm§V

1-3 2-2 3-4

2) cmoH$g§»`m YmoaU

1-2 2-3 3-4 4-4 5-1

3) Hw$Qw>§~ H$ë¶mU

1-1

(11) Am{W©H$ Am{U {dÎmr` YmoaU -
gmd©O{ZH$ {dÎm, ‘hgyb, F$U,$ IM©,

AW©g§H$ën, boIm d boImnarjU

1) {dÎmr¶ YmoaU - ‘hgwcmMo gmYZ - Q>°³g, Zm°ZQ>°³g /

H$aoVa ‘hgyb

1-4 2-3 3-4 4-4 5-3 6-1
7-2 8-3 9-1 10-1 11-2

2) H$aàUmbr - OrEgQ>r, {dH«$sH$a, BË`mXr¨er g§~§{YV

H$m¶Xo/{Z¶‘

1-2 2-2 3-1 4-3 5-2 6-4
7-3 8-1

3) H$agwYmaUm g{‘Ë¶m - amÁ¶ nmVirdarc H$agwYmaUm

1-1 2-1 3-4 4-3 5-1

4) ̂ maVmVrc H|$Ð d amÁ¶mVrc gmd©O{ZH$ F$U - aMZm

Am{U ̂ ma

1-4 2-4 3-1

5) {dÎm Am¶moJ

1-4 2-2 3-1

6) H|$Ð d amÁ¶mMr gmd©O{ZH$ IM© dmT>, gmd©O{ZH$ IM©

gwYmaUm

1-4 2-2 3-2 4-3 5-4 6-3
7-1

7) ̂ maVmVrc amOH$mofr¶ gwYmaUm - H|$Ð d

amÁ¶ñVamdarc AmT>mdm

1-4 2-2 3-4 4-2 5-3 6-2

‘hmamîQ́> bmoH$godm Am¶moJmÀ¶m narjogmR>r Cn¶wº$ àíZg§J«h

Am{W©H$ Am{U gm‘m{OH$ {dH$mg
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8) AW©g§H$ën - àH$ma, H$m‘mda AmYm[aV AW©g§H$ën,

eyÝ¶mYm[aV AW©g§H$ën

1-3 2-2 3-3 4-2 5-3 6-4
7-2 8-3 9-2 10-3 11-3 12-1

9) amOH$mofr¶ VyQ> - g§H$ënZm, VwQ>rMo {Z¶§ÌU, H|$Ð, amÁ¶

d [aPìh© ~±Ho$Mo CnH«$‘

1-2 2-1 3-3 4-3 5-1

10) boIm Am{U boImnarjU

1-2 2-3

(12) ^maVmMm {dXoer ì`mnma - AmH$ma‘mZ,

{Xem Am{U aMZm, Am§Vaamḯ>r` ^m§S>db

1) g§H$ënZm -ì`dhmaVmoc, ì`mnmaeof d {dXoer McZ gmR>m

1-1 2-2 3-1 4-1 5-2 6-4
7-4

2) OmJ{VH$ ì`mnma g§KQ>Zm - VaVwXr, gwYmaUm Am{U

^maVr¶ AW©ì¶dñWodarc Ano{jV n[aUm‘, àíZ d g‘ñ¶m

1-3 2-3 3-3 4-2 5-2 6-4
7-2 8-3 9-4 10-2 11-2 12-4
13-4 14-4 15-1 16-1 17-4 18-4
19-2 20-2 21-2

3) ^maVmÀ¶m Am§Vaamḯ>r¶ ì¶mnmamMr {Xem,
AmH$ma‘mZ> d aMZm

1-2 2-1 3-2 4-3 5-1 6-1
7-1 8-4 9-3 10-4 11-3

4) ̂ maVr¶ Am§Vaamḯ>r¶ ì¶mnmamMo YmoaU

1-3 2-1 3-4

5) naH$s` Jw§VdUyH$ - Am§Vaamï´>r¶ ì¶mnma {dXoer

^m§S>dcmMm A§Vàdmh, aMZm d dmT>

1-1 2-1 3-3 4-3 5-1 6-2
7-2

6) ~hþAm§Vaamḯ>r¶ ̂ m§S>dc nwa{dUmè¶m g§ñWm - Am¶E‘E’$,

OmJ{VH$ ~±H$, B§Q>aZ°eZc H«o$S>rQ> aoQ>tJ

1-2 2-1 3-1 4-4 5-2

(13) ~±qH$J- MbZ nwadR>m, H«o${S>Q> Am{U

‘m°{ZQ>ar nm°{bgr

1) _Ü`dVu ~±H - [aPìh© ~±H

1-1 2-3

2) ‘m¡{ÐH$ YmoaU d nV{Z¶§ÌUmMr gmYZo - MbZ nwadR>m

1-1 2-3 3-2 4-3 5-4

3) ~±H$ àUmbr, àH$ma, ~±H$m§Mo amï´>r`rH$aU

1-3 2-4 3-3

4) H$O©/nVnwadR>çmMr aMZm, ~±qH$J joÌmVrc gwYmaUm

1-3 2-4 3-2 4-3 5-3 6-4

5) ^m§S>db~mOma, go~r d {d‘mjoÌ
1-3 2-2 3-3 4-2 5-4 6-3
7-4 8-1 9-1 10-1 11-3 12-3
13-3 14-4 15-3 16-3 17-1 18-3
19-1 20-4 21-3 22-4 23-1 24-1

25-3 26-4 27-3 28-2 29-3

(14) ^maVr` CÚmoJ, nm`m ŷV gw{dYm

Am{U godm joÌ

1) ̂ maVr¶ CÚmoJ - OS> d ‘moR>o CÚmoJ, gmd©O{ZH$ CnH«$‘

1-1 2-2 3-3 4-3 5-2
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2) E‘EgE‘B© - cKwCÚmoJ, Am¡Úmo{JH$ g‘yh {dH$mg (³bñQ>a)

1-4 2-4 3-2 4-3 5-3 6-3

3) Am¡Úmo{JH$ YmoaU - ̂ maVmVrb Am¡Úmo{JH$ YmoaU,

‘hmamḯ>mMo Am¡Úmo{JH$ YmoaU

1-2 2-2 3-2 4-1 5-4 6-4

4) CÚmoJm§gmR>rMo {dÎmr¶ ghmæ¶ d YmoaU

1-1 2-3 3-1

5) CÚmoJ{df¶H$ A{Y{Z¶‘ d H$m¶Xo

1-2 2-2 3-1 4-2 5-2 6-3
7-1 8-3 9-1 10-2 11-3 12-3
13-1 14-1 15-1 16-1

6) CÚmoJmer g§~§{YV {d{dY ‘hm‘§Sio

1-4 2-2 3-3 4-3 5-3 6-1
7-1

7) {deof Am{W©H$ joÌ A{Y{Z¶‘

1-2 2-1 3-3

8) CÚmoJm§Mo nwZd©gZ YmoaU

1-3 2-2 3-3 4-4 5-2 6-3

9) CÚmoOH$Vm {dH$mg d amoOJma {Z{‘©Vr - ñWm{ZH$

bmoH$m§Zm amoOJma àmYmÝ¶

1-4 2-3 3-4 4-3

10) CÚmoJ, {dnUZ ì¶dñWmnZ, Vmio~§X Ahdmb, àH$ën

Ahdmb d Am{W©H$ {díbofU

1-4 2-2

nm¶m ŷV gw{dYm {dH$mg

1) J«m‘rU d ehar ^mJmVrc n[adhZ (añVo, ~§Xa, BË¶mXr)

d J¥h{Z‘m©U

1-4 2-2 3-4 4-4 5-4 6-4
7-3 8-2 9-4 10-3 11-3 12-2
13-3

2) D$Om©, nmUrnwadR>m d ‘c{ZñgmaU, XiUdiU,

ao{S>Amo, Q>rìhr, B§Q>aZoQ> H«$m¶{gg

1-2 2-3 3-2 4-3 5-3 6-3
7-4 8-4 9-1 10-4

3) ImOJr-gmd©O{ZH$ joÌmVrc ̂ mJrXmar, E’$S>rAm¶ d

BÝ’«$mñQ´>³Ma S>oìhcn‘|Q>,BÝ’«$mñQ´>³MaMo ImOJrH$aU

1-3

4) amÁ¶ d H|$Ð gaH$maMo BÝ’«$mñQ´>³Ma {dH$mgmMo YmoaU,

gm‘m{OH$ d Am{W©H$ nm¶m ŷV gw{dYm§Mm {dH$mg Am{U dmT>

1-2 2-2

(15) H¥$fr Am{U J«m‘rU {dH$mg - ghH$ma joÌ

1) eoVr CËnmXZ d CËnmXH$Vm
1-3 2-1 3-3 4-3 5-4 6-2
7-1 8-4 9-1 10-2 11-4 12-2
13-4 14-4 15-1 16-1 17-2 18-4
19-2 20-3 21-1

2) H¥$fr nVnwadR>m, H¥$fr CÚmoJ

1-1 2-4 3-3 4-2 5-4 6-2
7-2

3) H¥$fr {H$‘Vr d {dnUZ

1-1 2-1 3-2 4-1 5-1 6-3
7-3 8-3 9-1 10-4 11-1 12-3
13-1 14-4 15-2 16-1 17-2 18-3

4) ghH$ma d J«m_rU {dH$mg

1-4 2-2 3-3 4-3 5-2 6-2
7-4 8-1


